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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y TSEE»AC - anT=eY3T3Y 126313 -03Y 01 u=AY¢ 01

EUKC 01 136G 1A= -AvfiC - Tal N2 w30 121 (3 TT20a00V»AC T»AT=Va0Y AT
IBEe»AC TV -Cr3T3Y 1363T3h- 037 N4 T2 1V»i¢

D‘? »iI3IN1
20i466=T N 01-01-01

20lae=T 01-01-01

Sl ATa0l ASH T7= - fofiC

PP 2%-3(CY Ad0arC
SRESTIT3UC
A= - 2U2T4AVAC

PP 1»A=NeTCE A3E=7C
a=la=val

 anTSacH GRESVAABY, &y irSTSY 13637303y
RSYAS&»TST3Y ~ T3ASTISY T363 13703 USAUCYY»Ac

. DI 23NA3VYA(
asfa=vail asNasya
AY130»YA
S 136C = Afaol Aew =i ATao0 Aew =k ATao0 A
PALT=0C 3Vi3YasUA - 40U=fA T=T3/a0Y»AC T3 13na0V»AC T3 1370V »AC
(N3%3h o= o= ; =
1H=0Y»far) i - < - i >

= 3 = o = n 8 = -

< > < s < ;= o = ARy 0o

2 & 2 < A 0o no o - e -

> " > pry > A - \= s 0 'a

4 . 4 = 0 0o o 0 G g

d & d 0 d D N e X N R

> N > = > = U] = N e b

< 2 < < ] =5 28 a1

a
a
1 2 3 4 5 6 7 8 9 10

AU _2g°UA 12Eé°s 21,427,495.1] 4,194,149.3 4,194,149.3] 899,647.4 899,647.4] 10,801,033.2| 3,856,147.5| 1,710,423.7| 454,580.7| 487,610.4
3 A4l
AUAZ0ET 12E6°5 21,067,495.1| 4,194,149.3 4,194,149.3] 899,647.4 899,647.4| 10,801,033.2| 3,856,147.5| 1,710,423.7| 454,580.7| 487,610.4
3 A4l
2pE=72Ugk 12802T6a0AUa0U 14,110,337.1| 3,017,921.5 3,017,921.5| 768,865.4 768,865.4| 7,040,468.7| 1,570,615.4| 1,007,133.5| 390,171.2| 425,982.9
3 A4l
_A=UAT 1x3n140 SRES 13130000 N2 1262 1X30Y»A 14,110,337.1| 3,017,921.5 3,017,921.5| 768,865.4 768,865.4| 7,040,468.7| 1,570,6154| 1,007,133.5| 390,171.2| 425,982.9
3 ATasl
- 2RE3TA0V»AC SRESTSTI0»N NS 1»E3 1x3AY»A 13,335,833.1] 2,938,180.4 2,938,180.4| 712,048.1 712,048.1| 6,585,273.8| 1,517,682.8] 953,553.9| 358,697.8| 394,341.4
- &30 3 TnalV»A, 1n303T3Y EASEAiea0UY»n ~ N1 asl 35,413.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»A
- 303036C3T3Y, 137 3T3Y ~ a1 313Y 3 739,091.0 79,741.1 79,7411 56,817.3 56,817.3 455,194.9 52,932.6 53,579.6| 31,4734 31,6415
1=6=1a0Y»fiC &=A- =14l
12620a0A0a000°8L ©1 24520g0°8k 4,514,233.3| 1,027,268.0 1,027,268.0] 130,606.0 130,606.0| 2,792,239.5| 1,722,153.7| 651,490.2| 34,097.6] 315355
Ocep” ©5200
3 A4l
P3RAYSTST3Y 13Ee»N 1,074,434.1| 167,327.2 167,327.2| 38,1282 38,128.2 729,428.6| 216,0834| 303,490.9| 19,4586 15,160.0
3 ATasl
- WY»ii-»wCT 1363[a0AasyY»h 516,359.8 91,902.8 91,902.8| 11,7319 1,731.9 371,844.2| 1231141| 133,044.7| 10,7261 7,479.3
- TaUasy3f 1363lachlany Vi 26,9452 11,240.0 11,240.0 200.0 200.0 14,595.4 6,692.3 5776.2 175.5 180.2
- T340 1=63ahanyY»n 436,640.2 59,864.4 59,864.4| 8,7203 8,720.3 288,738.1 52,431.8| 160,720.0] 7,637.0] 7,1805
-233[ai=-A=T3Y 12Eé»h 18,610.0 4,320.0 4,320.0 640.0 640.0 9,870.0 2,680.0 3,950.0 320.0 320.0




88

20la66=T 01-01-01

1 2 3 4 5 6 7 8 9 10
- q&8l0C T SRS TanaiUY»AC T30 13ta0Ala0Y 75,878.9 0.0 0.0 26,836.0 26,836.0 44,380.9 31,165.2 0.0 600.0 0.0
an1a00a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 1,302,129.4( 350,000.0 350,000.0 55,690.6 55,690.6 745,575.7 627,464.0 48,000.0 2,257.2 2,529.6
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 802,844.3 247,856.0 247,856.0| 12,085.8 12,085.8 418,558.5 264,123.5 135,850.0 800.0 2,550.0
31 Afasu
- P33 T3Y 13¢3aiAasYY»i 13,781.2 6,000.0 6,000.0 0.0 0.0 5,000.0 1,000.0 4,000.0 0.0 0.0
- B3U3T30-43(CY 1363a0AlaYY»h 74,516.8 15,000.0 15,000.0 1,967.8 1,967.8 24,482.0 1,944.0 12,800.0 300.0 950.0
- DO ISTT313Y 1363(aAla0YY»ii 72,439.2 31,856.0 31,856.0 4,250.0 4,250.0 31,330.5 11,239.5 15,550.0 200.0 1,000.0
- T3ES T35SIV 13¢3aNasYY»h 3,948.0 0.0 0.0 3,948.0 3,948.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY eYY1C 13¢3atAladyY»fh 2,000.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0
- U»AlI3[3064065313Y I13Eé»h 628,190.5 195,000.0 195,000.0 1,500.0 1,500.0 354,440.0 247,940.0 103,500.0 300.0 300.0
- AYIN3YAGA pYadlAC 3 1=3é63(a0Ala0Y Y»ii 7,968.6 0.0 0.0 420.0 420.0 1,306.0 0.0 0.0 0.0 300.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 2,773.3 0.0 0.0 0.0 0.0 2,647.3 0.0 0.0 0.0 200.0
31 Afasu
- @3EY3-CW 3I3Y 13¢3aiAlasYY»i 2,773.3 0.0 0.0 0.0 0.0 2,647.3 0.0 0.0 0.0 200.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 531,585.3 32,000.0 32,000.0 4,024.0 4,024.0 468,498.4 437,329.2 12,740.7 2,400.0 1,196.0
YlaoA»fi)
31 Afasu
- b»YO»AC " T3¢€al0Y»AC AYA=6CT Yana-ail ~ A=3Na3Yail 23,000.0 12,000.0 12,000.0 0.0 0.0 11,000.0 10,000.0 1,000.0 0.0 0.0
- D»U»Y3Y»AC " 6303 TanasUY»AC AYAS6CT Yana-aiu = 508,585.3 20,000.0 20,000.0 4,024.0 4,024.0 457,498.4 427,329.2 11,740.7 2,400.0 1,196.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 800,466.9 230,084.8 230,084.8| 20,677.4 20,677.4 427,531.0 177,153.6 151,408.6 9,181.8 9,899.9
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 143,691.1 42,795.0 42,795.0 3,430.4 3,430.4 68,409.6 29,422.4 26,100.0 1,569.8 883.4
- Ma0=3TY T »E3T3Y SAA3YUY»i 8,319.5 5,653.0 5,653.0 0.0 0.0 2,666.5 2,666.5 0.0 0.0 0.0
- TA3Y8AART3(CY YlaiA»h 561,873.5 123,958.4 123,958.4( 15,200.0 15,200.0 331,388.7 122,962.4 125,308.6 7,412.0 8,812.0
- I»Y6303{CY " N3YA3ICY 8YYLC YIAlA»i 48,249.0 19,344.6 19,344.6 2,047.0 2,047.0 25,066.2 22,102.3 0.0 200.0 204.5
- B3TAT YAST3I3(CY 3[ YiaA»i 38,333.8 38,333.8 38,333.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ab” ek, £E20°8 328,756.5 0.0 0.0 0.0 0.0 328,756.5 328,756.5 0.0 0.0 0.0
31 Afasu
éé\é[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 328,756.5 0.0 0.0 0.0 0.0 328,756.5 328,756.5 0.0 0.0 0.0
31 Afasu
- ééf]pé(;lQE‘Y»ﬁ 44 yCY3YE3T3Y &»T313Y 328,756.5 0.0 0.0 0.0 0.0 328,756.5 328,756.5 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&69006 1,296,261.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
. ﬁ3~U3B‘:(éﬁNY>)ﬁ UCe3%-=3CY T3 T»NAaiAAsYY»ACY 4,551.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
-AYA3OC| 1A3U3RYAANY»A UCe3Y- 3(CY 4,551.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YNSTI31C 3F 1,291,709.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSAT=TY»CY
31 Afasu
- AYA369T’1ﬁ3U3BYéﬁNY»ﬁ AT3I3Y I3E313003Y 3,200.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N3TT3ICY
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20lae=T 01-01-01

1 2 3 4 6 7 8 9 10
“AVASOCT Ba0HT»Y00=Voh NSUSNOY»AGY 1,073,801.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2EAVAS6CT Tn3USRYARNY > 214,7075 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=2étuos 21 1°Ué2Aab2T1U°s 444,500.0 94,500.0 94,500.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 1Y Sin =R=ln aA=Up 444,500.0|  94,500.0 94,500.0 0.0 00|  350,000.0 0.0 0.0| 30,0000| 30,000.0
Ya3ewY»fi (uléoc»Co)
31 Atadu
- 2f YAZE T Y»A piaic»Co 444,500.0 94,500.0 94,500.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0 30,000.0
2UE ~‘| ZEéoé 373,407.2 54,459.8 54,459.8 176.0 176.0 289,568.5 234,621.9 51,800.0 311.9 92.0
31 Atadu
DERI»N, AR SICR Tx2AT»n -~ T alkoR, ARaT0 ‘ 17,8223 44598 44508[  176.0 1760[ 11,4765  66219|  18000| 3119 92.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éT14aiu
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 355,584.9 50,000.0 50,000.0 0.0 0.0 278,092.0 228,000.0 50,000.0 0.0 0.0
32 uEU=062120 2TTA1U°SE 1121 12E6°8 360,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgapszU ofkxa0U°d 360,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoé °7 pEUasAVasuUCH 295,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC ~ RCYABAIASYY»1G RCY SNSNATAADY 45,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TB>YUnAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 250,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q‘Oﬂf’UZ‘UOé o7 é23g21adaigued 60,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 83A0=314R4UY»A 60,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3 - I3N»T3%AT313Y I3Eé»i 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NAa1T2TAT pasc» W 2ICY T2Ee»AC -aR126Y2T3Y 1263137 -U3Y 01 u=AYC 01

EUUC 01 126G TA=-fxAC - TaT N2 =T =1 (=W T=6a00Y»AC T»AT=YaUY Aew

TSE6»AC WY I »83-Cr3T3Y 1363137 U3Y (a1 T2 TV»AC

20lae=T 01-01-01

PATT=1C =Y i=YaslA

S ATa0l ASH 17= - fofiG

TanT=1GA CREZYATAIRY, &» W 3T3Y T262T31U=Y (YA &»ST3Y 7 v Si= =gy
T=6=T30=Y USAUCYY»A¢ a=Na=Yaiu

TaRT=1Ch CRE=YasARY,
T3T3Y T36313AU3Y
NBYASA»T3T3Y " 3= 1u3cY
26272102V USAUCYY»fiC
a=la=val (YSE2ASAV»AC
SRESTITSU»AC US64T)

22 Afal AST
T=7=2ha0Y»AC

\m

2 Afal As
T=T2R80V»AC

@
e i
o : . .
> S > > > > > > 0 > = <5

gh | st ] gl | of | < | 2L | ot = | #rzE| 33

2 g0 20 a0 R 30 S g0 < SL0% 7

M lm D ‘O 'm m ' 0 ' > - Q 'm :f 'm \>/: =i o ;g 025 ;g

2 'a 105): ‘A & A 5 A S A 8 'a NN ‘A ) ,(?; m0mn 00') 0l

78| L4 | 88 | S4 | 28 | o4 | ws | L4 [ T |iyer| Lif

87: érc i 8& = 8& (érc 8& z = 0y 1*?31”

a
11 12 13 14 15 16 17 18 19 20 21

AU)ZQOUA 12E68°58 500,685.3| 685,291.8| 577,989.3| 527,277.2 592,834.7| 522,776.3| 378,591.6| 506,824.7| 1,771,780.0 96,336.5| 92,829.0
=1 Afasl
AUA20ET 12Eé°d 500,685.3| 685,291.8| 577,989.3| 527,277.2 592,834.7| 522,776.3| 378,591.6| 506,824.7| 1,771,780.0 96,336.5| 92,829.0
=1 Afasl
2pE2T2Ugk 12802T10a0A0asU 434,217.0( 610,325.0( 499,918.8| 443,021.8| 513,078.4| 440,829.6( 314,110.0( 391,065.1| 1,384,394.8 78,770.2| 81,647.7
=1 Afasl
_A3Ual 1x3A140 SREST3T3A0»A " NS T»E3 1x3AY»A 434,217.0( 610,325.0( 499,918.8| 443,021.8| 513,078.4| 440,829.6( 314,110.0( 391,065.1| 1,384,394.8 78,770.2| 81,647.7
=1 Afasl
- ZBE3'I'é0Y»ﬁC SREST3T3A0»A " NS T»E3B Tx3AY»f 399,937.7| 562,475.5( 459,772.4| 408,596.4| 472,200.2| 406,772.1| 290,477.7| 360,765.9| 1,348,981.8 78,770.2| 81,647.7
- 431 - 3TRAIUY»A, IRASUST3Y ERSEA&ICAUY»A " N3 Tal 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35,413.0 0.0 0.0
Tx3AY»A
- Z3O3U36C3T3Y, 1Y 3I3Y T AT 3I13Y 3 34,279.3 47,849.5 40,146.4 34,425.4( 40,878.2 34,057.5 23,632.3| 30,299.2 0.0 0.0 0.0
[363140V»AC &3-S 1al
jZéZUéﬁAUéﬁ)UUOBE o7 2582U0gU°dkE 36,005.9 44,713.1 47,840.8 53,790.3 49,348.3 51,631.0 34,197.6] 35,4355 372,370.5 12,970.4| 11,126.3
OPeg” Coadd
=1 Afasl
P3RASYST3T3Y I3Eé»i 19,835.0 19,017.4 21,848.5 35,349.3 28,854.4 20,183.1 14,973.3 15,174.7 64,646.3 3,327.8 3,241.9
=1 Afasl
- UY»Af -»'I'Q-l- 126345AIa5Y Y»ii 12,808.5 11,654.0 10,949.3 23,516.2 16,954.3 9,413.9 6,571.5 5,612.3 15,005.7 900.4 1,333.0
- TAUASY3E 126340AIadY Y»ii 241.6 315.7 256.2 36.3 267.1 305.8 154.5 194.0 217.2 0.0 22.6
- T3é’1(; 136340AladY Y»ii 6,464.9 6,042.7 9,353.0 6,055.1 9,945.3 9,147.4 7,628.0 6,132.4 43,413.4 2,267.4 1,686.3
- 283NAT3-A3T3Y I3Eé»i 320.0 320.0 360.0 320.0 320.0 320.0 320.0 320.0 3,010.0 160.0 200.0
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20lae=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
- q&8l0C T SRS TanaiUY»AC T30 13ta0Ala0Y 0.0 685.0 930.0 5,421.7 1,367.7 996.0 299.3 2,916.0 3,000.0 0.0 0.0
an1a00a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 4,083.6( 11,652.0 9,868.8 4,057.8 6,582.0( 16,608.1 5,786.3 6,686.3 129,995.1 1,176.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 800.0 1,683.8 1,790.0 2,700.0 1,637.0 3,272.0 1,990.0 1,362.2 80,751.5 2,300.6( 1,500.0
31 Afasu
- P33 T3Y 13¢3aiAasYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- B3U3T30-43(CY 1363a0AlaYY»h 300.0 800.0 980.0 1,500.0 812.0 1,982.0 1,230.0 884.0 542.0 0.0 0.0
- DO ISTT313Y 1363(aAla0YY»ii 200.0 327.8 510.0 450.0 525.0 790.0 360.0 178.2 2,401.4 578.0 0.0
- T3ES T35SIV 13¢3aNasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY eYY1C 13¢3atAladyY»fh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»AlI3[3064065313Y I13Eé»h 300.0 300.0 300.0 300.0 300.0 300.0 300.0 300.0 77,235.5 1,500.0| 1,500.0
- AYIN3YAGA pYadlAC 3 1=3é63(a0Ala0Y Y»ii 0.0 256.0 0.0 450.0 0.0 200.0 100.0 0.0 572.6 222.6 0.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 0.0 170.0 1,500.0 0.0 196.4 102.6 429.7 48.6 0.0 0.0 0.0
31 Afasu
- @3EY3-CW 3I3Y 13¢3aiAlasYY»i 0.0 170.0 1,500.0 0.0 196.4 102.6 429.7 48.6 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 808.0 2,323.0 1,273.0 1,600.0 1,862.0 2,150.0 1,7935 3,023.0 19,063.3 1,411.6| 1,195.0
YlaoA»fi)
31 Afasu
- b»YO»AC " T3¢€al0Y»AC AYA=6CT Yana-ail ~ A=3Na3Yail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D»U»Y3Y»AC " 6303 TanasUY»AC AYAS6CT Yana-aiu = 808.0 2,323.0 1,273.0 1,600.0 1,862.0 2,150.0 1,7935 3,023.0 19,063.3 1,411.6| 1,195.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 10,479.3 9,866.9| 11,560.5| 10,083.2( 10,216.5 9,315.2 9,224.8 9,140.7 77,914.3 4,754.4] 5,189.4
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 1,217.3 1,685.9 1,532.8 1,493.2 1,652.5 910.7 1,001.6 940.0 6,564.8 660.0 439.4
- Ma0=3TY T »E3T3Y SAA3YUY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TA3Y8AART3(CY YlaiA»h 9,004.0 7,809.0 9,728.0 8,312.0 8,000.0 8,112.0 7,952.0 7,976.7 70,600.4 4,024.4] 4,750.0
- I»Y6303{CY " N3YA3ICY 8YYLC YIAlA»i 258.0 372.0 299.7 278.0 564.0 292.5 271.2 224.0 749.1 70.0 0.0
- B3TAT YAST3I3(CY 3[ YiaA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
éé\é[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- ééf]pé(;lQE‘Y»ﬁ 44 yCY3YE3T3Y &»T313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&69006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,551.9 4,551.9 0.0
31 Afasu
. ﬁ3~U3B‘:(éﬁNY>)ﬁ UCe3%-=3CY T3 T»NAaiAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,551.9 4,551.9 0.0
31 Afasu
-AYA3OC| 1A3U3RYAANY»A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,551.9 4,551.9 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YNSTI31C 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSAT=TY»CY
31 Afasu
- AYA36CT 1A3U3RYARNY»A &»r313Y 1363 T13A/U3Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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11 12 13 14 15 16 17 18 19 20 21
“AVASOCT Ba0HT»Y00=Voh NSUSNOY»AGY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=2étuos 21 1°Ué2Aab2T1U°s 30,000.0({ 30,000.0f 30,000.0| 30,000.0f 30,000.0{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 1Y Sin =R=ln aA=Up 30,000.0| 30,000.0| 30,0000 30,0000| 30,0000| 30,000.0] 30,000.0] 80,000.0 0.0 0.0 0.0
Ya3ewY»fi (uléoc»Co)
31 Atadu
- 2f YAZE T Y»A piaic»Co 30,000.0( 30,000.0f 30,000.0f 30,000.0| 30,000.0f{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 462.4 253.7 229.7 465.1 408.0 315.7 284.0 324.1 10,462.8 44.0 55.0
31 Atadu
DERI»N, AR SICR Tx2AT»n -~ T alkoR, ARaT0 ‘ 462.4|  2537|  229.7| 4651 4080  2237|  2840| 3241 962.8 420[ 550
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éT14aiu
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 92.0 0.0 0.0 9,500.0 0.0 0.0
32 uEU=062120 2TTA1U°SE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgapszU ofkxa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEUAAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC ~ RCYABAIASYY»1G RCY SNSNATAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TB>YUnAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q‘Oﬂf’UZ‘UOé o1 é28g2i1a0a00U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 83A0=314R4UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3 - I3N»T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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(YSE3A3AY»AC SREST2T3%U»AC US6ar)
o = Aradl Aew
PATT3IC 3YT3VaiUA T313/4a0Y»AC
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e | ZegL ) o =0 ISP n =350 oy a0 | o= S

IRT Epn CE = Q%J 0 40 =y | Q- | @l Oyw | = S |

R B : y A A
0|l g=rg| f¢ | 52 | go[®hoe o] ¢ | g2l [g 28| 82
M X : s = @
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22 23 24 25 26 27 28 29 30 31 32
AU _2@°UA 12Eé°s 90,461.3| 119,125.8( 312,703.7| 74,152.0| 81,145.5 83,107.9( 84,374.8| 74,329.0| 102,246.5 97,447.41 139,399.7
31 Arasl
AUAZ20LT I12Eé°d 90,461.3| 119,125.8( 312,703.7| 74,152.0| 81,145.5 83,107.9( 84,374.8| 74,329.0| 102,246.5 97,447.41 139,399.7
31 Arasl
2pE2T2Ugk 12802Tda0AUacU 81,065.5( 104,858.9| 132,106.4( 65,316.8( 72,847.9 72,602.4| 72,791.2] 63,132.6| 87,434.0 80,418.8( 123,944.0
31 Arasl
_ASBUAT 1x3i140 SRE3 13 T30»f " NS T»E3 Tx3AY»0 81,065.5( 104,858.9| 132,106.4( 65,316.8 72,847.9 72,602.4| 72,791.2] 63,132.6| 87,434.0 80,418.8( 123,944.0
31 Arasl
- 2RE=TA0Y»AC SRE3TW3T30»0 " NS T»E3 1x3AY»A 81,065.5( 104,858.9| 132,106.4( 65,316.8( 72,847.9 72,602.4| 72,791.2] 63,132.6| 87,434.0 80,418.8( 88,531.0
- &30- 37 RaUY»A, TABUST3Y EA3EaieaiUY»n N3 1asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35,413.0
x3fAY»f
- 230303603 13Y, 13T313Y " &0 313Y 3k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1363a0Y»AC &= -3 hRal
jZéZUéﬁAUéﬁUUOB/E °1 2a620gU°sE 9,340.8 14,211.9| 180,531.3( 8,779.2 8,229.4 10,450.5| 11,539.6( 11,152.4( 14,7129 16,973.6| 15,343.7
0°eg” Cdaid
31 Arasl
P3faiYST3T3Y ISEé»h 525.0 5,940.7 5,868.4| 2,604.9 2,584.0 2,946.9 5,016.7| 4,778.9 3,192.9 9,495.4 4,560.3
31 Atasl
- %Y»A-»WCl 13é63a0AlasYY»i 0.0 4,117.4 0.0 623.7 1,078.5 799.2 0.0 0.0 803.7 3,496.4 0.0
- TaU&sY3t 12¢3(a0Ala0Y Y» i 0.0 49.8 0.0 0.0 34.8 0.0 0.0 0.0 0.0 21.8 0.0
- T3AC 13é63aoAlasYY»i 325.0 1,573.5 5,618.4| 1,861.2 1,350.7 1,947.7 4,856.7( 4,618.9 2,149.2 2,777.2 4,320.3
- 233Nai3-A213Y I3Eé»i 200.0 200.0 250.0 120.0 120.0 200.0 160.0 160.0 240.0 200.0 240.0
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22 23 24 25 26 27 28 29 30 31 32
- q&8l0C T SRS TanaiUY»AC T30 13ta0Ala0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,000.0 0.0
an1a00a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 0.0 0.0| 117,000.0 795.9 501.8 365.2 0.0 500.0 2,598.2 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 1,600.0 1,500.0( 50,285.5| 1,500.0| 1,500.0 1,092.0( 1,500.0f 1,563.0 1,600.0 1,450.0 1,950.0
31 Afasu
- P33 T3Y 13¢3aiAasYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- B3U3T30-43(CY 1363a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 142.0 0.0 0.0 0.0 0.0 0.0
- DO ISTT313Y 1363(aAla0YY»ii 100.0 0.0 100.0 0.0 0.0 0.0 0.0 63.0 100.0 100.0 100.0
- T3ES T35SIV 13¢3aNasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY eYY1C 13¢3atAladyY»fh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»AlI3[3064065313Y I13Eé»h 1,500.0 1,500.0( 50,185.5| 1,500.0| 1,500.0 950.0| 1,500.0( 1,500.0 1,500.0 1,350.0 1,500.0
- AYIN3YAGA pYadlAC 3 1=3é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 350.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CW 3I3Y 13¢3aiAlasYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 1,291.0 1,568.0 1,000.0 700.0 750.0 1,857.4 859.7 520.0 1,874.0 900.0 1,200.0
YlaoA»fi)
31 Afasu
- b»YO»AC " T3¢€al0Y»AC AYA=6CT Yana-ail ~ A=3Na3Yail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D»U»Y3Y»AC " 6303 TanasUY»AC AYAS6CT Yana-aiu = 1,291.0 1,568.0 1,000.0 700.0 750.0 1,857.4 859.7 520.0 1,874.0 900.0 1,200.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 5,924.8 5,203.2 6,377.4( 3,178.4| 2,893.6 4,189.0| 4,163.2| 3,790.5 5,447.8 5,128.2 7,633.4
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 1,106.6 571.2 243.4 134.4 30.9 81.4 276.3 264.8 93.0 483.2 1,699.4
- Ma0=3TY T »E3T3Y SAA3YUY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TA3Y8AART3(CY YlaiA»h 4,750.0 4,632.0 6,134.0( 3,044.0| 2,817.0 4,107.6| 3,839.0| 3,507.0 5,260.0 4,645.0 5,934.0
- I»Y6303{CY " N3YA3ICY 8YYLC YIAlA»i 68.2 0.0 0.0 0.0 45.7 0.0 47.9 18.7 94.8 0.0 0.0
- B3TAT YAST3I3(CY 3[ YiaA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
éé\é[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- ééf]pé(;lQE‘Y»ﬁ 44 yCY3YE3T3Y &»T313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&69006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
. ﬁ3~U3B‘:(éﬁNY>)ﬁ UCe3%-=3CY T3 T»NAaiAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
-AYA3OC| 1A3U3RYAANY»A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YNSTI31C 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSAT=TY»CY
31 Afasu
- AYA369T’1ﬁ3U3BYéﬁNY»ﬁ AT3I3Y I3E313003Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N3TT3ICY
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22 23 24 25 26 27 28 29 30 31 32
“AVASOCT Ba0HT»Y00=Voh NSUSNOY»AGY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 1Y Sin =R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (uléoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 55.0 55.0 66.0 56.0 68.2 55.0 44.0 44.0 99.6 55.0 112.0
31 Atadu
DERI»N, AR SICR Tx2AT»n -~ T alkoR, ARaT0 ‘ 55.0 55.0 660] 560 68.2 550[ 440 440 99.6 550  112.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éT14aiu
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 uEU=062120 2TTA1U°SE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgapszU ofkxa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEUAAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC ~ RCYABAIASYY»1G RCY SNSNATAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TB>YUnAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q‘Oﬂf’UZ‘UOé o1 é28g2i1a0a00U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 83A0=314R4UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3 - I3N»T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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TaRT=1Ch CRE=VAARY, B»T3T3Y
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T26313AU3Y U3AUCYY»AC &3Na3vail
(YBESA3A&AIETY»AC SRESTSTIU»AC
U=84r)

1=ESTSY 0plb T V»iC
RCY=n=haoAlasy

22 Afal AST
T=7=2ha0Y»AC

\m

2 Afal A6
T2 =2h40Y»AC

\m

= ATaU Aer

TS T=2040Y>AC

2 o B
i =] .oz = s 23 0 = % LIS = 0 o
fie S ec®| L8 | OF 28 ki Lo o 8 <8 o8 ki ==
ORI NI =% 005 nons 5 35T 00
=l g | ==E NI =0 =8 = 2223 -3 RO = ;=
c e A mm = g < ﬁf”",?;.‘“’c A mzco:c S g e A MM
M) 20 | mx M T 0 oo 3 Q2000 |40 T 3 IR
c(‘U:mm e e O o5 oA AT ) ) \—lézc 0= B ) 0 H
o Lo =0 mo|Se=tn d Powo i 0 n d B4l
857% | sY | B¢ [sFSey| = [aEty| Ly | %% | = | &F
l% > (_)’\>_ > (g_\>_ 8 - > lmC > > "
33 34 35 36 37 38 39 40 41 42
AU _2g°UA 12E&°s 80,237.9| 84,440.2| 87,198.6 72,2442 2,047,045.7] 317,395.8] 1,442,443.3] 287,206.6] 50,000.0 50,000.0
=1 Afasl
AUAZ0LT 12E6°8 80,237.9| 84,440.2| 87,198.6 72,2442 2,047,045.7| 317,395.8| 1,442,443.3| 287,206.6 0.0 0.0
=1 Afasl
2pE2720gk 12802T16a0A0a00 64,680.0| 75,358.8| 68,560.8 58,858.8| 1,856,989.8] 277,869.3| 1,309,282.8| 269,837.7 0.0 0.0
=1 Afasl
_A3Ual 1x3n1a0 SRES T 313M0»1 - NS 1»E3 1X31Y»0 64,680.0| 75,358.8| 68,560.8 58,858.8| 1,856,989.8] 277,869.3| 1,309,282.8| 269,837.7 0.0 0.0
=1 Afasl
- Z2RE3TA0V»AC SRE3 1313000~ N3 1 »E3 1x3AY»A 64,680.0| 75,358.8| 68,560.8 58,858.8| 1,710,438.1| 255,158.7| 1,209,411.1| 245,868.3 0.0 0.0
- &30 31nalY»n, 1n303T3Y EASEaieailY»n - N3 aol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»0
- p303030C3T3Y, 137313V~ a1 313 3f 0.0 0.0 0.0 0.0| 1465517 22,710.6 99,871.7| 23,969.4 0.0 0.0
1=6=1a0Y»fiC &=A- =14l
12620a0A0a000°8L ©1 24520g0°8k 13,5139 9,037.4| 18,593.8 5,863.4| 189,319.7| 39,4825 132,479.3] 17,357.9 0.0 0.0
Oceg” 8200
=1 Afasl
P31y =T=13Y 1=Eé»i 4,9479| 1,874.4] 2,604.8 1,135.4 74,196.0] 14,9424 55,884.0] 3,369.6 0.0 0.0
3 Aas0
S WY»R-» 1 CT 13é63asAlasy V»h 1,853.4 0.0 0.0 0.0 35,481.6 7,965.3 27,516.3 0.0 0.0 0.0
NPV EIEE T 46.2 275 0.0 145 684.1 0.0 684.1 0.0 0.0 0.0
-134C 1=63laAlayY»n 2,888.3| 1,686.9| 24448 1,040.9 35,638.3 6,817.1 25491.6| 3,329.6 0.0 0.0
- 253041 = -A=13Y 13Eé»h 160.0 160.0 160.0 80.0 730.0 160.0 530.0 40.0 0.0 0.0
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33 34 35 36 37 38 39 40 41 42
- q&8l0C T SRS TanaiUY»AC T30 13ta0Ala0Y 0.0 0.0 0.0 0.0 1,662.0 0.0 1,662.0 0.0 0.0 0.0
an1a00a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 2,001.0 707.0( 4,150.0 200.0 20,868.0 5,880.0 8,688.0 6,300.0 0.0 0.0
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aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
D{EQL"JZTéU PExAOUCS 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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@?Z?U?Uoé °i é2892i1a6a0guU°s 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- 2E U»O»Y3Y»h ~ 63A03 TafaiUY»h 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AU b~2®chA 12Eé°5 16,637,449.0 16,637,449.0| 45,000.0 45,000.0 350,000.0 350,000.0| 30,757.7 30,757.7
3r ATédU
AU:&:Z(‘)/ET 12Eé°d 16,637,449.0 16,637,449.0| 45,000.0 45,000.0 0.0 0.0] 30,757.7 30,757.7
3r ATédU
2PE=712U gk 1260=1620A0a50 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3r ATédU
- ﬁ3~Uél' ‘|'><3ﬁ 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY» 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3r ATédU
- 2REZTA0Y»AC SRESTST3A0»A NS T»E2 1x3AY»0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- a3ﬁ,-"3'|'ﬁéﬁuv»ﬁ, 1i=UST3Y EAZEAGCAUY»A N3 1ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TX3AY»A
- g=0=0P0C= 1Y, B wSI5Y - By STy SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363040Y»C A3h- 3 Tfi&U
?ZéZUéﬁAUéﬁ)UanﬁE °i 25620gU°sE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0ceg” ©5a00
3r ATédU
P3fiafYS1=3T3Y I=Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=l Atasl
AR ISEV3T3Y -~ iSYI3KY 1363Ia0AAY Y- 1SEé»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I -»> 1 CT 1363 A0NE0Y YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&0Y3E 1=3é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT3AC 1563 ANaT Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- 283Nar=3-A=13Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TatluC ~* =30 Tanasly»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- ZAT 3 - »AS T »EEZT3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an1a0a00Y»AC ~* RAc= - SlAGAlAYY»AC 1SEéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0YY»AC O»éup»asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- D3UST31-543(CY 1363[a0AIA0YY»1i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-'ZBE?'I:?’_I_?”%UC UB&Y2-CI313Y %31 -36U3Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13é3a0AladYY»h
- DO IBTTSI3Y 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 1363a0Ala6YY» A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[=064004=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 13é63acAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afasu
- P»U»Y3Y»C * 6303 TanasUY»Ac AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- TASE»YIST3ICY YIaiA»n ™ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YIaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. ‘62~®2PUQBDU°6 16,637,449.0 16,637,449.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YN3TI31C 3 16,637,449.0 16,637,449.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AT=TY»CY
31 Afasu
- 2 AYAS4CT 1iA3U3RYAANY»h 16,637,449.0 16,637,449.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 0.0 0.0| 45,000.0 45,000.0 0.0 0.0| 30,757.7 30,757.7
31 Afasu
?3ﬁ-l-»ﬁ, é?ﬁj|'31(;ﬁ I'X?ﬁ_Y_»ﬁ . 'I;éﬁUN)ﬁ_,_éﬁéYU" . 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =2p»fi UST3A=1Y»AC 1a0UC6 1Ch=éTaiy
»Y UCUIBY6 YI3T1U3Upn
2 ISEé»f 0.0 0.0| 45,000.0 45,000.0 0.0 0.0 30,757.7 30,757.7
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0/ 350,000.0 350,000.0 0.0 0.0
31 Afasu
D{EQL"JZTéU PExAOUCS 0.0 0.0 0.0 0.0 350,000.0 350,000.0 0.0 0.0
31 Afasu
@?Z?U?Uoé °i é2892i1a6a0guU°s 0.0 0.0 0.0 0.0 350,000.0 350,000.0 0.0 0.0
31 Afasu
- 2E U»O»Y3Y»h ~ 63A03 TafaiUY»h 0.0 0.0 0.0 0.0/ 350,000.0 350,000.0 0.0 0.0
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AU_=20°0UA 12Eé°8 14,130,418.7] 9,643,709.0 9,643,709.0] 2,355,403.2| 156,400.0| 2,162,837.4] 36,165.8] 200,000.0 200,000.0
3 A4l
AUAZOET 12E6&°5 14,096,500.2| 9,643,709.0 9,643,709.0| 2,355,403.2| 156,400.0| 2,162,837.4| 36,165.8] 200,000.0 200,000.0
3 A4l
2pE=12Ugk 1280210a0AUa0U 1,087,8335 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
_A=0ai 1x3n1a0 SREST3T300»0 NS 1 »E3 Tx3AY»A 1,087,8335 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
- 2RE3TA0V»AC SRESTSTI0»N ~ NS 1o 1x3AY»A 995,314.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
S pS030=0C313Y, I3 33Y - &y n313Y 3 92,5195 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=363040Y»fiC &= - 31 Ral
12620a0A0a000°8L ©1 245200098k 842,228.6 42,000.0 42,000.0 0.0 0.0 0.0 0.0 0.0 0.0
0cep” ©5200
3 A4l
P31y =T=13Y 1=Eé»i 54,853.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasl
“IN»A-»> W CT 1=63apAla0YY»h 946.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaUasy3E 1363lachlany Vi 30.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T340 1=63ahanyY»n 53,3164 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- 283Nar=3-A=13Y I3Eé»h 560.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an1a00a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 575,710.6 42,000.0 42,000.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 182,581.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- I3MES13Y 13¢3a0AIa6Y Y» i 996.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-43(CY 1363[a0AIA6Y Y1 18,941.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3aAlasYY»h 62,290.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[2064004=2T3Y I13Eé»h 8,250.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdIAC 3k 13é63a0AlasyY»h 92,103.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 4,907.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana- aiu 4,907.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 24,176.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiasA»n ™ N3 - 466 9,881.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiasA»i 13,239.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 1,030.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3Il YA 3T3CY 3 YiaiAi 25.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 6%@290369006 2,355,403.2 0.0 0.0| 2,355,403.2 156,400.0| 2,162,837.4( 36,165.8 0.0 0.0
31 Afasu
. r‘~13~U3B‘:(éﬁNY»ﬁ UCe3%-3CY T3S T»NAaiAAsYY»ACY 2,355,403.2 0.0 0.0| 2,355,403.2 156,400.0| 2,162,837.4( 36,165.8 0.0 0.0
31 Afasu
- AYA3OC| 1A3U3RYARANY »A UCe3Y- 3(CY 2,355,403.2 0.0 0.0| 2,355,403.2 156,400.0| 2,162,837.4( 36,165.8 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéOB 9,811,034.9| 9,599,709.0 9,599,709.0 0.0 0.0 0.0 0.0/ 200,000.0 200,000.0
31 Afasu
P2AT»f, é’lf3ﬁ"l'3lgﬁ fX?ﬁY>>ﬁ . 'I'él’ﬁUA»ﬁ, aﬁaYu ) 154.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=€3T=AUSY T =i USTSA1=TY»AC 1a0UG6 1CA=¢eT4asU
»Y UCUIBY6 YI31U3Upn
2 I3Eé»f 9,810,880.9| 9,599,709.0 9,599,709.0 0.0 0.0 0.0 0.0 200,000.0 200,000.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 33,918.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
D{EQL"JZ?ZU PExAOUCS 33,9185 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
D?U~ﬂ°§ °1 bEUaAUauUPS 33,9185 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- P»YU»AiC * RCYABAIAGYY»iC O»éup»iasu 33,918.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17 18
AU _2@°UA I12EE&°s 350,000.0 350,000.0( 157,364.4 157,364.4| 1,286,748.5| 1,209,735.2 77,013.3| 33,9185 33,9185
=1 ATaiu
AUAZOET 12Eé°3 350,000.0 350,000.0( 157,364.4 157,364.4| 1,286,748.5| 1,209,735.2 77,013.3 0.0 0.0
=1 ATasU
2pE2T2UgkE 12802Tda0AUa0U 0.0 0.0 91,312.9 91,312.9 994,520.6 931,625.6 62,895.0 0.0 0.0
=1 ATaiu
_ABUAT Tx31AT140 SRES T3 130>~ NS T»E3 1x3Y»fi 0.0 0.0] 91,312.9 91,312.9 994,520.6 931,625.6 62,895.0 0.0 0.0
SR YR
- 2RE3TA0Y»AC SRESTST3A0»1 " NS T»E3 Tx3AY»A 0.0 0.0| 83,671.7 83,671.7 909,642.3 851,908.2 57,734.1 0.0 0.0
63030260313, 1313137 - & 1313 3E 0.0 00| 764L2 7.641.2| 848783 79,717.4| 51609 0.0 0.0
[363140V»AC &3-S 1al
j 2@20a0AUa0UUCHE @1 2a52UgU°dk 350,000.0 350,000.0( 66,029.5 66,029.5 292,095.9 277,988.6 14,107.3 0.0 0.0
0°ég™ 2oadv
=1 ATasU
D?ﬁ?ﬁY?-|-3-|-3Y’ I3Eé»i 0.0 0.0 4,717.3 4,717.3 50,136.4 46,189.1 3,947.3 0.0 0.0
3r ATéiU
TI»n > T CT 1263 aAaYY»n 00 0.0 00 00 9468 0.0 946.8 0.0 0.0
- TaU&6Y3E 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 30.5 0.0 30.5 0.0 0.0
- T3AC 1=3é3aAla0Y Y»ii 0.0 0.0 4,637.3 4,637.3 48,679.1 45,749.1 2,930.0 0.0 0.0
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10 11 12 13 14 15 16 17 18
- 283Nar=3-A=13Y I3Eé»h 0.0 0.0 80.0 80.0 480.0 440.0 40.0 0.0 0.0
an1a00a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 350,000.0 350,000.0{ 51,064.0 51,064.0 132,646.6 132,246.6 400.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 0.0 0.0 7,085.0 7,085.0 83,392.9 78,246.9 5,146.0 0.0 0.0
31 Afasu
- I3MES13Y 13¢3a0AIa6Y Y» i 0.0 0.0 0.0 0.0 996.0 0.0 996.0 0.0 0.0
- D3UST31-43(CY 1363[a0AIA6Y Y1 0.0 0.0 135.0 135.0 18,806.9 16,856.9 1,950.0 0.0 0.0
- DO IBTT3T3Y 13¢3aAlasYY»h 0.0 0.0 450.0 450.0 61,840.0 61,390.0 450.0 0.0 0.0
- U»Ail3[2064004=2T3Y I13Eé»h 0.0 0.0 6,500.0 6,500.0 1,750.0 0.0 1,750.0 0.0 0.0
- AYIN3YaA pYAdIAC 3k 13é63a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 478.0 478.0 4,429.0 3,629.0 800.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana- aiu 0.0 0.0 478.0 478.0 4,429.0 3,629.0 800.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0 2,685.2 2,685.2 21,491.0 17,677.0 3,814.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiasA»n ™ N3 - 466 0.0 0.0 785.2 785.2 9,096.1 6,396.1 2,700.0 0.0 0.0
- TASYEAANT3(CY YiasA»i 0.0 0.0 1,900.0 1,900.0 11,339.0 10,450.0 889.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 0.0 0.0 0.0 0.0 1,030.9 830.9 200.0 0.0 0.0
- D3Il YA 3T3CY 3 YiaiAi 0.0 0.0 0.0 0.0 25.0 0.0 25.0 0.0 0.0
bé%QZPUééDUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
. r‘~13~U3B‘:(éﬁNY»ﬁ UCe3%-3CY T3S T»NAaiAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- AYA3OC| 1A3U3RYARANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
ZQE~‘|2Eé°6 0.0 0.0 22.0 22.0 132.0 121.0 11.0 0.0 0.0
31 Afasu
P2AT»f, é’lf3ﬁ"l'3lgﬁ fX?ﬁY>>ﬁ . 'I'él’ﬁUA»ﬁ, aﬁaYu ) 0.0 0.0 22.0 22.0 132.0 121.0 11.0 0.0 0.0
I=€3T=AUSY T =i USTSA1=TY»AC 1a0UG6 1CA=¢eT4asU
»Y UCUIBY6 YI31U3Upn
2 I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,9185 33,918.5
31 Afasu
D{EQL"JZ?ZU PExAOUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,9185 33,918.5
31 Afasu
D?U~ﬂ°§ °1 bEUaAUauUPS 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,9185 33,918.5
31 Afasu
- P»YU»AiC * RCYABAIAGYY»iC O»éup»iasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33,9185 33,9185
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 01 u=3AYC 01
EUUC 03 126G Th=-fivAC - TaT N2 =T =1 (=W T=6a00Y»7C T»AT=YaUY Aew
[SE6»AC TY1»63-Cr313Y 136313003 NaLT 2 TV»AC

Pa1T=1C =Y i=YaslA

S ATa00 AST 17=-fofiG

P3[EE13YC PIYAZA» W AIAIBYA
840 T»A»Y TSAT3YCR RYAAN»EAS
T=a=T60aA=0n
T=30=T»A40AlasY Y»A¢ Tadlgo
USTaior =1 13¢3a0AlasYY»ic
1CU=6 Tx3AU3Y 13Eé»fi

U=2T0O-C Yaf
T»YTAAYST3EYC B»YUC
»A3T3¢a0U3Y
SREST3YUY»AC

I3Eé»ic
~4EN=1ai6U=3Y PP
Usey=p=Acy

2 Afal A6
T=212/40Y»AC

21 Afal A6
T=r2/a0V»AC

= =
jlel jle O
. . pl ey
) = ) 25
e T @ e i T
\— Qi \— @ <L
< © 8 < x:
= > e = > c
d on d 0w
< ol z =
80 m
2
19 20 21 22
AU _2@°UA I2Eé°d 92,103.2 92,103.2( 11,171.9 11,171.9
3 A4l
AUAZ20LT 12Eé°d 92,103.2 92,103.2( 11,171.9 11,171.9
3 A4l
2pE2120Ugk 126021020A0a0U 0.0 0.0 0.0 0.0
3 A4l
_n=0al 1x3n1a0 SRES TS T3000A N2 162 1x30V»h 0.0 0.0 0.0 0.0
3 A4l
- 2RE 'I'é()Y»ﬁQ SREST3T3A0»A " NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0
- @=030U=0C313Y, 13313V - Aa»n3I13Y 3 0.0 0.0 0.0 0.0
1363a0Y»AC &= -3 hRal
1262020A0a600°3k ©1 2a020s0°3k 92,103.2 92,103.2 0.0 0.0
0°eg” Coadd
3 A4l
P&y 212137 1SEéxh 0.0 0.0 0.0 0.0
31 ATadU
~I»A-»> T CT 1363a0AIa0YY»n 0.0 0.0 0.0 0.0
- TAU&Y3E 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0
“T=AC 1263R0ARY YA 0.0 0.0 0.0 0.0

20lae=T 01-01-03
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19 20 21 22
- 283Nai3-[313Y ISEé»i 0.0 0.0 0.0 0.0
Tan1ai0aiUY»AC ~~ RAc= - SlatAlasYY»AC 1SEéx»f 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 92,103.2 92,103.2 0.0 0.0
31 Afasu
- P33 T3Y 13¢3aiAasYY»i 0.0 0.0 0.0 0.0
- B3U3T30-43(CY 1363a0AlaYY»h 0.0 0.0 0.0 0.0
- DO ISTT313Y 1363(aAla0YY»ii 0.0 0.0 0.0 0.0
- U»Al3[3064065313Y I13Eé»h 0.0 0.0 0.0 0.0
- AYIN3YAGA pYadlAC 3 1=3é63(a0Ala0Y Y»ii 92,103.2 92,103.2 0.0 0.0
AYA36CT Yana-ail ~ &3Na=3YaoU (13¢3/asAlasyY»h 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»AC " 63AUS TanaiUY»AC AYASACT Yana- ail 0.0 0.0 0.0 0.0
a=Na=vail
Ul:léﬁé»ﬁ (‘Zéﬁ\?'Yl]Y»ﬁ) 0.0 0.0 0.0 0.0
31 Afasu
- A=6»YIST3(CY YiaiA»h =~ N=- 406w 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»h 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY &YY1C YAiA»fi 0.0 0.0 0.0 0.0
- DAl YaSw 313y 3 YiasA»h 0.0 0.0 0.0 0.0
362~QZPUQBDU°6 0.0 0.0 0.0 0.0
31 Afasu
. ﬁ3~U3B‘:(éﬁNY>>ﬁ UCe3t%-3ICY T3HUST»NAa0AIAEYY»ACY 0.0 0.0 0.0 0.0
31 Afasu
- AYA3OQI 1A3U3RYARANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
ZQE~‘|2Eé°6 0.0 0.0| 11,171.9 11,171.9
31 Afasu
P2AT»f, é’lf—z‘ﬁ"l'?’lgﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ) 0.0 0.0 0.0 0.0
I=€3T=AUSY T =i USTSA1=TY»AC 1a0UG6 1CA=¢eT4asU
»Y UCUIBY6 YI31U3Upn
2 I3Eé»f 0.0 0.0| 11,171.9 11,171.9
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0
31 Afasu
D/E@pzizU PExAOUCS 0.0 0.0 0.0 0.0
31 Afasu
Dc"U}ZlO(j °1 bEUaAUauUPS 0.0 0.0 0.0 0.0
31 Afasu
- P»YU»AC " BCYAGAIAGY Y»TiC O»etu»hiasl 0.0 0.0 0.0 0.0

20lae=T 01-01-03
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y T2EE»AC - anT=eY3T3Y 126313 -03Y 01 u=AYC 03

EUKC 01 136G 1A= -AvfiC - Tal N2 w30 121 (3 TT20a00V»AC T»AT=Va0Y AT
IBEe»AC TV -Cr3T3Y 1363T3h- 037 N4 T2 1V»i¢

200a56=3T N 01-03-01

P2i»Ei3IN1

20lae=T 01-03-01

S[ATa0U ASH TR fofiC

23030360313y 230302603 T313Y T30a0AI3Y
Tani=1¢i CRE=VaiAl3Y, 1=é3a0A=Y T31fi»Ag STI»iC -A3YeU3Y 13¢3aiAl=sY
&> T=T3Y 1263 12U=Y e T4 - WY 740 - T46Y»80A=Y T2U=T>RAUSY
NSYAS&» T 3T3Y u=03036C3T3Y UY=3-313¢400 &»aAl3Y Taluco
TEASIUSCY 126213037 [=63[40V»1C_ R=U=0V0C O»T=T=ACY
USAUCYY»AC &a=3Na3vail T3A03T1NAABY N»1 AT ICASTI=1 (C3anasAlasyY»nc
AVI3UnYA T=aT=1 [SEé»h CAST3Y36U3Y yCY3Ye3tanial
134C =11 Rt Al Aame Lo L o~ Lo oo
P e ia A g A [+ ATadU Aén 3L Ataiu Aér 3 Atadu Aér
Pati=31C¢ 3Yi13YaiuA -alU=nA e £ A e 2 AV e AV
(=y=i = 13713na0Y»A¢ = 13713na0Y»A¢ = 137131a0Y»A¢
AR0VRAT i = < = < -
"o i ; i ; [
= (Y)- by = (Y)- by = 'z ;;%
< gld < gLy < g
I RS I M3 A e
d © 00 d © 0 d 0w
. a0 > a0 > o Al
< 5= < S\ < o0
a8 8 e
1 2 3 4 5 6 7
AU b~2®?UA 12Eé°s 761,276.6 326,440.3 326,440.3| 113,616.0 113,616.0 321,220.3 321,220.3
31 Afasu
AUA20LT I12Eé°8 761,276.6 326,440.3 326,440.3| 113,616.0 113,616.0 321,220.3 321,220.3
=1 ATasU
ZPEZ'I‘?UEE 12802T8a0AU0asU 380,119.8 266,503.8 266,503.8( 113,616.0 113,616.0 0.0 0.0
31 Afasu
_A30aT 1x3n140 SREST3T3A0»0 ~ NS 13 1x3AY»1 380,119.8] 266,503.8 266,503.8] 113,616.0 113,616.0 0.0 0.0
=1 ATasU
- 2REZTA0Y»AC SRESTST3A0»A NS T»E2 1x3AY»0 364,397.7 250,781.7 250,781.7 113,616.0 113,616.0 0.0 0.0
- p303036C313Y, 131 313Y - 2» 1313y 3 15,7221 15,7221 15,7221 0.0 0.0 0.0 0.0
13¢30a0Y»AC &=h-"3hal
jZéZUéﬁAUéGUUOB/E °1 2a620gU°sE 59,352.7 59,352.7 59,352.7 0.0 0.0 0.0 0.0
0°eg” Cdaid
=1 ATaiu
P3faiYST3T3Y ISEé»h 12,183.0 12,183.0 12,183.0 0.0 0.0 0.0 0.0
=1 A4sU
- WY»f-» 0 Cl 13¢3(a0AlasYY»h 7,522.6 7,522.6 7,522.6 0.0 0.0 0.0 0.0
- TaU&sY3t 12¢3(a0Ala0Y Y» i 132.3 132.3 132.3 0.0 0.0 0.0 0.0
-134C 1=63laAlayV»n 4,328.1 4,328.1 4,328.1 0.0 0.0 0.0 0.0
-2330ai=-A313Y ISEé»h 200.0 200.0 200.0 0.0 0.0 0.0 0.0
Tanias0asUY»AC ~ RAc= - SatAlacYY»AC 1SEé»h 1,976.4 1,976.4 1,976.4 0.0 0.0 0.0 0.0
a303V=-i3lCY 3E 13630a0A1a0Y Y»1C O»éup»iail 32,183.0 32,1830 32,183.0 0.0 0.0 0.0 0.0
=1 ATasU
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1 2 3 6 7
T DSUS13n-231Y 156SIa0AB0YY o 23,050.0 23,050.0 23,050.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 1363(40AIa6YY»h 7,544.0 7,544.0 7,544.0 0.0 0.0 0.0 0.0
TT>763031CY ~ NSYASICY 8YVAC 1363 a0Aa0YY»h 100.0 100.0 100.0 0.0 0.0 0.0 0.0
- U»AT3(20400521T3Y I13Eé»i 500.0 500.0 500.0 0.0 0.0 0.0 0.0
T AVINSYaADN RYAIAC SE 136 SA0NE0Y YR 989.0 989.0 989.0 0.0 0.0 0.0 0.0
2U‘E U~3éY?’ -CHS1I3Y 13¢3(a0Ala0YY»AC O»étpu»iiaiu 222.0 222.0 222.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 313V 13631aNaYVoh 222.0 222.0 222.0 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ B=NA=Yall (126> R0AR6V Y - 4,250.0 4,250.0 4,250.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
TBYInAC -~ T3EAI0Y»AC AYASOCT Yana-ail ~ aSNa3Yail 1,550.0 1,550.0 1,550.0 0.0 0.0 0.0 0.0
DIV 3YoRC - B30 1ARAUY»AC AYASOCT Vana-ail 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0
a=Na=vail
Ul:léﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 8,538.3 8,538.3 8,538.3 0.0 0.0 0.0 0.0
31 Atadu
T IR2EVIET2ICY Vidbhn ~ N2 - 2061 2,653.6 2.653.6 2,653.6 0.0 0.0 0.0 0.0
TANSYeAaN T 3T Yiashnn 4,996.0 4,996.0 4,996.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 888.7 888.7 888.7 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 12U Ua=2éeTuos @1 I°eUé2Aab21uU°s 321,220.3 0.0 0.0 0.0 0.0 321,220.3 321,220.3
31 Atadu
B26CETY 0-VAARY 1i=U=TY 3w =N=Tr &A= 00 321,220.3 0.0 0.0 0.0 0.0 321,220.3 321,220.3
Ya3&uV»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 321,220.3 0.0 0.0 0.0 0.0 321,2203 321,220.3
2UE 12E6°8 583.8 583.8 583.8 0.0 0.0 0.0 0.0
31 Atadu
P3AT»A, é?ﬁjl':*»lgﬁ fX?ﬁY>)ﬁ - 'I'él’ﬁUA»ﬁ, af]aYu ‘ 263.8 263.8 263.8 0.0 0.0 0.0 0.0
IS63T3USY W3fpsi USTSAS1Y»i¢ 120UC6 TCh=éT4
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 320.0 320.0 320.0 0.0 0.0 0.0 0.0
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 01 u=3AYC 03
EUUC 02 126G Th=-fi»AC - TaT N2 =T =1 (= T=6a00Y»AC T»il=YaUY A6w
[SE6»AC WY1 »63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

P2i»Ei3IN1

20la66=T 01-03-02

200a56=3T N 01-03-02

S ATa0 ASH 1A= - fofiG

anT31ChA CRE3YaiAIRY, s Ty A T TSy Tias0n&s 1 3Y=04mC
& 1=13Y 13637303V @=L L OIS HEVEA-C3T3Y
Rl 3 & —m W2\ -+ 1ICX313-[=13Y 1 »EYata-C3Y»iC atannC R
NBYASA»T3I3Y TR Xy PRSI I»Y U AAYY»AC
e . 1»0» I3 TAABY EA3YUY T Axv) AR
=2 1u3CY 13e3130U3Y (31303 fasl I 36315A156V Vo -anlaoY»alAl=PY
USAUCYY»AC a3Na3Yaiu CAZT3Y=36U3Y IA=-Ch
AYLI3U»YA
138C¢ o Rt An| Aaa- o IR P
i e T PPN x e £ [~ AT&dU Aér 31 ATa0U Aér 3 At1adu Aér 3 Atadu Aé
173 33 33 - = - ~ s - ~ - - . - ~
BatI=1C SY1=vaua agu=nA - 131 3R40V»AC - IST3R80VC | 13 T3740Y»AC - 13T 3740V»AC
(N=%=n G G G @
1330Y»har) < kS LS c
. . . > . >
2 578 2 - - B 5 T I
£ 0L < 0 L < 0%>E B 05> 8
S gmg S gmg > .20?1%(0 > .ﬁo?f%m
" =0 " i 0 SLTE 0 ST E
d ) d 0] d [ = Ul d [ = Ul
> ] > % > = R > = %W
< Sov= < G\ < Q=>0 < Qx>0
\mm \mm > >
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé°3s 2,719,998.0 1,089,632.5 1,089,632.5| 677,808.5 677,808.5| 98,660.0 98,660.0| 149,595.4 149,595.4
31 Arasl
AUA20LT I12Eé°8 2,719,998.0 1,089,632.5 1,089,632.5| 677,808.5 677,808.5| 98,660.0 98,660.0| 149,595.4 149,595.4
31 Arasl
2pE2T2Ugk 12802Tda0AUacU 1,634,819.9| 1,003,845.5 1,003,845.5| 628,682.4 628,682.4| 2,292.0 2,292.0 0.0 0.0
31 Arasl
_ASUAT 1x31140 SRE3T2T3A0»A NS 1»E3 Tx3Y»f 1,634,819.9| 1,003,845.5 1,003,845.5| 628,682.4 628,682.4| 2,292.0 2,292.0 0.0 0.0
31 Arasl
- 2REZTA0Y»AC SRESTST3A0»A NS T»E2 1x3AY»0 1,552,195.3 921,220.9 921,220.9| 628,682.4 628,682.4| 2,292.0 2,292.0 0.0 0.0
- 203036C313Y, 1B3T3I3Y " T 3I3Y 3( 82,624.6 82,624.6 82,624.6 0.0 0.0 0.0 0.0 0.0 0.0
1=363a0Y»AC &=3i- 3w hal
jZéZUaﬁAUéﬁUUOB/E °1 2a620gU°sE 130,887.8 84,663.3 84,663.3| 41,316.5 41,316.5| 4,908.0 4,908.0 0.0 0.0
0°ég™ Coadd
31 Arasl
P3faiYST3T3Y ISEé»h 55,242.6 45,389.2 45,389.2 9,803.4 9,803.4 50.0 50.0 0.0 0.0
31 Arasl
- WY»f-» 0 Cl 13¢3(a0AlasYY»h 31,394.4 25,073.0 25,073.0 6,321.4 6,321.4 0.0 0.0 0.0 0.0
- TaU&sY3t 12¢3(a0Ala0Y Y» i 364.4 254.4 254.4 110.0 110.0 0.0 0.0 0.0 0.0
- T3&C 13é63aoAlasYY»i 19,771.8 16,436.8 16,436.8 3,285.0 3,285.0 50.0 50.0 0.0 0.0
- 233Nai3-A213Y ISEé»i 540.0 453.0 453.0 87.0 87.0 0.0 0.0 0.0 0.0
- f140l0C  e2AUSB TanaiUY»AC T3A0=T3ta0Ala0Y 3,172.0 3,172.0 3,172.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEéx»f 16,881.3 7,218.8 7,218.8 9,662.5 9,662.5 0.0 0.0 0.0 0.0
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1 2 3 4 6 7 8 9
ASU=Y= =0y S 156SA0Ra0T V2 OmeUiinady 16,8245 3,869.4 3.869.4| 8,097.1 8,007.1| 4,858.0 4,858.0 0.0 0.0
31 Atadu
- D3UBT3n-33ICY 13¢3(a6AIA0YY»h 6,472.0 1,614.0 1,614.0 0.0 0.0 4,858.0 4,858.0 0.0 0.0
- DO ISTTI3I3Y 13e3aAlasYY»i 9,034.5 937.4 937.4 8,097.1 8,097.1 0.0 0.0 0.0 0.0
- U»AT3(20406521T3Y 13Eé»i 640.0 640.0 640.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 136 SA0N&0Y YR 678.0 678.0 678.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= - Cur=T=Y 1565A0Ra0T Vi Ovelp»iaiy 93295 295 295| 9,300.0 9,300.0 0.0 0.0 0.0 0.0
31 Atadu
TO3Y3 -G 313V 12631aNa Y Voh 93295 295 295| 9,300.0 9,300.0 0.0 0.0 0.0 0.0
AYA:?'C')CT Yaia-ail - A3Na3YaiU (13é3lacAlasYY»i 3,812.8 3,112.8 3,112.8 700.0 700.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DUV BYHRC 30 1ARa0UV»AC AYASGCT Vana- a0U 3812.8 31128 3112.8 700.0 700.0 0.0 0.0 0.0 0.0
a=Na=vail
Ul:léﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 28,797.1 25,043.6 25,043.6 3,753.5 3,753.5 0.0 0.0 0.0 0.0
31 Atadu
- AZE»YIRT3(CY YiaiA»n " N=- 46w 10,676.1 8,562.6 8,562.6 2,1135 2,1135 0.0 0.0 0.0 0.0
- TH3YERANT3(CY YlaiA»h 17,391.2 15,751.2 15,751.2 1,640.0 1,640.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAbA 5748 574.8 5748 0.0 0.0 0.0 0.0 0.0 0.0
TP AT YAS T ST3CY SE Viaohoh 155.0 155.0 155.0 0.0 0.0 0.0 0.0 0.0 0.0
R 6%@290369006 945,357.0 0.0 0.0 0.0 0.0] 91,460.0 91,460.0| 149,595.4 149,595.4
31 Atadu
AYA3C')C-I- 1r~?3U3,BYéﬁNY»ﬁ T SIBYNITIZIC 3E 897,052.2 0.0 0.0 0.0 0.0] 91,460.0 91,460.0| 149,595.4 149,595.4
U?I:?'ﬁl::‘ 1Y»ACY
31 Atadu
- 2[E AYAZ6CT 1A3USRYARNY»f 897,052.2 0.0 0.0 0.0 0.0] 91,460.0 91,460.0| 149,595.4 149,595.4
!331Q'I'3E :!-ﬁ3U,3f3YéﬁNY»ﬁ T SIBYNITI3IC 3E 48,304.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
- 2 I3ACT 3t 1ABU3RYaRNY»A 48,304.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1uos @i I°eUé2Aab21uU°s 7,776.0 0.0 0.0 7,776.0 7,776.0 0.0 0.0 0.0 0.0
31 Atadu
B26CESTY 0-VAOARY 1i=U=TY 3w =N=Tr &A= 00 7.776.0 0.0 00| 7,7760 7.776.0 0.0 0.0 0.0 0.0
Ya3&uV»h (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 7.776.0 0.0 00| 7,7760 7.776.0 0.0 0.0 0.0 0.0
2UE 12E6°8 1157.3 1,123.7 11237 336 336 0.0 0.0 0.0 0.0
31 Atadu
D3AT»A, &SAW31CA Tx3AY»f ~ waild»i, afava 1,157.3 1,123.7 1,123.7 33.6 33.6 0.0 0.0 0.0 0.0

T363T3A03Y 13fph USTSASTYAC 140006 T0A=6T40U
»Y UCUIBY6 YIS 030




(44"

§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 01 u=3AYC 03
EUUC 02 126G Th=-fi»AC - TaT N2 =T =1 (= T=6a00Y»AC T»il=YaUY A6w

TSE6»AC WY I »83-Cr3T3Y 1363137 U3Y (a1 T2 TV»AC

Sl ATa0 ASH 1A= - fofiC

; i ) °iﬁ3ég3-l-?Y ',I': »E3T3Y
- T SPI33 A0 a8
- ) ,é‘?-'?'?Y,l » 201_2_;:).&22{(23-;»?]; ! '.'»c”>>>'|psg'e:9f'\§'g\?Nlaéu»ﬁc
i tient N=U=pE=AR=CY 2424102y VA= T=Tai
=53141400 . R=usAstaic | GYa-AR0T=TR3USTSA-¢
I=20=T»R&USY TA=-Ci 31.3[CY &» -U»YuC
a=Na=vya
PP G A A T A 3 ATa0U Aér 3 ATaU A8 31 ATa0U AT
BatT=1G =YT=vagUa - T2 T3740Y»AC w | T=r=hRa0v»ic - T2 T2h40»AC
2 > 2 £ .
% 22 g R 3 22
= 30 = A = N
% 5 e S| %338 | 3 X
7 ) 7| sng 7 o h
L @ L cedl L @ 4
< ,M_& < [ mN\Q-UJ = IO')_&
=1 Q>0 =1
8 >~ 8
10 11 12 13 14 15
AU_2g°UA 12E&°5 560,924.8 560,924.8] 95,072.0 95,072.0{ 48,304.8 48,304.8
3 Atadu
A‘L'JAZ(‘)/ET 12Eé°d 560,924.8 560,924.8| 95,072.0 95,072.0 48,304.8 48,304.8
3 Atadu
2pE=T20pk 120021620A0a00 0.0 0.0 0.0 0.0 0.0 0.0
3 Atadu
- ﬁ3~Uél' ‘I'><3r~‘| 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY» 0.0 0.0 0.0 0.0 0.0 0.0
31 AtTadu
- 2RE3TA0Y»AC SRESTST300»0 " NS T»E3 1x3AY»A 0.0 0.0 0.0 0.0 0.0 0.0
- Z3O?g?ég3-l.3Y, 1YY AW 3SI3Y 3k 0.0 0.0 0.0 0.0 0.0 0.0
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3 Atadu
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ASU=Y= =0y S 156SA0Ra0T V2 OmeUiinady 0.0 0.0 0.0 0.0 0.0 0.0
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- D3UB130-53CY 13e3la0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT313Y 13é63(a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0
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31 Atadu
~ G UVBY»AC 63U 1aRE0UV»AC AYASGCT Yana- a0U 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
Oléthoft (Z&F=YuY-h) 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
“NASEVIBT3CY VidoA»n ~ N2 - 2061 0.0 0.0 0.0 0.0 0.0 0.0
TARSveRan T3y VIiaA n 0.0 0.0 0.0 0.0 0.0 0.0
TT-763031CY ~ NSYASICY 8YYAC Yiashnh 0.0 0.0 0.0 0.0 0.0 0.0
TPIT&T YASTII3KY 3L Viashon 0.0 0.0 0.0 0.0 0.0 0.0
R 6%@290369006 560,924.8 560,924.8( 95,072.0 95,072.0 48,304.8 48,304.8
31 Atadu
AYA3C')C-I- 1r~?3U3,BYéﬁNY»ﬁ T SIBYNITIZIC 3E 560,924.8 560,924.8( 95,072.0 95,072.0 0.0 0.0
U?I:?'ﬁl::‘ 1Y»ACY
31 Atadu
- 2 AYAS6CT 1A3U3RYARNY»h 560,924.8 560,924.8( 95,072.0 95,072.0 0.0 0.0
!331Q'I'3E :!-ﬁ3U,3f3YéﬁNY»ﬁ T SIBYNITI3IC 3E 0.0 0.0 0.0 0.0 48,304.8 48,304.8
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- 2F T30 3t 1ASU3RYARNY»h 0.0 0.0 0.0 0.0 48,304.8 48,304.8
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B26CESTY 0-VAOARY 1i=U=TY 3w =N=Tr &A= 00 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&uV»h (lase»Co)
31 Atadu
“2EVASETYon HaienCo 0.0 0.0 0.0 0.0 0.0 0.0
2UE 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3AT»A, &SAW31CA Tx3AY»f ~ waild»i, afava 0.0 0.0 0.0 0.0 0.0 0.0
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AU . 2@°UA 12Eé°d 1,236,966.1( 808,848.8 797,864.7| 10,984.1| 4,915.7 4,915.7( 155,862.1 155,862.1 258,697.3 258,697.3
3 A4l
AUAZ20LT 12Eé°d 1,228,323.9( 808,848.8 797,864.7| 10,984.1| 4,915.7 4,915.7( 155,862.1 155,862.1( 258,697.3 258,697.3
3 A4l
2pE2T2UgE 12802Tda0AUasU 400,724.2| 396,461.1| 385,707.0( 10,754.1( 4,263.1 4,263.1 0.0 0.0 0.0 0.0
3 A4l
. ﬁ3~Uél' ‘|'><3ﬁ 7140 SRE3T3T3M0»A " NBT»E3 Tx3AY»f 400,724.2| 396,461.1| 385,707.0( 10,754.1| 4,263.1 4,263.1 0.0 0.0 0.0 0.0
31 Atadu
- 2RE 'I'éOY»ﬁQ SREST3T3A0»A NS T»E3 Tx3AY»f 371,101.1| 366,838.0/ 356,083.9( 10,754.1( 4,263.1 4,263.1 0.0 0.0 0.0 0.0
- Z3O3U36C3-|-3Y, 13Y3I3Y 7 A 33Y 3 29,623.1 29,623.1 29,623.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363140V»AC &3-S 1al
12&20a0AUaUUCBE ©1 2a02UgU°dE 408,124.7| 407,744.1| 407,514.1 230.0 380.6 380.6 0.0 0.0 0.0 0.0
0°Peg” °dayd
3 A4l
D?ﬁ?ﬁY?TE‘TE‘Y’ 13Eé»i 381,669.7| 381,347.5| 381,347.5 0.0 322.2 322.2 0.0 0.0 0.0 0.0
31 Atadu
- %Y»h > Cl 13é3(a5AIa3YY»fi 219,607.6| 219,406.4| 219,406.4 0.0 201.2 201.2 0.0 0.0 0.0 0.0
- TAU&Y3t 1363acAla0Y Y» i 5,056.8 5,051.0 5,051.0 0.0 5.8 5.8 0.0 0.0 0.0 0.0
TT3AC 1563A0NaTTh 6,8253| 67101 6,710.1 00| 1152 1152 0.0 0.0 0.0 0.0
- 283NaiT3-A=13Y I3Eé»i 160.0 160.0 160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“Ya00C - B3RS TARAUY>C 1310 T3ta0Na0Y 150,020.0| 150,020.0] 150,020.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1a00&07>C ~ BAC= - SAOABIYY»NC TSEémn 46924 46340 46340 00| 584 58.4 0.0 0.0 0.0 0.0
a3U3Y3-nA3ICY 3 13é3adAladYY»AC O»euu»hiaiu 12,884.4 12,884.4 12,834.4 50.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
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1 2 3 4 5 7 8 9 10
- D3U3T31-543(CY 1363[a0Ala0YY»1i 600.0 600.0 600.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3aAlaYY»h 1,354.4 1,354.4 1,354.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 1363a0Ala6YY» A 600.0 600.0 600.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[2064004=2T3Y I13Eé»h 350.0 350.0 300.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdIAC 3k 13é63acAlasyY»h 9,980.0 9,980.0 9,980.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 U=ey= -CW3T3Y 1363(a0Ala0YY»AC O»étp»iasl 2,639.6 2,639.6 2,639.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CU3I3Y 13é63(ajAla0Y Y»ii 2,639.6 2,639.6 2,639.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail =~ A3Na3YaiU (13é3lasAlasyy»i 1,500.0 1,500.0 1,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- P»U»Y3Y»C ~ 6303 TanasUY»Ac AYAS6CT Yana-aiu 1,500.0 1,500.0 1,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 4,738.6 4,738.6 4,558.6 180.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»n ™ N3- 466 762.6 762.6 582.6 180.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiasA»i 3,756.0 3,756.0 3,756.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 220.0 220.0 220.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek £E20°8 414,559.4 0.0 0.0 0.0 0.0 0.0 155,862.1 155,862.1( 258,697.3 258,697.3
31 Afasu
ééﬁ[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 414,559.4 0.0 0.0 0.0 0.0 0.0 155,862.1 155,862.1| 258,697.3 258,697.3
31 Afasu
- @aipeCIC3Y»i aa YCYSYEST3Y a» 1 313Y 414,559.4 0.0 0.0 0.0 0.0 0.0 155,862.1 155,862.1| 258,697.3 258,697.3
I3%U=3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéOB 4,915.6 4,643.6 4,643.6 0.0 272.0 272.0 0.0 0.0 0.0 0.0
31 Afasu
P2AT»f, é’lf3ﬁ"l'3lgﬁ fX?ﬁY>>ﬁ . 'I'él’ﬁUA»ﬁ, aﬁaYu ) 4,643.6 4,643.6 4,643.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=e3T=AUSY T =i USTSA1=TY»AC 1a0UG6 1CA=¢éT4asU
»Y UCUIBY6 YI31U3Upn
2[F IZEé»i 272.0 0.0 0.0 0.0 272.0 272.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1a1 I12Eé°d 8,642.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
D{EQL"JZ?ZU PExAOUCS 8,642.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
@?Z?U?Uoé °i é28g2i1a6a0gU°s 8,642.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- T3E3T3Y 6303 1anasUY»A 8,642.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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31 Atadu
- 1383 13Y 63A0=314R40UY»A 2,451.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A " 63A03TaRa0UY»A 1,500,731.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pEQU=120 ok2adUos 420,607.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- »aUC3T3Y USAT»Y%3-AZT3Y ISEé»i 420,607.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17 18 19
AU_2@°UA 12E6°5 551,765.0| 304,372.1| 235,782.2| 11,610.7| 33,007.8 33,007.8| 87,683.6 87,683.6] 271,460.7 271,460.7
31 Arasl
AUAZOET 12E6°5 551,765.0| 304,372.1| 235,782.2| 11,610.7| 33,007.8 33,007.8| 76,1826 76,182.6| 271,460.7 271,460.7
31 Arasl
2pE2120gk 1260210a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_A=Ual 1x2n1a0 SRES 1S T2000 NS T3 1SRV 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
~2RESTA0Y»NG SREST 130000 - NS 1»E3 1x3AV»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
CASh- SRR, 1n=U=13Y ERSEAEaUY»n - NS nasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
- p=030=00= 1Y, 13313V Ay n =13y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13631a0V»iC &= -3 T4l
12820a5A0a600°8K ©1 2a020sU°0k 551,765.0| 304,372.1| 235,782.2| 11,610.7 0.0 0.0 0.0 0.0 0.0 0.0
0cep” °3200
31 Arasl
P&y 212137 1SEéxh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
{1 ATaol
“I>i-» 0 CT 12ESA0AE0Y Y h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Tal&0y =t 13€31a0Aa0Y Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T340 1363a0Aa0Y Yon 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-233Mai=- A= 13Y ISEéh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17 18 19
- TatluC ~* =30 Tanasly»iac 1303 T3taoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- ZAT 3 - »AS T »EEZT3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an1a0a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 551,765.0| 304,372.1| 235,782.2 11,610.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- I3MES13Y 13¢3a0AIa6Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363[a0AIA0YY»1i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3aAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 1363a0Ala6YY» A 551,765.0| 304,372.1| 235,782.2 11,610.7 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[2064064=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdIAC 3k 13é63acAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CU3I3Y 13é63(ajAla0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- P»U»Y3Y»C ~ 6303 TanasUY»A¢ AYAS6CT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiasA»h ™ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
ééﬁ[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @aipeCIC3Y»i aa YCYSYEST3Y a» 1 313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA5Y Y»ACY
bé%QZPUééDUOB 0.0 0.0 0.0 0.0| 33,007.8 33,007.8 0.0 0.0| 271,460.7 271,460.7
31 Afasu
. ABUSRYAANY»A UCe=Y- 3CY T3S T»AAa6AlA0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
-AYA3OQ| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0 33,007.8 33,007.8 0.0 0.0 271,460.7 271,460.7
USTSAT=TY»CY
31 Afasu
- AYA3C')9_|- ASUSRYARNY»f a» T 313Y " N3U3IYu=3(CY 43 0.0 0.0 0.0 0.0 33,007.8 33,007.8 0.0 0.0 271,460.7 271,460.7
3¢ WASCY 13U T»RAA0AIYY»ACY
€a0K2E2T2U Ua=2éTU®s 21 IT°U&2Aab21U%s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 Afadu
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10 11 12 13 14 15 16 17 18 19
Ba0CE=1>7 0-VAAPY 1h=U= 157 Sin =R=Tn aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (uléoc»Co)
31 Atadu
T2EVASE T Yon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0] 76,182.6 76,182.6 0.0 0.0
31 Atadu
P31, élje‘ﬁ"l'31()ﬁ I'X?ﬁY»ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éT14aiU
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0] 76,182.6 76,182.6 0.0 0.0
a3NA06 1T3I0Y UGGAdY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
31 Atadu
DﬁgapszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
31 Atadu
Dc"qﬂoé °7 pEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUnAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q‘Oﬂf’UZ‘UOé o1 é28g21a0a000°s 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
31 Atadu
- 1383 13Y 63A0=314R40UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A " 63A03TaRa0UY»A 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
2UE pEQU=120 ok2adUos 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- »aUC3T3Y USAT»Y%3-AZT3Y ISEé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20 21 22 23 24 25 26 27
AU)ZQOUA 12Eé°5 795,981.7 795,981.7 3,477,929.8 3,477,929.8| 114,466.7 114,466.7 2,451.5 2,451.5
3 A4l
AUAZ20LT 12Eé°5 795,981.7 795,981.7 3,477,929.8 3,477,929.8| 114,466.7 114,466.7 0.0 0.0
3 A4l
2pE2T2Ugk 12802Tda0AUasU 0.0 0.0 2,568,367.5 2,568,367.5 0.0 0.0 0.0 0.0
3 A4l
_ASBUAT 1x3i140 SRE3 13 T30»f " NS T»E3 Tx3AY»0 0.0 0.0 2,568,367.5 2,568,367.5 0.0 0.0 0.0 0.0
3 ATasl
- ZBE3'I'é(~)Y»ﬁQ SREST3T3A0»A " NS T»E3B Tx3AY»f 0.0 0.0 2,159,544.1 2,159,544.1 0.0 0.0 0.0 0.0
- 43037 RaUY»A, 1A3UST3Y EASEA4&8AUY»A " N3 T al 0.0 0.0 247,940.2 247,940.2 0.0 0.0 0.0 0.0
x3fAY»f
- Z3O3U36C3T3Y, 13Y3I3Y 7 A1 33Y 3 0.0 0.0 160,883.2 160,883.2 0.0 0.0 0.0 0.0
1363140V»AC A=A -3 TR&U
12&820a0AUasuUCBE ©1 2462UgU°dA 0.0 0.0 427,603.3 427,603.3 0.0 0.0 0.0 0.0
0ceg” °daid
3 A4l
P3AAYST313Y I1SEé»f 0.0 0.0 203,506.0 203,506.0 0.0 0.0 0.0 0.0
3 ATasl
TIY»h-»> WGl 12631a0Aa0Y VR 0.0 0.0 86,016.7 86,016.7 0.0 0.0 0.0 0.0
- TAU&Y3t 1363acAla0Y Y» i 0.0 0.0 1,619.2 1,619.2 0.0 0.0 0.0 0.0
“T2AC 1363 aNaYY»h 0.0 0.0 21,000.0 21,000.0 0.0 0.0 0.0 0.0
- 28341 =-A=13Y 1SR 0.0 0.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
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20 21 22 23 24 25 26 27
- TatluC ~* =30 Tanasly»iac 1303 T3taoAlasy 0.0 0.0 57,180.1 57,180.1 0.0 0.0 0.0 0.0
- ZAT 3 - »AS T »EEZT3Y I3Eé»h 0.0 0.0 35,490.0 35,490.0 0.0 0.0 0.0 0.0
an1a0a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 0.0 0.0 12,000.0 12,000.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 0.0 0.0 30,500.0 30,500.0 0.0 0.0 0.0 0.0
31 Afasu
- I3MES13Y 13¢3a0AIa6Y Y» i 0.0 0.0 500.0 500.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363[a0AIA0YY»1i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3aAlasYY»h 0.0 0.0 6,000.0 6,000.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 1363a0Ala6YY» A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[2064064=2T3Y I13Eé»h 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdIAC 3k 13é63acAlasyY»h 0.0 0.0 22,000.0 22,000.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 83,000.0 83,000.0 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CU3I3Y 13é63(ajAla0Y Y»ii 0.0 0.0 83,000.0 83,000.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 25,000.0 25,000.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- P»U»Y3Y»C ~ 6303 TanasUY»A¢ AYAS6CT Yana-ail 0.0 0.0 25,000.0 25,000.0 0.0 0.0 0.0 0.0
a=Na=vail
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 73,597.3 73,597.3 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiasA»h ™ N3 - 466 0.0 0.0 20,000.0 20,000.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»ii 0.0 0.0 50,597.3 50,597.3 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 0.0 0.0 3,000.0 3,000.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 795,981.7 795,981.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
ééﬁ[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 795,981.7 795,981.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @aipeCIC3Y»i aa YCYSYEST3Y a» 1 313Y 795,981.7 795,981.7 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA5Y Y»ACY
bé%QZPUééDUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
. ABUSRYAANY»A UCe=Y- 3CY T3S T»AAa6AlA0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
-AYA3OQ| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSAT=TY»CY
31 Afasu
- AYA3C')9_|- ASUSRYARNY»f a» T 313Y " N3U3IYu=3(CY 43 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY 13U T»RAA0AIYY»ACY
€a0K2E2T2U Ua=2éTU®s 21 IT°U&2Aab21U%s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 Afadu
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20 21 22 23 24 25 26 27
Ba0CE=1>7 0-VAAPY 1h=U= 157 Sin =R=Tn aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (uléoc»Co)
31 Atadu
T2EVASE T Yon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 481,959.0 481,959.0| 114,466.7 114,466.7 0.0 0.0
31 Atadu
P31, élje‘ﬁ"l'31()ﬁ I'X?ﬁY»ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 0.0 0.0 3,421.7 3,421.7 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éT14aiU
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 473,537.3 473,537.3| 114,466.7 114,466.7 0.0 0.0
a3NA06 1T3I0Y UGGAdY»h 0.0 0.0 5,000.0 5,000.0 0.0 0.0 0.0 0.0
aa lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 2,451.5 2,451.5
31 Atadu
DﬁgapszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 2,451.5 2,451.5
31 Atadu
Dc"qﬂoé °7 pEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUnAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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> > > > l(:‘): i = l(:‘): i =
gl | ok [ gl | gL | = 32 = Big
ailes [ gL &L ] 3 08 5 ag
sa | Sa |35l el # Th ? g
(e o ® @ °Q =- 0 fo) =)
g L8 TE ] < wn < wn
& &
B | 14 | 15 | 16 17 18 19 20
AU_2poUA 126655 3.2100| 2,8200] 825.0] 1,0800| 50,4000 50,400.0| 249,449.6 249,429.6
=2 Af 0l
AUAZOET 12E6°5 3.2100| 2,8200] 825.0| 1,0800| 50,4000 50,4000| 249,449 249,449.6
=22 Afaol
5202p0a500°5 3,2100| 2,8200| 825.0| 1,0800 0.0 0.0] 249,449.6 249,449.6
22 Ataol
AVA=6CT TRSUSRVARNY > Bt 2137 N1 121G SF 3,2100| 2,8200| 825.0| 1,0800 0.0 0.0] 249,449.6 249,449.6
U=T=2A=1V»A0Y
22 Af ol
T AVASGCT BRI >80T NSUSN OVoRCY 00] 00 00| 00 00 0.0 0.0 0.0
T AVAZ6CT TR=USTVARNT>A B 1217~ N2USNI=KY &4 00| 00| 850 00 0.0 0.0] 249,449.6 249,449.6
26 TASGY TSRS TH>AAMAYACY
AVASSGT TRSUSHVARNY» B 1 STY ~ NSUSN Gk 00] 00| 00 00 0.0 0.0 00 0.0
3¢ WASKY TSRS T>AAAACY
- SEAVA=6CT 1h=U=RYarNT»h 3,2100| 2,8200] 0.0 1,0800 0.0 0.0 0.0 0.0
20E 12E6°5 00] 00| 00| 00| 504000 50,400.0 00 0.0
=2 At ol
DS, ASHTS1CH TxonT>n~ Tailko, ARaVl_ ‘ 00] 00| 00| 00| 504000 50,4000 00 0.0
12621202 T2Apsh U2 T2AL2TVSAC 140006 TCR=61 450
»¥ UgU=Y6 YT=w0=0p
ZET=Eémn 00] 00| 00 00 0.0 0.0 00 0.0

20la6e=T 02-05-01
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 03 u=3AYC 01
EUUC 01 126G TA=-fxAC - TaT N2 =T =1 (=W T=6a00Y»AC T»AT=YaUY Aew
[SE6»AC WY 1»63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

P2i»Ei3IN1

200a56=3T N 03-01-01

20lae=T 03-01-01

=1 ATaiU Aer TA= - finfig
D 3VOYS-fivfiC P3E3ASTST3Y 13 -C T3 TalSUSASYCRY»AC
KESYTY»AC TAS-faAlsY | aslasvaAisy 3a3faial Owétp»iiasy
AY1=U»YA
1=eC — — —
PALT=1C =Y T=V400A - &0U=HA 3 ATal A 3 ATal Ae 30 ATao0 A
(== - I3 T3a0V»fC - 137 3140V»AC - 31 3Ra0V»fC
1f=0Y»A4r) 2 > 2 > 2 >
) = ) [ ) [
= 2 [l 3% = g [l 3% = = [l 3%
w ) 2 w ) 2 w ) 2
g o g o g w MO
< L % < L % < L 9
a a a
1 2 4 6 7
AU_2g°UA 12E&°5 40,736,909.0| 797,322.7 797,322.7| 36,413,016.8]  36,413,016.8]  236,230.0 236,230.0
31 ATas0
AUAZSET 12E&6°98 40,736,909.0| 797,322.7 797,322.7| 36,413,016.8|  36,413,016.8]  236,230.0 236,230.0
32 ATasl
2pE=T20pk 120021620A0a00 34,789,264.0 0.0 0.0] 31,727,460.2|  31,727,460.2 0.0 0.0
31 ATas0
_ABUAT 1x2N140 SRES 1 ST200>0 N2 152 IxSAY»h 34,789,264.0 0.0 0.0] 31,727,460.2|  31,727,460.2 0.0 0.0
32 ATasl
“2RESTA0V»NC SRES TS T30000 N3 1262 1X3AV o 34,616,077.2 0.0 0.0| 31,554,2734| 31,554,273.4 0.0 0.0
- 83030360313, 1313137 - a» 1313y 3E 104,718.1 0.0 00| 1047181 104,718.1 0.0 0.0
136340V»Mi¢ A=A -3 wiail
-~ 2E 120031 nabA&IYY»n 68,468.7 0.0 0.0 68,468.7 68,468.7 0.0 0.0
1262020A0a600°3k ©1 2a020s0°3k 4,939,518.7| 797,322.7 797,322.7| 3,782,857.7 3,782,857.7|  236,230.0 236,230.0
0°eg” °5a00
32 ATasl
P2RaIV 12127 12Eérh 1,374,370.3 0.0 00| 1,372,429.4 1,.372,429.4 0.0 0.0
32 ATasl
IR 1T 1263la0AaY Vi 902,804.4 0.0 00| 902,804.4 902,804.4 0.0 0.0
-~ TaUAY3E 12631aNasy Yo 71,170.8 0.0 0.0 71,030.8 71,030.8 0.0 0.0
“T3A0 1563a0Na0Y Vi 298,763.8 0.0 00|  296,962.9 296,962.9 0.0 0.0
-233ar=-/=13Y 1SEé»n 40,000.0 0.0 0.0 40,000.0 40,000.0 0.0 0.0
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20lae=T 03-01-01

1 2 3 4 5 6 7
- q&8l0C T SRS TanaiUY»AC T30 13ta0Ala0Y 29,373.1 0.0 0.0 29,373.1 29,373.1 0.0 0.0
- 2R3 AT »EE3T3Y 13Eé»i 32,258.2 0.0 0.0 32,258.2 32,258.2 0.0 0.0
an1a0a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 348,366.2 0.0 0.0 335,020.8 335,020.8 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 130,900.4 0.0 0.0 130,900.4 130,900.4 0.0 0.0
31 Afasu
- P33 T3Y 13¢3aiAasYY»i 13,638.9 0.0 0.0 13,638.9 13,638.9 0.0 0.0
- B3U3T30-43(CY 1363a0AlanYY»h 15,815.0 0.0 0.0 15,815.0 15,815.0 0.0 0.0
- DO ISTT313Y 1363(aAla0YY»ii 8,081.5 0.0 0.0 8,081.5 8,081.5 0.0 0.0
- T3EST35ST13Y 13¢3aNasYY»h 665.0 0.0 0.0 665.0 665.0 0.0 0.0
- T»Y6303(CY " NBYASICY eYY1C 13¢3atAladyY»fh 6,000.0 0.0 0.0 6,000.0 6,000.0 0.0 0.0
- U»AlT3[3064065313Y I13Eé»h 20,000.0 0.0 0.0 20,000.0 20,000.0 0.0 0.0
- AYIN3YAGA pYadlAC 3 1=3é63(a0Ala0Y Y»ii 66,700.0 0.0 0.0 66,700.0 66,700.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a0Ala0YY»AC Onéup»iiasl 1,000.0 0.0 0.0 1,000.0 1,000.0 0.0 0.0
31 Afasu
- @363 -CW 3I3Y 13¢3aiAlasYY»i 1,000.0 0.0 0.0 1,000.0 1,000.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 36,036.9 0.0 0.0 36,036.9 36,036.9 0.0 0.0
YlaoA»fi)
31 Afasu
- b»YO»AC " T3¢€al0Y»AC AYA=6CT Yana-ail ~ A=3Na3Yail 5,000.0 0.0 0.0 5,000.0 5,000.0 0.0 0.0
- D»U»Y3Y»AC " 6303 TanasUY»AC AYAS6CT Yana-aiu 31,036.9 0.0 0.0 31,036.9 31,036.9 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 3,048,844.9| 797,322.7 797,322.7| 1,907,470.2 1,907,470.2 236,230.0 236,230.0
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 621,727.2 0.0 0.0 555,153.1 555,153.1 0.0 0.0
- TA3Y8AART3(CY YlaiA»h 1,149,397.0 0.0 0.0 1,108,149.1 1,108,149.1 0.0 0.0
- I»Y6303{CY " N3YA3ICY 8YYLC YIAlA»i 164,678.7 0.0 0.0 164,678.7 164,678.7 0.0 0.0
- B3TAT YAST3I3(CY 3[ YiaA»i 1,113,042.0( 797,322.7 797,322.7 79,489.3 79,489.3 236,230.0 236,230.0
eas” é/E?/EZUoé 54,7111 0.0 0.0 54,711.1 54,711.1 0.0 0.0
31 Afasu
éé\é[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 54,7111 0.0 0.0 54,711.1 54,711.1 0.0 0.0
31 Afasu
- ééf]pé(;lQE‘Y»ﬁ 44 yCY3YE3T3Y &»T313Y 54,7111 0.0 0.0 54,711.1 54,711.1 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&69006 44,2775 0.0 0.0 16,075.9 16,075.9 0.0 0.0
31 Afasu
. ﬁ3~U3B‘:(éﬁNY>)ﬁ UCe3%-=3CY T3 T»NAaiAAsYY»ACY 1,139.7 0.0 0.0 1,139.7 1,139.7 0.0 0.0
31 Afasu
-AYA3OC| 1A3U3RYAANY»A UCe3Y- 3(CY 1,139.7 0.0 0.0 1,139.7 1,139.7 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YNSTI31C 3F 43,137.8 0.0 0.0 14,936.2 14,936.2 0.0 0.0
USTSAT=TY»CY
31 Afasu
- 2[E AYAZOCT 1A3U3RYAANY»h 43,137.8 0.0 0.0 14,936.2 14,936.2 0.0 0.0
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20lae=T 03-01-01

1 4 5 7
€a0K2E2T2U Ua2éTU®s 21 IT°U&2Aab21U°s 720,559.9 0.0 0.0 643,334.1 643,334.1 0.0 0.0
=1 ATaiU
Ga0C3E213Y Sa3Nai alAlRY YA3&TY»h 23,500.0 0.0 0.0 23,500.0 23,500.0 0.0 0.0
SR YEL
V3T WV I »EaRANY»ACY 1nSUAT TxSATa0 12,5000 0.0 0.0 12,500.0 12,500.0 0.0 0.0
840C3E3T3Y =a3NaraiAIBY Tx3AY»i
- @A0C3E3T3Y SA3NATAABY pY»0»Y YA3E Y»h 11,000.0 0.0 0.0 11,000.0 11,000.0 0.0 0.0
136340AladYY»i U=rai6a0Y»icy
Ga6CIEST3Y 0-VAASY TA3U3T3Y ST 3N aA=UN 697,059.9 0.0 00| 6198341 619,834 .1 0.0 0.0
YaS&TY»h (Uadig»Co)
S YEL
T2EVASE Vo0 HabenCo 697,059.9 0.0 00| 6198341 619,834.1 0.0 0.0
2UE 12Eé°d 188,577.8 0.0 0.0 188,577.8 188,577.8 0.0 0.0
=1 ATaiu
D3AT»A, &SAW31CA Tx3AY»A " wail»i, afava 23,963.0 0.0 0.0 23,963.0 23,963.0 0.0 0.0
T2é63T3A03Y T3Apwsh UST3A13TY»AC Ta0UCo TChizéTaiu
»Y UCUI=Y6 YT=wU=0p
2 I3Eé»f 164,614.8 0.0 0.0 164,614.8 164,614.8 0.0 0.0
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 03 u=3AYC 01
EUUC 01 126G TA=-fxAC - TaT N2 =T =1 (=W T=6a00Y»AC T»AT=YaUY Aew
[SE6»AC WY 1»63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

S[ATA0U ASH 175 fofiC

PP &»r3T3Y 136313003y
U3AUCYY»AC
T3S T»NA4a0AIA6Y Y »1iC
R»YU»AC —~ RCYASAIAGYY»AC,
CYd&»& Y= 13/ an=3-ailv
VEYSTEARY Opbs TH oG

pb au, Bb T2 221 TiAwé»A, UCeCY, 3T73- 7P
4EWCI3YaARY UCeCY, 3=, -[E=T40
A3ET3Y 3YOYST3WCY T»Y6=20=(CY
TH»EYCT3IC O»étpr»Al3YY 3¢3Toxka0
Ya=3w3Tai T340 6a=3¢a0313Y
T3A»AC TaTae=-aiU=3iv»nA 2 T30 3
Taraesy »rar N=03ycysvesranlsy

ot 2 e AT e 3
asSNa3YadAlasy i7=-C
PALTZIC 3YT3V45UA 3 Ataol Aer 3 ATaoU Aew

\— T3 3ra0Y»AC \— T3 3na0Y»iC

= — =

0 S 0 o5

= iZ g = ;%_ =

<< @ TS << o8

~>Q_ lmC 1& \~>(§ ‘>£ ~§3 lg

S5 -2 0 S nmn

) N o= ) 5

d oM O d n

> D - > > w

< L9 < 2y

: G R
a

8 10 11
AU)ZQOUA 12Eé°5 3,262,137.9 3,262,137.9 28,201.6 28,201.6
3 A4l
AUAZ20LT 12Eé°5 3,262,137.9 3,262,137.9 28,201.6 28,201.6
3 A4l
2pE2T2Ugk 12802Tda0AUasU 3,061,803.8 3,061,803.8 0.0 0.0
3 A4l
_ASBUAT 1x3i140 SRE3 13 T30»f " NS T»E3 Tx3AY»0 3,061,803.8 3,061,803.8 0.0 0.0
3 ATasl
- ZBE3'I'é(~)Y»ﬁC SREST3T3A0»A " NS T»E3B Tx3AY»f 3,061,803.8 3,061,803.8 0.0 0.0
3030260213, 13T S15Y - &1 =15Y Sk 0.0 0.0 0.0 0.0
1363la0V»AC A=A -3 TR&U
- 2F T3A031RAAASYY»A 0.0 0.0 0.0 0.0
12&820a0AlasuUCBE ©1 24a62UgU°dA 123,108.3 123,108.3 0.0 0.0
0°Peg” °dad
3 A4l
P3AAYST313Y I1SEé»h 1,940.9 1,940.9 0.0 0.0
3 A4l
“IY»h-» WGl T2631a0Aa0Y YA 0.0 0.0 0.0 0.0
- TAU&Y3t 1363acAla0Y Y» i 140.0 140.0 0.0 0.0
- 1340 13é3a0AladYY»ii 1,800.9 1,800.9 0.0 0.0
- 283NaT3-A=13Y I3Eé»i 0.0 0.0 0.0 0.0

20lae=T 03-01-01
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8 9 10 11
- q&8l0C T SRS TanaiUY»AC T30 13ta0Ala0Y 0.0 0.0 0.0 0.0
- 2R3 AT »EE3T3Y 13Eé»i 0.0 0.0 0.0 0.0
an1a0a00Y»MC ~* RAc= - SlAGAAIYY»AC 1S Eéxi 13,345.4 13,345.4 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 0.0 0.0 0.0 0.0
31 Afasu
- P33 T3Y 13¢3aiAasYY»i 0.0 0.0 0.0 0.0
- B3U3T30-43(CY 1363a0AlanYY»h 0.0 0.0 0.0 0.0
- DO ISTT313Y 1363(aAla0YY»ii 0.0 0.0 0.0 0.0
- T3EST35ST13Y 13¢3aNasYY»h 0.0 0.0 0.0 0.0
- T»Y6=303(CY " NBYASICY 8YYLC 13¢3[A0AlA0Y Y»i 0.0 0.0 0.0 0.0
- U»AlT3[3064065313Y I13Eé»h 0.0 0.0 0.0 0.0
- AYIN=Va6H pYadlAc 3E 1=363a0Alaiy Y»h 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0
31 Afasu
- @363 -CW 3I3Y 13¢3aiAlasYY»i 0.0 0.0 0.0 0.0
AYA36CT Yana-ail ~ &3Na=3YaoU (13¢3/asAlasyY»h 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- b»YO»AC " T3¢€al0Y»AC AYA=6CT Yana-ail ~ A=3Na3Yail 0.0 0.0 0.0 0.0
- D»U»Y3Y»AC " 6303 TanasUY»AC AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 107,822.0 107,822.0 0.0 0.0
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 66,574.1 66,574.1 0.0 0.0
- TA3Y8AART3(CY YlaiA»h 41,247.9 41,247.9 0.0 0.0
- I»Y6303{CY " N3YA3ICY 8YYLC YIAlA»i 0.0 0.0 0.0 0.0
- B3TAT YAST3I3(CY 3[ YiaA»i 0.0 0.0 0.0 0.0
eas” é/E?/EZUoé 0.0 0.0 0.0 0.0
31 Afasu
éé\é[{éQ1Q3Y'»ﬁ A>T 313 I3W3T»A&4a0AIAIYY»ACY 0.0 0.0 0.0 0.0
31 Afasu
- ééf]pé(;lQE‘Y»ﬁ 44 yCY3YE3T3Y &»T313Y 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&69006 0.0 0.0 28,201.6 28,201.6
31 Afasu
. ﬁ3~U3B‘:(éﬁNY>)ﬁ UCe3%-=3CY T3 T»NAaiAAsYY»ACY 0.0 0.0 0.0 0.0
31 Afasu
-AYA3OC| 1A3U3RYAANY»A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YNSTI31C 3F 0.0 0.0 28,201.6 28,201.6
USTSAT=TY»CY
31 Afasu
- 2[E AYAZOCT 1A3U3RYAANY»h 0.0 0.0 28,201.6 28,201.6

20lae=T 03-01-01
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8 9 10 11
€a0K2E2T2U Ua2éTU®s 21 IT°U&2Aab21U°s 77,225.8 77,225.8 0.0 0.0
=1 ATaiU
Ga0C3E213Y Sa3Nai alAlRY YA3&TY»h 0.0 0.0 0.0 0.0
SR YEL
- TY3CY WY »eaiAlasYY»ACY TA3UAT Tx3AT140 0.0 0.0 0.0 0.0
840C3E3T3Y =a3NaraiAIBY Tx3AY»i
- @A0C3E3T3Y SA3NATAABY pY»0»Y YA3E Y»h 0.0 0.0 0.0 0.0
136340AladYY»i U=rai6a0Y»icy
Ga6CIEST3Y 0-VAASY TA3U3T3Y ST 3N aA=UN 77,2258 77,2258 0.0 0.0
YaS&TY»h (Uadig»Co)
S YEL
T2EVASE Vo0 HabenCo 77,2258 77,2258 0.0 0.0
2UE 12Eé°d 0.0 0.0 0.0 0.0
=1 ATaiu
D3AT»A, &SAW31CA Tx3AY»A " wail»i, afava 0.0 0.0 0.0 0.0
T2é63T3A03Y T3Apwsh UST3A13TY»AC Ta0UCo TChizéTaiu
»Y UCUI=Y6 YT=wU=0p
2 I3Eé»f 0.0 0.0 0.0 0.0

20lae=T 03-01-01
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y TSEE»AC - anl=éeY3T3Y 1263134 -03Y 03 u=AY¢ 01

EUKGC 02 136G 1A= -AvfiC - Tal N2 3w 121 (3 TT20a00V»AC T»AT=Va0Y AT
ISEe»AC TV 1»63-Cr3T3Y 1363T3h- 03V N4 T2 1V»A¢

D‘? »iI3IN1
20i466=3T N 03-01-02

S ATa0l ASH 1A= - fofiG

2y 3CY BT T3 - HABY
=5=NaraiU

=1 ATaU Aer

=1 Afadu

AVIZ0»YA - TSW3HA0VAC
I 130 B =
PALTSIC 3V T3YaiUA - 40US7iA ; o
(V== = eTle
1A3UY»Aar) < 8 & ’foﬁ Rt
I mR
7 IR
g b o
<L :0)_ % O\
2"
1 2 3
AU_=goUA 17E6°5 20,216,956.3| 20,216,956.3|  20,216,956.3
s ATail
AUA=GAT 12E6°53 20,065,456.3| 20,065,456.3|  20,065,456.3
3 Afasl
2PEZT12U0k 1230216806A00U 16,541,095 3| 16,541,0953|  16,541,2953
3 Afasl
_AUAT Tx2R140 SRES T =130 N2 1oE> [x2AT o 16,541,095 3| 16,541,0953|  16,541,2953
3 Afasl
TSRESTAOV-AC SEES TS 13000~ NS T3 1x3Avon 16,470,975 3| 16,470,9753|  16,470,975.3
TS 130> 1 MaOARY YT 70,320.0 70,320.0 70,3200
1282020AUR000°8K ©1 2a5=2UpUo8k 2.832,0405| 2,832,9405|  2,832,0405
0°eg” ©5200
3 Afasl
PSR STV [SEen 1,061,078.8| 1,061,078.8 1,061,0788
3 Afasl
IR N CT 1363 l0NEY Vo 755,8113| 7558113 755,811.3
TTAUAY St 1563 laoNaT Yo 96,2675 96,2675 96,2675
TTSAC 1565 RRaTYoh 187,0000]  187,000.0 187,000.0
T2E3Na13 1313V 1SEenh 22,000.0 22,0000 22,0000
AR TA0&0Y-C ~ Ric= - SIROARIVY»AC 1SEenh 400,000.0] _ 400,000.0 400,000.0
a3V - AT SE 1263TR0RAGTY»1C O»6Uymhatl 139,300.0]  139,300.0 139,300.0
3 ATasl
TDSUST3R-23KY 1563 RNaT T 104,800.0]  104,800.0 104,800.0
TUATSE0a066313Y 1SEénn 22,500.0 22,5000 22,5000
TAVARSYaon [y aiAC SF 1563IasNaT YR 12,0000 12,000.0 12,000.0
SEUSEY3 Cr o313 1563 R0RAVY-NC OneUmnail 30,000.0 30,000.0 30,000.0

20la66=T 03-01-02
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1 2 3
CO=eV= - T 313 1263 @AaYYoh 30,000.0 30,000.0 30,000.0
AVASOCT Vaia-ai0 ~ &=NAa=Yall (156> R0AR6VYn - 27,0000] 27,0000 27,000.0
YlaoA»fi)
31 Atadu
TPoYmAG  T36a0I0Y»1C AYASGCT Yana-al -~ a=Nasvail 14,0000 14,000.0 14,000.0
DUV 3YHIC  63AUS 1aRa0UY»AC AYASOCT Yana-ail 13,0000 13,000.0 13,000.0
asNa=vail
Ul:léﬁé»ﬁ (‘Zéﬁ‘?'Yl]Y»ﬁ) 1,175,561.7 1,175,561.7 1,175,561.7
31 Atadu
“NASEVIBT3CY VidoA»n ~ N2 - 2061 241,508.8|  241,508.8 241,508.8
- a0 TY T »E3T3Y SAA3YuY»A 27,009.3 27,009.3 27,009.3
TARSveRan T3y VIiaA n 590,836.0]  590,836.0 590,836.0
TT-763031CY ~ NSYASICY 8YYAC Yiathnh 277.33L1|  277,33L1 277,331.1
TPIT&T YASTII3KY 3L Vidshon 38,8765 38,876.5 38,8765
éélOfEZEZTZU Ua=2étuos ©i 1°Ué2Aab21U°s 33,357.6 33,357.6 33,357.6
31 Atadu
836CETY 0-VAARY 1=U=TY 3w =N=Tr &A= 00 33,3576 33,357.6 33,357.6
Ya3&uY»f (lase»Co)
31 Atadu
“2EVASETYon HaienCo 33,357.6 33,357.6 33,357.6
2UE 12E6°8 657,862.9|  657,862.9 657,862.9
31 Atadu
D3, é?ﬁjl""’lgﬁ fX?ﬁY>)ﬁ - 'I'él’f)\],&»ﬁ, af]aYu ‘ 7,500.0 7,500.0 7,500.0
IS63T3USY W3 USTSAS1Y»i¢ 120UC6 TCh=éT4
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 650,362.9 650,362.9 650,362.9
aa lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 151,500.0 151,500.0 151,500.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 151,500.0 151,500.0 151,500.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAVasuUCH 135,000.0 135,000.0 135,000.0
31 Atadu
“P»YniC - RCYASAIARY Y »1C RCY SNSAAAIAsY 25,000.0 25,000.0 25,000.0
- b»YU»AC " RCYASAIASYY»AC TS ACT 3t 1 »A3Yana-ail 110,000.0 110,000.0 110,000.0
Q?Z?U?UOB o1 é28g2i1a0a000°d 5,000.0 5,000.0 5,000.0
31 Atadu
- I3[ T3Y 63A0=14Ma0UY»A 5,000.0 5,000.0 5,000.0
2UE pAPU=120 0E2a00°0 11,5000[  11,500.0 11,500.0
31 Atadu
"2 VRGAST3Y NQUYST3Y UCcaoymh 7,500.0 7,500.0 7,500.0
- USE3-I3N»T3AT1T313Y ISEé»f 4,000.0 4,000.0 4,000.0

20la66=T 03-01-02



89T

§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y TSEE»AC - anl=éeY3T3Y 1263134 -03Y 03 u=AY¢ 01

EUKG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 TT20a00V»AC T»AT=Va0Y AT
ISEe»AC TV 1»63-Cr3T3Y 1363T37- 037 Na2T21V»A¢

S ATa00 AST 17=-fofiG

a» =13y a=3Nasvashl=y
=5=Narail

=1 ATl Asr

AVIZ0»YA - TS 3A40V»AC
I TG =
PALT3IC 3YT3YaiUA - G0UFIA K N
_(N=¥%=h = =
1R3UY»iar) < L
> n 8L
< e 0(?5 \—
1 2 3
AU 2@°0A 12Eé°8 2,765,776.6| 2,765,776.6 2,765,776.6
31 Aas0
AUAZ0ET 12E&°3 2,765,776.6| 2,765,776.6 2,765,776.6
3 Aad0
2pE21200k 12802T6a0A0a00 2,154,373.5| 2,154,373.5 2,154,373 5
3 Afadl
_A=UAT 1x=A140 SRES T 2120000 N2 12 130V »h 2,154,373.5| 2,154,373.5 2,154,373 5
3 Afadl
“2RESTA0Y»NC SREST 3130000 - NS 1»E3 1x3AV»N 2,154,373.5| 2,154,373.5 2,154,373 5
1262020AU2000°8K °1 2a52UgU°3k 4921182| 4921182 492,118.2
0oeg” ©5a00
3 Afadl
P2R&V=T=1=Y 1=Eé»h 59,3525 59,3525 59,352.5
3 ATadl
“UY»n-»> W GI 1263la0Ala0Y V>R 352742| 352742 35,274.2
- TaUavy =3 12630acAlany Y»n 3,792.8 3,792.8 3,792.8
“T3AC 13630a0AaYYon 15,0000|  15,000.0 15,000.0
-2330ai 3-A=13Y 13Eé»h 5,250.0 5,250.0 5,250.0
“MA0IC SRS TARA0UY»AC T=R0= I StatAlasy 355 355 355
Man1a00a00Y»NC ~ BAG= - SIAGAIADYY»AC 1S Eé»n 95,3000  95,300.0 95,300.0
a3[U=3v=- A=Y 2 1263a6A1E0YV»1C 060> abU 12,7000|  12,700.0 12,700.0
3 ATad0
SO IS T T313Y 1363/a0AR0YY»h 2,600.0 2,600.0 2,600.0
- T»Y6303ICY ~ N3YASKCY eYYig 13631a0Ala0y V»n 500.0 500.0 500.0
- U»Al336a065213Y 1SEé»h 3,600.0 3,600.0 3,600.0
—AYIN=Yaon pYadiAc 3F 1=2é3laiAlany vY»n 6,000.0 6,000.0 6,000.0

D‘? »iI3IN1
20i466=3T N 03-01-03

20lae=T 03-01-03
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1 2 3
2EUS6Y= -G =12 15650Ra0T V-G OveU»naiy 1,450.0 1,450.0 1,450.0
31 Atadu
- @3EY3S-CU3I3Y I363acAlabYY»ii 1,450.0 1,450.0 1,450.0
AYA:?'(')(;T Yana-ail - A3Na3YaiU (13é3lacAlasYY»i 78,000.0 78,000.0 78,000.0
YlaoA»fi)
31 Atadu
- b»YU»AC " T3¢ailoY»AC AYAZGCT Yaha-ail =~ A3Na3Yail 5,000.0 5,000.0 5,000.0
DUV 3YHIC  63AUS 1aRa0UY»AC AYASOCT Yana-ail 73,0000|  73,000.0 73,000.0
asNa=vail
UlaAon (ZAR=V0Y»1) 245315.7| 2453157 2453157
31 Atadu
“NASEVIBT3CY VidoA»n ~ N2 - 2061 744427 14.442.7 74,442.7
TARSYeAan T3y VIiAA n 1652081 1652081 165,208.1
TT-763031CY ~ NSYASICY 8YYAC Yiashnh 46775 46775 4,677.5
TPIT&T YASTII3KY 3k Viashon 987.4 987.4 987.4
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 18,0849| 18,0849 18,084.9
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 1Y Sin =R=ln aA=Up 18,0849| 18,0849 18,084.9
Ya3ewY»fi (laoc»Co)
31 Atadu
“2EVASETYon HaienCo 18,0849| 18,0849 18,084.9
2UE ~‘| ZEéoé 101,200.0 101,200.0 101,200.0
31 Atadu
DERI»N, AN S1CR Tx2AT»n T alkoR, ARaT0 ‘ 12000  1,200.0 1,200.0
I3e3|'3ﬁU3Y 'I'3‘ﬁp‘»ﬁ USI3A131Y»AC 1a0UCO ICA3éT14aiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 100,000.0 100,000.0 100,000.0

20lae=T 03-01-03



0LT

8§32 T3VC DBVASA» TAAIBY 2017 ATSTSVG B» W 3T3Y dic»C USeCYi 0D
Af»YOC 7-A1 NALT3TAT iaier T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U3Y 03 p=AVC 02
EUUC 01 126G TA=-fxAC - TaT N2 =T =1 (=W T=6a00Y»AC T»AT=YaUY Aew

TSE6»AC WY I »83-Cr3T3Y 1363137 U3Y (a1 T2 TV»AC

D‘? »iI3IN1
20i466=3T N 03-02-01

SiATa0l ASH 1A= - fofiC

TarT=1Ch CRE=VasAI=Y,
T3T3Y T36313AU3Y
NBYAS&» T3TI3Y

T30Sy T3e=T3a0=3Y

U=AUCYY»AC A=NA=YaI
(Y2E3/=2a5ARYY»AC

BAT=A=A [=63laAl=Y
N=U=1=h-
ETARSUSASVAIUY»AC
a=la=val

AVISUVA | SRESTST3WSAC U=ear)
oo e =j2 Aral A6 = ATl e
Pali=3I1C 3Y13YaiUA -adU=nA e LA e AV
(N=y%=H = 1=1=0a0Y»nC - I3 3Ra0Y»N¢
1HB0Y»AAT) = o = o
< -z 8 < -z 8
N MM A MM
o) - x () o) - % ()
U} e O U] e O
d =0 d n=0
s 0 4y s 0 iU
< 8 L= < 8 =)
ol ol
1 2 3 4 5
AU _2@°UA 12Eé°3s 8,608,096.5( 1,177,757.1 1,177,757.1| 7,430,339.4 7,430,339.4
3t ATadu
AUA20LT I12Eé°8 8,608,096.5( 1,177,757.1 1,177,757.1| 7,430,339.4 7,430,339.4
3t Aradu
2pE2T2Ugk 12802Tda0AUacU 7,704,571.3| 1,069,905.3 1,069,905.3| 6,634,666.0 6,634,666.0
3t Araiu
_ASUAT 1x31140 SRE3T2T3A0»A NS 1»E3 Tx3Y»f 7,704,571.3| 1,069,905.3 1,069,905.3| 6,634,666.0 6,634,666.0
S YEN
- 2RE31A0Y»AC SRES TS T3A0»f " NS I»ES Tx3AY»f 7,596,100.6 978,510.0 978,510.0| 6,617,590.6 6,617,590.6
- 203036C313Y, 1B3T3I3Y " T 3I3Y 3( 108,470.7 91,395.3 91,395.3 17,075.4 17,075.4
[36340V»AC &3A- 3 1fiail
j 2&20a0AlacuUUCSLE ©1 2a62UgU°dk 718,789.1 106,289.2 106,289.2 612,499.9 612,499.9
O°Peg” @oadd
3t Aradu
P3faiYST3T3Y ISEé»h 237,818.8 68,094.9 68,094.9 169,723.9 169,723.9
S YEN
- WY»f-» 0 Cl 13¢3(a0AlasYY»h 149,600.7 52,739.0 52,739.0 96,861.7 96,861.7
- TaU&sY3t 12¢3(a0Ala0Y Y» i 19,642.1 602.7 602.7 19,039.4 19,0394
“T2AC 1363aNaYY»h 47,4400 14,1132 14,1132  33,326.8 33,3268
- 233Nai3-A213Y ISEé»i 12,760.0 640.0 640.0 12,120.0 12,120.0
“91A00C ~ ESAUS TanaUV»AC T3M0= T Staoklany 8,376.0 0.0 0.0 8,376.0 8,376.0
Nan1400800Y»NC ~ BAc= - SROARYY»AC TSEe»h 48,587.7 4,601.7 4,691.7|  43,896.0 43,896.0

20lae=T 03-02-01
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1 2 3 4 5
ASU=Y= =0y S 156SA0Ra0T V2 OmeUiinady 13,1230 4,301.0 24,3010 8,822.0 8,822.0
31 Atadu
- D3UB130-53CY 13e3la0AlasYY»h 4,446.0 2,624.0 2,624.0 1,822.0 1,822.0
- DO BT T313Y 13é634AlaiYY»i 3,677.0 1,677.0 1,677.0 2,000.0 2,000.0
- U»Al1=3[20640653T3Y ISEé»i 5,000.0 0.0 0.0 5,000.0 5,000.0
2EUSEY= - Cu=T=Y 1565a0Ra0T Vi Ovelp»iaiy 3,000.0 0.0 0.0 3,000.0 3,000.0
31 Atadu
TO3eVE - 313 1363 &AaYYoh 3,000.0 0.0 0.0 3,000.0 3,000.0
AVASOCT Vaia-ai0 ~ &=NA=Yall (126 R0AR6V Y - 6,255.0 6,255.0 6,255.0 0.0 0.0
YlaoA»fi)
31 Atadu
TG UV 3VH1G 63U TARA0UY»AC AYAS6CT Yana- il 6,255.0 6,255.0 6,255.0 0.0 0.0
asNasvail
Ul:léﬁé»ﬁ (‘Zéﬁ‘?'Yl]Y»ﬁ) 410,004.6 22,946.6 22,946.6 387,058.0 387,058.0
31 Atadu
- 1A=é»YIBT3(CY YiaiA»f =" N=- 46w 96,973.5 4,289.7 4,289.7 92,683.8 92,683.8
- a0 TY T »E3T3Y SAA3YuY»A 2,038.5 0.0 0.0 2,038.5 2,038.5
- TA3Y8AART3(CY YlaiA»fi 278,831.9 13,969.0 13,969.0 264,862.9 264,862.9
TT-763031CY ~ NSYASICY 8YYAC Yiashnh 53555 4,687.9 4,687.9 667.6 667.6
TPIT&T YASTII3KY 3L Viashon 26,805.2 0.0 00| 26,8052 26,805.2
éélOfEZEZTZU Ua=2éTuos @i 1°eUé2Aab21U°s 157,589.5 0.0 0.0 157,589.5 157,589.5
31 Atadu
ééOC3E3-|-3Y 0-YalARY 13U T3Y 3 3N3waiAlSup 157,589.5 0.0 0.0 157,589.5 157,589.5
Ya3&uY»f (ulase»Co)
31 Atadu
- I»YESAARZIC BYOY»Ea0 N> 1SAT31 " W 3ACu3ICY 157,589.5 0.0 0.0 157,589.5 157,589.5
Ya&3&rY»h plasc»Co
2UE ~‘| ZEéoé 27,146.6 1,562.6 1,562.6 25,584.0 25,584.0
31 Atadu
D3AI»A, &SAW31CA Tx3AY»A ~ waill», afayo 27,146.6 1,562.6 1,562.6 25,584.0 25,584.0

1263 T3R0S T3fpsA USTSAISTV»AC TA00C6 TCR=6T43U
»Y UCUIBY6 YT=3wU=30p

20lae=T 03-02-01



cLT

§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 03 u=AYC 03
EUUC 01 126G TA=-fxAC - TaT N2 =T =1 (=W T=6a00Y»AC T»AT=YaUY Aew
[SE6»AC WY 1»63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

D‘? »iI3IN1
20i466=T N 03-03-01

20lae=T 03-03-01

S ATa0l AST 175 -fofiC

pp =(U=y=1a=T3Y
1=Y3RH3YC A=a=vail

BTV 2T0AC
N=AT=1CA T3 T=ha007
3&3Naial 1=3ée3aA=Y

Bb ¢3NU3Y31AST3Y
13Y3AH3YC
&3flase w30y yavr

DD 12T 3HASYY»C
&=Nasewr=3ICY yavs

a3Nasvail
AY13U»YA = Afasl Aer =1 A7ail Aew = ATa00 A8 = A7400 AW
S 138C - T2 3Ra0V»AC - T3 T3/a0Y»AC - T3 3Aa0Y»AC - T2 3Ra0V»AC
PA1T=1C =Y T=YaiUA -G0U=A = — = - = — =
(N=2=7 0 il o [ o il o -
1A3UY»Aar) RS 0 - = L8 = . R 6.-2:
b & g $©= > VA
=5 R =5 =3 = R = nw
3 > 3 20 3 > 3 -
f 0= f n f 0= f M ic
g 20 g e 0 g 20 g a0
< n- < n < n- < 8°g
o > o o
a f a
1 2 3 4 5 6 7 8 9
AU_2g°0A 12E&°5 10,569,239.6| 577,788.2 577,788.2| 1,351,386.8 1,351,386.8| 11,555.7 11,555.7| 169,490.3 169,490.3
=1 A7 400
AUAZSET 12E&6°98 10,569,239.6| 577,788.2 577,788.2| 1,351,386.8 1,351,386.8| 11,555.7 11,555.7| 169,490.3 169,490.3
= A7 40U
2pEZ212Ugk 12002T0a0AUa0U 9,071,956.1| 490,173.1 490,173.1| 1,111,308.0 1,111,308.0 0.0 0.0 0.0 0.0
= A7 40U
_ABUAT 1x30140 SREZ W 2T200>0 N2 12 IxSAY»h 9,071,956.1| 490,173.1 490,173.1| 1,111,308.0 1,111,308.0 0.0 0.0 0.0 0.0
= A7 400
S 2REST1A0V»NC SRES WS 12300»0 -~ N2 1»E2 1X3AY A 8,582,835.3| 463,015.7 463,015.7| 1,017,110.4 1,017,110.4 0.0 0.0 0.0 0.0
03030200212, 13213y - > n=13Y 3E 489,120.8| 27,157.4 27,.157.4|  94,197.6 94,197.6 0.0 0.0 0.0 0.0
126=2(40Y»AC &= - "3R4l
12820a6AUa600°8K ©1 2a020sU°0k 1,276,026.8| 87,145.1 87,145.1| 216,508.8 216,508.8 0.0 0.0 0.0 0.0
0°es” ©8260
= A7 40U
P2RaIV 12127 12Eérh 834,109.5| 21,613.0 21,613.0| 121,337.1 121,337.1 0.0 0.0 0.0 0.0
= A7 40U
~I»A-»> T CT 1363a0AIa0YY»h 347,144.8| 11,0314 11,031.4|  58,935.0 58,935.0 0.0 0.0 0.0 0.0
- Talasy =t 1=26=ashlasy Yo i 27,6486| 1,596.0 1,596.0 5,960.0 5,960.0 0.0 0.0 0.0 0.0
“T3AC 1=263a0Aa0Y Vi 447,389.0]  8,220.6 8,220.6]  46,560.0 46,560.0 0.0 0.0 0.0 0.0
“2&=Na1=-A=213Y 12E6»h 2,565.0 765.0 765.0 520.0 520.0 0.0 0.0 0.0 0.0
~YIA0ILC ~ 6302 1aNA0UY»AC 121021 SEa0AasY 9,362.1 0.0 0.0 9,362.1 9,362.1 0.0 0.0 0.0 0.0
ManTa00a0UY»1C ~ BACS - SIABARGYY»NC 12 Eé»h 47,528.7| 15,091.7 15,091.7 4,217.0 4,217.0 0.0 0.0 0.0 0.0
a3U3V= A0y 3 12631a0AA0Y Y»C 0»6tp»anl 100,137.9| 21,970.0 21,970.0|  26,444.0 26,4440 0.0 0.0 0.0 0.0
=1 A7 40U




€T

20lae=T 03-03-01

1 2 3 4 5 6 7 8 9
“DSUS13R-3310Y 15631a0Aa0YY o 46,7675 300.0 300.0 9,100.0 9,100.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(40Ala5YY » 16,736.4 5,880.0 5,880.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3éE3T3M313Y 1363(a0AladYY» 17,344.0 0.0 0.0 17,344.0 17,344.0 0.0 0.0 0.0 0.0
- U»AT3[36400531T3Y 13Eé»f 19,290.0 15,790.0 15,790.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1563 R0Aa0YI»MC O»6Up»iiall 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TO3eVE - 313 1363 AAaYYoh 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara-ai0 ~ &=N&=Yai (156 A0Ra Vi 251070 4,550.0 4,550.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
TPoYmAG  T36a0I0Y»1C AYASGCT Yana-al -~ a=Nasvail 10,0000| _ 3,000.0 3,000.0 0.0 0.0 0.0 0.0 0.0 0.0
DUV 3YHIC  63AUS 1aRa0UY»AC AYASOCT Yana-ail 15,1070| 15500 1,550.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
asNa=vail
Ul:léﬁé»ﬁ (‘Zéﬁ‘?'Yl]Y»ﬁ) 257,124.0| 23,920.4 23,920.4 61,403.7 61,403.7 0.0 0.0 0.0 0.0
31 Atadu
- 1A=é»YIBT3(CY YiaiA»f =~ N=- 46w 176,723.7 3,018.3 3,018.3 48,136.8 48,136.8 0.0 0.0 0.0 0.0
- TASY8AART3(CY YlaiA»fi 66,066.0| 20,452.0 20,452.0 12,350.0 12,350.0 0.0 0.0 0.0 0.0
TT-763031CY ~ NSYASICY 8YYAC Yiathnh 11,0143 4501 4501 916.9 916.9 0.0 0.0 0.0 0.0
TPIT&T YASTII3KY 3L Vidshon 3,320.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éc‘;;u‘)fEZE‘2 12U Uaz2étues ©i I°eué=2Aap21U°s 29,400.0 0.0 0.0 22,200.0 22,200.0 0.0 0.0 0.0 0.0
31 Atadu
B26CETY 0-VAARY 1i=U=TY 3w =N=Tr &A= 00 29,400.0 0.0 00| 22,2000 22,200.0 0.0 0.0 0.0 0.0
Ya3&uV»f (lase»Co)
31 Atadu
“2EVASETYon HaienCo 29,400.0 0.0 00| 22,2000 22,200.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 191,856.7 470.0 470.0 1,370.0 1,370.0| 11,555.7 11,555.7| 169,490.3 169,490.3
31 Atadu
P33T, é?ﬁjl""’lgﬁ fX?ﬁY>)ﬁ - 'I'él’ﬁUA»ﬁ, af]aYu ‘ 10,810.7 470.0 470.0 1,370.0 1,370.0 0.0 0.0 0.0 0.0
IS63T3USY W3fpsi USTSAS1Y»i¢ 120UC6 TCh=éT4
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 181,046.0 0.0 0.0 0.0 0.0] 11,555.7 11,555.7| 169,490.3 169,490.3




VLT

§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 03 u=AYC 03
EUUC 01 126G TA=-fxAC - TaT N2 =T =1 (=W T=6a00Y»AC T»AT=YaUY Aew
[SE6»AC WY 1»63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

S ATa0l AST 175 -fofiC

DD 1= W3SV Y»AAC
a3Nasvasl

31 AfasU A
T2 =RA0Y»AC

=1 Afadu

PALT=1C 3V T=VaiUA 3

3 K

S - -

] Ry

< ol

o

10 11
AU_2@oUA 126655 84500186  8450,0186
=i A4l
AUAZGET 12E6°5 84500186  8450,0186
30 Afail
ZPEZ1200k 12802 1686A0&00 74704750 7.470.4750
=i Afail
_RSUAT Ix20180 SRESTST30o0 N2 1= xSAYoh 74704750 7.470.4750
30 Afail
TERESTA0V-IC SIESTS TSR0 ~ NS 172 IxSAVoh 7.102,7002| _ 7.102,70922
T oS050=6CaTSY, IS STSY - iS5y SF 367,765.8 367,7658
[36310V»iC &3-S Al
12620a6AUa60U°BK ©1 2462003k 972,372.9 972,372.9
0°es” ©5a00
= Afail
PSRAV =112V ISEen 691,159.4 691,159.4
3} Afail
TR > CT 1SS aAaYon 277.178.4 277.1784
TaU&V St 156 RN IR 20,092.6 20,092.6
TTSAC 156 @NaTh 392,608.4 392,608.4
e RN A e 12800 1.280.0
“YEOC -~ ESR0= TARAIUTHAG 120 TSRsNaN 00 0.0
TanTa0a0Y>1C ~ Big= - SRINEIVY»C TSES» 28,2200 28,2200
aSIUV3 - AT SE 1 S6SRAY»1G O»6Uj» il 51,723.9 51,723.9

20lae=T 03-03-01



S.T

10 11
“DSUS13R-3310Y 15631a0Aa0YY o 37,367.5 37,367.5
- DO IBTT3T3Y 1363(40Ala5YY » 10,856.4 10,856.4
- T3E3T3AE213Y 1363aAlaYY»h 0.0 0.0
- U»AT3[36400531T3Y 13Eé»f 3,500.0 3,500.0
2EUSEY= -0 =T 1563 R0Aa0YI»MC O»6Up»iiall 12,019.7 12,019.7
31 Atadu
TO3eVE - 313 1363 AAaYYoh 12,019.7 12,019.7
AVAS6CT Vara-ai0 ~ &=N&=Yai (156 A0Ra Vi 17,450.0 17,450.0
YiaoA»h)
31 Atadu
TPoYmAG  T36a0I0Y»1C AYASGCT Yana-al -~ a=Nasvail 7,000.0 7,000.0
DUV 3YHIC  63AUS 1aRa0UY»AC AYASOCT Yana-ail 10,450.0 10,450.0
asNa=vail
Oléthoft (Z&F=YuY-h) 171,799.9 171,799.9
31 Atadu
“NASEVIBT3CY VidoAsn ~ N2 - 2061 125,568.6 125,568.6
TARSYeRan T3y VIiAA n 33,264.0 33,264.0
TT-763031CY ~ NSYASICY 8YYAC Yiathnh 9.647.3 9,647.3
TPIT&T YASTII3KY 3L Vidshon 3,320.0 3,320.0
é:‘;;u‘)fEZE‘2 12U Uaz2étues ©i I°eué=2Aap21U°s 7,200.0 7,200.0
31 Atadu
B26CETY 0-VAARY 1i=U=TY 3w =N=Tr &A= 00 7,200.0 7,200.0
Ya3&uV»f (lase»Co)
31 Atadu
“2EVASETYon HaienCo 7,200.0 7,200.0
2UE 12E6°8 8,970.7 8,970.7
31 Atadu
P33T, é?ﬁjl""’lgﬁ fX?ﬁY>)ﬁ - 'I'él’f)\],&»ﬁ, af]aYu ‘ 8,970.7 8,970.7
IS63T3USY W3fpsi USTSAS1Y»i¢ 120UC6 TCh=éT4
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 0.0 0.0

20lae=T 03-03-01
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 03 u=AYC 03
EUUC 02 126G Th=-fi»AC - TaT N2 =T =1 (= T=6a00Y»AC T»il=YaUY A6w
[SE6»AC WY1 »63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

P2i»Ei3IN1

20la66=T 03-03-02

200a56=3T N 03-03-02

S ATa0l ASH 1A= - fofiG

DD US40 Gi= TasYUY»fiC
A3 A&3YC
SRESTSTUC
&=N&=3YU3Y I3Eé»h

DRVACY ASTTAZYC.
-fiZé»Y[=T¢ a=a=vail

PP U=i14
GA= TABYUY»AC
A3RTas3ve
SRESTST3UC
T=7404a0AA0YY»AC
13- 36400

L33 T3Ra0AlAYY»ACY
AVL.ATT3T A3 -U3YCAY»fC,
+&f03 -» W Y»AC ~ TT3Y»AC
13A03 1 RasAlasy

AY1=30»YA — — — —
130 31 Afaol Aer 3 A7400 Aer 3 AT4i0 Aer 3 A74i0 Aer
Pa1i31C 3Vi3YaiUA - 40U=HiA - T=73740Y»AC - T3 340Y»1C w | 13 TsnadY»ic - T=13740Y»AC
(N=y%=H = b . b b
1H2UY»A4T) 0 , o 0> 0 , 0 -
= ‘LEyg_} % = If?:oﬁ ;% = ‘LEyg_} % = (?')_ I>,:
< 5 > ) = < -8 < 5 > f = < -
X o 3 om A S I o 3 om I no
) S - > 8 o 0 S S ) -
f nSSh f S " nSSh f VIS
d ISR d e d SIS d d
= U % R = UL = 8«
Som ) Som A
"
1 2 3 4 5 6 7 8 9
AU _2@°UA 12E6&°8 672,072.1| 262,440.0 262,440.0] 377,272.1 377,272.1] 1,860.0 1,860.0 15,500.0 15,500.0
3 A4l
AUAZ0ET 12E€°5 670,212.1| 262,440.0 262,440.0| 377,272.1 377,272.1 0.0 0.0 15,500.0 15,500.0
3 Aas0
2pE27120gk 1280210a0A0a00 197,335.1| 197,335.1 197,335.1 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
_A=0aT 1x3i140 SREZT2T3A0»1 N2 1= 1x3V»A 197,335.1| 197,335.1 197,335.1 0.0 0.0 0.0 0.0 0.0 0.0
3 Atas0
- ZRE3TA0V»AC SRE3T 313000~ NS T»E2 Tx3AY»A 183,017.7| 183,917.7 183,917.7 0.0 0.0 0.0 0.0 0.0 0.0
- p303030C3T3Y, 137313V -~ a1 313 3f 13,417.4| 13,417.4 13,4174 0.0 0.0 0.0 0.0 0.0 0.0
3e30a0Y»iC &3 3rnal
1282020AUa00UCBE ©1 2a020gU°BE 76,406.9| 60,906.9 60,906.9 0.0 0.0 0.0 0.0 15,500.0 15,500.0
Oceg” 8200
3 A4l
P31y =T=13Y 1=Eé»i 14,632.0| 14,632.0 14,632.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Aas0
S WY»h-» 1 Cl 1263asAlasy V»h 4,307.1] 4,307.1 4,307.1 0.0 0.0 0.0 0.0 0.0 0.0
NPV EIEE T 82.6 82.6 82.6 0.0 0.0 0.0 0.0 0.0 0.0
-134C 1=e3aAlayY»n 6,948.3| 6,9483 6,948.3 0.0 0.0 0.0 0.0 0.0 0.0
- 253041 = -A=13Y 13Eé»n 450.0 450.0 450.0 0.0 0.0 0.0 0.0 0.0 0.0
- qa0liC T ESAS TanabUY»AC 1310= 13taAlasy 2,8440| 2,844.0 2,844.0 0.0 0.0 0.0 0.0 0.0 0.0
Tanias0asUY»nC —~ RAc= - SlatAlacYY»AC 1SEé»h 18,7189| 18,718.9 18,718.9 0.0 0.0 0.0 0.0 0.0 0.0
A3U3V3-13CY SE 12631a0AIa0Y Y» NG O»eup»nail 22,241.0| 6,741.0 6,741.0 0.0 0.0 0.0 0.0 15,500.0 15,500.0
3 A4l




LlT

20la66=T 03-03-02

1 2 3 4 5 6 8 9
- I3MES13Y 13¢3a0AIa6Y Y 15,000.0 0.0 0.0 0.0 0.0 0.0 0.0 15,000.0 15,000.0
- D3UST31-43(CY 1363[a0AIA6Y Y1 1,235.0 1,235.0 1,235.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3aAlaYY»h 1,932.0 1,932.0 1,932.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 1363a0Ala6YY» A 500.0 0.0 0.0 0.0 0.0 0.0 0.0 500.0 500.0
- U»Ail3[2064004=2T3Y I13Eé»h 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3VYAHA UYANAC 3k 1=63lasAladYY»h 874.0 874.0 874.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?"C')C-I- Yana-ail - a3NAa3Yail (13é3ajAladyY»h 8,218.4 8,218.4 8,218.4 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- P»YU»iC " T3€40l0Y»AC AYASO6CT Yaia-ail " A3N&3Yaiu 4,000.0 4,000.0 4,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 6303 TanasUY»ic AYAS6CT Yana-ail = 4,218.4 4,218.4 4,218.4 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
Ul:léﬁé»ﬁ (‘Zéﬁ3Y’l‘JY»ﬁ) 12,596.6 12,596.6 12,596.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»h ~~ N3 - &6 2,151.3 2,151.3 2,151.3 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»i 9,292.0 9,292.0 9,292.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 1,153.3 1,153.3 1,153.3 0.0 0.0 0.0 0.0 0.0 0.0
362~QZPUQBDU°6 3,965.5 3,965.5 3,965.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
. AiBUSRYAANY»A UCe=Y- 3ICY T3S T»AAa0AB0YY»ACY 3,965.5 3,965.5 3,965.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
-AYA3OCI 1A3U3RYAANY»A UCe3Y- 3(CY 3,965.5 3,965.5 3,965.5 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
éaéﬁzE?TzU U&a2éTuU®s 21 IT°U&2Aapb21U°s 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
31 Afasu
éééC3E3-l-3Y 0-YaiAlRY 1H=3U313Y 3w 3N3rasAl=lu 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
Ya3&uV»h (lase»Co)
31 Afasu
- 2f YAZ& T Y»A piaic»Co 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 232.5 232.5 232.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
P3AT»f, é’lf—z‘ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ T 'I'él’f)UA»ﬁ, aﬁaYu ) 232.5 232.5 232.5 0.0 0.0 0.0 0.0 0.0 0.0
I=€3T=AUSY T =i USTSA1=TY»AC 1a0UG6 1CA=¢eT4asU
»Y UCUIBY6 YI31U3Upn
aa QEU?UéZTZU 21TEIUCBE T1a1 I12Eé°d 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0
31 Afasu
D/E@pz’l\?U PExAOUCS 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0
31 Afasu
Q?Z?U?Uoé °i é28g2i1a6a0gues 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0
31 Afasu
- T3EBT3Y 6303 1anaUY»A 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0




8.7

§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 03 u=AYC 03
EUUC 02 126G Th=-fi»AC - TaT N2 =T =1 (= T=6a00Y»AC T»il=YaUY A6w
[SE6»AC WY1 »63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

Pa1T=1C =Y i=YaslA

S[ATA0U ASH 175 fofiC

2y [x23ay=2Tah=Y
-ART»AAT T26= T2RCAY»ACY
Cii»Y6 U=Ta6=1
1363[a0AlasYY»AC 1C0=6
+4EN=T456400

3 ATaoU Aer
TS T=2Ra0Y»AC

=1 Afadu

\m
\©
<
>
. e
= 28
> (L
0 > ac
d n
=z 2
80
10 11
AU _2@°UA 12Eé&°s 15,000.0 15,000.0
=1 AT4iU
A‘UAZ(‘)/ET 12Eé°d 15,000.0 15,000.0
31 Afasu
2pE2T2Ugk 12802Tda0AUa0U 0.0 0.0
=1 ATaiu
. ﬁ3~Uél' >=n 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY» 0.0 0.0
31 Afasu
- 2RE3TA0Y»AC SRESTST3A0»1 " NS T»E3 Tx3AY»A 0.0 0.0
- 3030360C313Y, 13733V~ T 3I3Y 3 0.0 0.0
13¢30a0Y»AC &=h-"3hal
12&2Ua0AlauUUCHE 2T 250620gU°sE 0.0 0.0
0°ep” 234060
=1 ATasU
D?ﬁ?ﬁY?-l-'»’;l-?’Y' I3Eé»i 0.0 0.0
31 Afasu
- WY»fi-»WCT 13¢3aiAlasYY»i 0.0 0.0
- TaU&IY3E 136=3a0Ala0Y Yo i 0.0 0.0
- T3AC I13é3(aAla0Y Y»ii 0.0 0.0
- 283Nai3-[A313Y ISEé»i 0.0 0.0
- Fa8l0C T SRS TanaiUY»AC T30 13ta0Ala0Y 0.0 0.0
Tan1ai0asUY»AC ™ RAc= - SlastAlasYY»AC 1SEéx»f 0.0 0.0
a3U3Y3-n3(CY 3k 13é63(a0Ala0YY»AC O»éup»iaju 0.0 0.0

20la66=T 03-03-02
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10 11
- P33 T3Y 13¢3aiAa5YY»i 0.0 0.0
- DBUST30-53CY 1=3¢3a5Ala0Y Y»h 0.0 0.0
- DO ISTT3T3Y 1363(40AIa0YY»h 0.0 0.0
- T3EST35S13Y 13¢3aNasYY»h 0.0 0.0
- U»AlT3[3064065313Y I13Eé»h 0.0 0.0
- AYIN3YAHRA pYAdAC 3iE 13é63a0AlA5YY»1 0.0 0.0
AYA?"(')C-I- Yana-ail - a3NAa3Yail (13é3ajAladyY»h 0.0 0.0
YlaoA»fi)
31 Afasu
- b»YO»AC " T3¢éal0Y»AC AYA=6CT Yana-ail - A=3Na3Yail 0.0 0.0
- D»U»Y3Y»AC " 6303 TanasUY»AC AYAS6CT Yana-aiu 0.0 0.0
a=Na=vail
Ul:léﬁé»ﬁ (‘Zéﬁ\?'Yl]Y»ﬁ) 0.0 0.0
31 Afasu
- A=6»YIST3(CY YlaiA»h ™ N=- 406w 0.0 0.0
- TASYEAAN3(CY YiaiA»h 0.0 0.0
- T»Y6=303(CY " NBYASICY 8YYLC YiaiAni 0.0 0.0
bQ%QZPUééDUOB 0.0 0.0
31 Afasu
. AiBUSRYAANY»A UCe=Y- 3ICY T3S T»AAa0AB0YY»ACY 0.0 0.0
31 Afasu
~AVES ST TR USYARN R U037 5T o0 00
I3%U3T»A&40AIA6Y Y»ACY
éabﬁzE?TzU U&a2éTuU®s 21 IT°U&2Aapb21U°s 15,000.0 15,000.0
31 Afasu
éééC3E3-l-3Y 0-YaiAlRY 1H=3U313Y 3w 3N3rasAl=lu 15,000.0 15,000.0
Ya3&uV»h (lase»Co)
31 Afasu
- 2 YA3&W Y»h plaic»Co 15,000.0 15,000.0
=0F 12665 00 00
31 Afasu
P3AT»f, é’l?ﬁ"l'?’lgﬁ fX?ﬁY>>ﬁ T 'I'él’f)UA»ﬁ, aﬁaYu ) 0.0 0.0
I=€3T=AUSY T =i USTSA1=TY»AC 1a0UG6 1CA=¢eT4asU
»Y UCUIBY6 YI31U3Upn
aa QEU?UéZTZU 21TEIUCBE T1a1 I12Eé°d 0.0 0.0
31 Afasu
D/E@pzizU PExAOUCS 0.0 0.0
31 Afasu
Q?Z?U?Uoé °i é28g2i1a6a0gues 0.0 0.0
31 Afasu
- IS T3Y 6303 1anaiuy»h 0.0 0.0

20la66=T 03-03-02



08T

§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y T2EE»AC - anT=eYST3Y 1263131 -03Y 03 u=AYC 04

EUKC 01 136G 1A= -AvfiC - Tal N2 w30 121 (3 TT20a00V»AC T»AT=Va0Y AT
IBEe»AC TV -Cr3T3Y 1363T3h- 037 N4 T2 1V»i¢

D‘? »iI3IN1
20i466=3T N 03-04-01

20la6e=T 03-04-01

S ATa0 ASH 1A= - fofiC

PP 1= SE YAV
a=Na=vagl

PP 13T IE3YAAIBY
&=laser=icY yayr

B0 1SV SE A
T=na0aiAlasyyY»nc
131 - 20460

=1 ATl Asr

= ATaU Aer

= ATasl Aewr

AY1=(»YA h -/ 2 -/ N -/
o 13 = 13713/a0Y»AC = I137130a0Y»NAC = 13713/a0Y»AC
PATT3I1¢ 3YT3YajuA -40U=3nA LS > e > b= >
=i g 2 0 0
ASUY»AaT) ~><—E § *><—E § *><—E §
S il S il S il
g A g A g A
z ; z ; z ;
a8 a8 8
1 2 3 4 5 6 7
AU b~2®chA 12Eé°5 3,728,920.0| 3,611,982.1 3,611,982.1| 79,4379 79,437.9| 37,500.0 37,500.0
31 Afasu
A‘UAZ(‘)ET 12Eé°d 3,691,420.0| 3,611,982.1 3,611,982.1| 79,4379 79,437.9 0.0 0.0
31 Afasu
ZPEZ'I‘?UﬂE 12802Tda0AUasU 3,159,866.5| 3,159,866.5 3,159,866.5 0.0 0.0 0.0 0.0
31 Afasu
. ﬁ3~Uél' >=n 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY» 3,159,866.5| 3,159,866.5 3,159,866.5 0.0 0.0 0.0 0.0
31 Afasu
- 2RE3TA0Y»AC SRESTST3A0»1 " NS T»E3 Tx3AY»A 3,116,237.6| 3,116,237.6 3,116,237.6 0.0 0.0 0.0 0.0
- Z3O?L:J?ég3-l.3Y, 1IYI3Y 7 AT 3I3Y 3 43,628.9 43,628.9 43,628.9 0.0 0.0 0.0 0.0
13¢30a0Y»AC &=h-"3hal
I 2e20a0AUacUUCSE ©1 2a62UgU°skE 450,164.3| 450,164.3 450,164.3 0.0 0.0 0.0 0.0
O°eg” 2da00
31 Afasu
D?ﬁ?ﬁY?_I-3_I-3Y' I3Eé»i 158,001.8 158,001.8 158,001.8 0.0 0.0 0.0 0.0
31 Afasu
- WY»fi-»>WCT 13¢3aiAiasYY»i 83,591.4 83,591.4 83,591.4 0.0 0.0 0.0 0.0
- TaU&6Y3E 1=3é63(a0Ala0Y Y»ii 5,344.1 5,344.1 5,344.1 0.0 0.0 0.0 0.0
- T3AC I13é3(aAla0Y Y»ii 65,426.3 65,426.3 65,426.3 0.0 0.0 0.0 0.0
- 283Nai3-[A313Y ISEé»i 3,640.0 3,640.0 3,640.0 0.0 0.0 0.0 0.0
an1a0a00Y»MC ~* RAc= - SlAGAlAYY»AC 1SEéxi 8,328.6 8,328.6 8,328.6 0.0 0.0 0.0 0.0
a=u=y=-i=Cy Sk 1=63lajAlady Y»fi¢ O»éupxfiatl 60,098.6 60,098.6 60,098.6 0.0 0.0 0.0 0.0
31 Afasu
- P33 T3Y 13¢3aiAa5YY»i 3,000.0 3,000.0 3,000.0 0.0 0.0 0.0 0.0
- B3U3T30-43(CY 13¢3a0AlaYY»h 39,800.0 39,800.0 39,800.0 0.0 0.0 0.0 0.0




18T

20la6e=T 03-04-01

1 2 3 4 5 6 7
- DO ISTT313Y 1363(aAla0YY»ii 7,098.6 7,098.6 7,098.6 0.0 0.0 0.0 0.0
- U»AlI3[3064065313Y I13Eé»h 8,000.0 8,000.0 8,000.0 0.0 0.0 0.0 0.0
- AYIN3YAGA pYadlAC 3 1=3é63(a0Ala0Y Y»ii 2,200.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 42,359.0 42,359.0 42,359.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- b»YU»AC " T3¢€al0Y»AC AYA=6CT Yana- 4l ~~ A=3Na3Yail 10,000.0 10,000.0 10,000.0 0.0 0.0 0.0 0.0
- D»U»Y3Y»AC " 6303 TanasUY»AC AYAS6CT Yana-aiu 32,359.0 32,359.0 32,359.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 181,376.3 181,376.3 181,376.3 0.0 0.0 0.0 0.0
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 74,090.1 74,090.1 74,090.1 0.0 0.0 0.0 0.0
- TABYEAAN W 3(CY YIaiA»h 106,177.7 106,177.7 106,177.7 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY &YY1C YIAiA»fi 1,108.5 1,108.5 1,108.5 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 81,389.2 1,951.3 1,951.3| 79,437.9 79,437.9 0.0 0.0
31 Afasu
93ﬁ-l-»ﬁ, é’l?ﬁ"l'?’lgﬁ I'X?ﬁ_Y‘_»ﬁ . 'I;éﬁUN)ﬁ_,_éﬁéYU" . 1,951.3 1,951.3 1,951.3 0.0 0.0 0.0 0.0
1=e=T30U3Y 1=2p»fi UST=3A=1Y»AC 1a0UCo 1Ch=éTaiy
»Y UCUIBY6 YI3T1U3Upn
2 ISEé»f 79,437.9 0.0 0.0| 79,437.9 79,437.9 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 37,500.0 0.0 0.0 0.0 0.0| 37,500.0 37,500.0
31 Afasu
D{EQL"JZfZU PExAOUCS 37,500.0 0.0 0.0 0.0 0.0| 37,500.0 37,500.0
31 Afasu
@?Z?U?UOB °i é28g2i1a6a0guU°s 37,500.0 0.0 0.0 0.0 0.0| 37,500.0 37,500.0
31 Afasu
- IS T3Y 6303 1anaiuy»h 37,500.0 0.0 0.0 0.0 0.0 37,500.0 37,500.0
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y T2EE»AC - anT=eY3T3Y 126313 -03Y 03 u=AYC 05

EUKC 01 136G 1A= -AvfiC - Tal N2 w30 121 (3 TT20a00V»AC T»AT=Va0Y AT
IBEe»AC TV -Cr3T3Y 1363T3h- 037 N4 T2 1V»i¢

S ATa00 AST 17=-fofiG

pi»3T3T31a03T3Y
N=0=T=-¢ &=Na=vaiU

=1 ATl Asr

AVIZ0»YA - TS 3A40V»AC
I TG 2
PaLi3I1C 3Y13YaiUA -:’516U3ﬁ~A 0') i >
B e N I 23
ASUY»AaT) Z§:: %‘)_ E
o e 0
Z T
2
M
1 2 3
AU 2g°UA 12E€°3 8,527,835.6] 8,527,835.6 8,527,835.6
31 Atadu
AQ,@:Z(‘)ET 12Eé°8 8,527,835.6| 8,527,835.6 8,527,835.6
31 Atadu
2pE2T200k 12302T820A0a00 6,028,772.9| 6,028,772.9 6,028,772.9
31 Atadu
. ﬁ3~Ué|' ‘|'><3ﬁ 740 SREZT3T3M0»A " NBT»E3 Tx3AY»f 6,028,772.9( 6,028,772.9 6,028,772.9
31 Atadu
- 2RE=TA0Y»AC SRE3TW3T30»0 " NS T»E3 1x3AY»A 5,991,254.7( 5,991,254.7 5,991,254.7
- 6=0=026C=T1=Y, 1313V~ & w313y 3 37,5182 37,5182 37,5182
1=26310Y»AC &=3A- =1 Aal
j 2&20a0AUAVUCHE 21 2a62UgU°dE 2,442,535.3( 2,442,535.3 2,442,535.3
0°eg” ©5a00
31 Atadu
b?ﬁ?ﬁY’»’{I—?’]—?’Y’ 13Eé»ii 731,798.3 731,798.3 731,798.3
31 Atadu
S WY»h-» 1 Cl 1263asAlasy V»h 655,256.1| 655,256.1 655,256.1
- TAU&Y3t 1363acAla0YY» i 43,169.5 43,169.5 43,169.5
- 1340 13é3aAladYY»ii 23,648.7 23,648.7 23,648.7
- 2a3NaA13-A313Y ISBEé»i 3,520.0 3,520.0 3,520.0
- YTA0ILC T E=RU=TanaiUY»AC 1=R0= 1 StadAlaby 6,204.0 6,204.0 6,204.0
Tanias0asUY»AC ~ RAc= - SatAlasYY»AC 1SEé»h 17,848.0 17,848.0 17,848.0
a=l0=3v=-A=cY 2 1263[a6Al0V VG 060y iadU 13,7184 13,718.4 13,718.4
31 Atadu
- T3S 13Y 13é63(0AIaYY»h 1,044.0 1,044.0 1,044.0
- DO BT T313Y 13é63aAlaiYY»i 12,674.4 12,674.4 12,674.4

D‘? »iI3IN1
20i466=T N 03-05-01

20la6e=T 03-05-01



€8T

1 2 3
2EUS6Y= -G =12 15650Ra0T V-G OveU»naiy 1,004.1 1,2041 1,204.1
31 Atadu
- @3EY3S-CU3I3Y I363acAlabYY»ii 1,204.1 1,204.1 1,204.1
AYA:?'(')(;T Yana-ail - A3Na3YaiU (13é3lacAlasYY»i 149,927.9 149,927.9 149,927.9
YlaoA»fi)
31 Atadu
- b»YU»AC " T3¢ailoY»AC AYAZGCT Yaha-ail =~ A3Na3Yail 141,000.0 141,000.0 141,000.0
DUV 3YHIC  63AUS 1aRa0UY»AC AYASOCT Yana-ail 8,927.9 8,927.9 8,927.9
asNa=vail
UlaAon (ZAR=V0Y»1) 1528,038.6| 1528,0386] 1,528,386
31 Atadu
“NASEVIBT3CY VidoA»n ~ N2 - 2061 275,186.4| 275186.4 275,186 .4
TARSYeAan T3y VIiAA n 97,3010 97,3010 97,301.0
TT-763031CY ~ NSYASICY 8YYAC Yiashnh 1,134,356.7| 1,134,356.7 1,134,356.7
TPIT&T YASTII3KY 3k Viashon 21,1945| 21,1945 21,1945
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 51,1000]  51,100.0 51,100.0
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 1Y Sin =R=ln aA=Up 51,1000|  51,100.0 51,100.0
Ya3ewY»fi (laoc»Co)
31 Atadu
“2EVASETYon HaienCo 51,1000|  51,100.0 51,100.0
2UE ~‘| ZEéoé 5,427.4 5,427.4 5,427.4
31 Atadu
DERI»N, AN S1CR Tx2AT»n T alkoR, ARaT0 ‘ 39274] 39274 39274
I3e3|'3ﬁU3Y 'I'3‘ﬁp‘»ﬁ USI3A131Y»AC 1a0UCO ICA3éT14aiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 1,500.0 1,500.0 1,500.0

20la6e=T 03-05-01
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y T2EE»AC - anT=eY3T3Y 1263134 -03Y 03 u=AYG 07

EUKC 01 136G 1A= -AvfiC - Tal N2 w30 121 (3 TT20a00V»AC T»AT=Va0Y AT
IBEe»AC TV -Cr3T3Y 1363T3h- 037 N4 T2 1V»i¢

D‘? »iI3IN1
20i466=T N 03-07-01

20lae=T 03-07-01

SH AT AST 1A= - fofiC

8D UVVE=T=2Y TAUCT»C
asNasvaiu

bb UY~Y53-|-3Y. -l-f'iUC'I"»Q
a3Naer3gY yave

PO R

AT aYYEST3Y

I=e3lsA=Y a=Na=vail

Pb N=wasT ayvasTsyY
I=é3laiA=Y
a=lase =gy yayr

=1 ATl Asr

= ATaU Aer

= ATa0U Aer

=1 ATaiU Asr

AVISU»VA : U : U : U : U,
) ‘ o 1?"*'9 ‘ - 13713/a0Y»AC - I137130a0Y»NAC - 1371 31a0Y»NAC - 13713na0Y»NC
PALT=IC =Y T=V45UA - 430=iA R R R R
(=33 o 0 n 0
1f=0Y»far) E 5 E 5 E =g E =7
ts | 3| Bs | 3| :%E | 3| rid
; 52| @ 5z 7| zE% | T | zEb
X 3 = 3 Z 850 = 830
1 2 3 4 5 6 7 8 9
AU b~2®?UA 12Eé°3 6,599,434.6| 5,806,484.4 5,806,484.4| 94,066.3 94,066.3| 625,376.4 625,376.4( 12,507.5 12,507.5
3r ATédU
A‘L"JAZ(‘)!ET 12Eé°8 6,538,434.6| 5,806,484.4 5,806,484.4| 94,066.3 94,066.3| 625,376.4 625,376.4( 12,507.5 12,507.5
3r ATédU
ZPEZ'I‘?UZE 12802T18a0AU0asU 5,463,634.2| 4,911,471.5 4,911,471.5 0.0 0.0 552,162.7 552,162.7 0.0 0.0
3r ATédU
. ﬁ3~Uél' ‘|'><3ﬁ 140 BREZT313M0»A " NS T»E3 Tx3AY»f 5,463,634.2| 4,911,471.5 4,911,471.5 0.0 0.0 552,162.7 552,162.7 0.0 0.0
3r ATédU
- 2RE3TA0Y»AC SRESTST3A0»1 " NS T»E3 Tx3AY»A 5,372,378.2| 4,868,204.1 4,868,204.1 0.0 0.0 504,174.1 504,174.1 0.0 0.0
11330?3[:1',3’6@3]-3Y, 13YII3Y T AT 3I3Y 3k 91,256.0 43,267.4 43,267.4 0.0 0.0 47,988.6 47,988.6 0.0 0.0
1=263040Y»AC A=A - =1A&U
! 2e20a0AUauUUCHE @1 2a62UgU°dE 807,630.0 741,577.1 741,577.1 0.0 0.0 66,052.9 66,052.9 0.0 0.0
0°es” ©5a00
3r ATédU
D?ﬁi’iﬁY?T3_|-3Y' I3Eé»i 208,447.5 188,560.4 188,560.4 0.0 0.0( 19,887.1 19,887.1 0.0 0.0
3r ATédU
- %Y»A-»WCl 13é63a0AlasYY»i 102,017.9 91,112.3 91,112.3 0.0 0.0 10,905.6 10,905.6 0.0 0.0
- TaU&sY3t 12¢3(a0Ala0Y Y» i 2,980.3 2,551.9 2,551.9 0.0 0.0 428.4 428.4 0.0 0.0
- T3AC 13é63aoAlasYY»i 100,134.3 91,736.2 91,736.2 0.0 0.0 8,398.1 8,398.1 0.0 0.0
- 233Nai3-A213Y ISEé»i 3,315.0 3,160.0 3,160.0 0.0 0.0 155.0 155.0 0.0 0.0
MaRTa60a0Y»NC ~ BACS - SROARIYY»AC TS Eé»h 38,651.8]  36,131.8 36,131.8 0.0 0.0] 25200 2,520.0 0.0 0.0
a?Uq3Y? -A3CY 3k 1=3é63(ajAladY Y»AC O»éup»nadu 77,098.1 68,213.1 68,213.1 0.0 0.0 8,885.0 8,885.0 0.0 0.0
3r ATéiU
- I3AEBT3Y 13é63a0AlasYYr»i 34,500.0 30,500.0 30,500.0 0.0 0.0 4,000.0 4,000.0 0.0 0.0
“D3UST3A-43G7 12631a0Aa0Y Vi 8,235.0 7,635.0 7,635.0 0.0 0.0 600.0 600.0 0.0 0.0




a8t

20lae=T 03-07-01

1 2 3 4 5 6 7 8 9
- DO IBTT3T3Y 1363(a0Ala5YY»f 16,263.1 15,078.1 15,078.1 0.0 0.0 1,185.0 1,185.0 0.0 0.0
- T3éE3T3M313Y 1363(a0AladYY» 3,800.0 3,500.0 3,500.0 0.0 0.0 300.0 300.0 0.0 0.0
- U»AT3[36400531T3Y 13Eé»fi 10,500.0 8,000.0 8,000.0 0.0 0.0 2,500.0 2,500.0 0.0 0.0
T AVAINSY &0 QYalAC SE 1363a0Aa0Y Yo 3,800.0 3,500.0 3,500.0 0.0 0.0 300.0 300.0 0.0 0.0
2EUSEY= -0 =T 1563 1R0Ra0YT»1C O»6Upmiiail 2,0802|  2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
31 Atadu
TO3eVE - 313 1363 AAaYYoh 2,089.2 2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
AVAS6CT Vara-ai0 ~ &=N&=Yai (156 A0Ra Vi 152,356.0|  150,600.0 150,600.0 0.0 00| 17560 1,756.0 0.0 0.0
YiaoA»h)
31 Atadu
TPoYmAG  T36a0I0Y»1C AYASGCT Yana-al -~ a=Nasvail 120,600.0|  120,600.0 120,600.0 0.0 0.0 0.0 0.0 0.0 0.0
DUV 3YHIC  63AUS 1aRa0UY»AC AYASOCT Yana-ail 31,756.0|  30,000.0 30,000.0 0.0 00| 1,756.0 1,756.0 0.0 0.0
asNa=vail
Ul:léﬁé»ﬁ (‘Zéﬁ‘?'Yl]Y»ﬁ) 328,987.4 296,071.8 296,071.8 0.0 0.0] 32,915.6 32,915.6 0.0 0.0
31 Atadu
- 1A=é»YIBT3(CY YiaiA»f =~ N=- 46w 180,672.4 167,941.8 167,941.8 0.0 0.0 12,730.6 12,730.6 0.0 0.0
- TASY8AART3(CY YlaiA»fi 138,931.0 120,631.0 120,631.0 0.0 0.0 18,300.0 18,300.0 0.0 0.0
TT-763031CY ~ NSYASICY 8YYAC Yiathnh 4,549.0 3,049.0 3,049.0 0.0 00| 15000 1,500.0 0.0 0.0
TPIT&T YASTII3KY 3L Vidshon 4,835.0 4,450.0 4,450.0 0.0 0.0 385.0 385.0 0.0 0.0
éc‘;;u‘)fEZE‘2 12U Uaz2étues ©i I°eué=2Aap21U°s 156,610.3 149,770.3 149,770.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
31 Atadu
B26CETY 0-VAARY 1i=U=TY 3w =N=Tr &A= 00 156,610.3| 149,770.3 149,770.3 0.0 00| 68400 6,840.0 0.0 0.0
Ya3&uV»f (lase»Co)
31 Atadu
- 2 YA3&W Y»h plaic»Co 156,610.3 149,770.3 149,770.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
2UE ~‘| ZEéoé 110,560.1 3,665.5 3,665.5( 94,066.3 94,066.3 320.8 320.8( 12,507.5 12,507.5
31 Atadu
P33T, é?ﬁjl""’lgﬁ fX?ﬁY>)ﬁ - 'I'él’ﬁUA»ﬁ, af]aYu ‘ 3,986.3 3,665.5 3,665.5 0.0 0.0 320.8 320.8 0.0 0.0
IS63T3USY W3fpsi USTSAS1Y»i¢ 120UC6 TCh=éT4
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 106,573.8 0.0 0.0 94,066.3 94,066.3 0.0 0.0 12,507.5 12,507.5
éla lilﬁEUZUéZTZU 2TTEIUCHE T1a1 12Eé°5 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Q?Z?U?UOB o1 é28g2i1a0a000°d 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- I3[ T3Y 63A0=14Ma0UY»A 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b

0f»YUG 7-it Na1T=Tar pladc» w30y T2EE»AC - anT=eY3T3Y 1263134 -03Y 03 u=AYG 07

EUKC 01 136G 1A= -AvfiC - Tal N2 w30 121 (3 TT20a00V»AC T»AT=Va0Y AT
IBEe»AC TV -Cr3T3Y 1363T3h- 037 N4 T2 1V»i¢

S ATa00 ASH 1A= -fofiG

PP UVVAST2Y TAUCH»C
T=fa0a6Al45Y Y »iG
Y= - 26400

{2 Afaol AT

1= 3R40Y»AC

\m
PALT=IC 3V T=3Y4UA 2

)

- 6’

> .

< a

10 11
AU_=0°UA 12E6°5 61,000.0 61,000.0
31 Afasu
AUAZOET T2E653 00 00
31 Afasu
Zpliz'l?UﬂE 12802Tda0AUasU 0.0 0.0
31 Afasu
. ﬁ3~Uél' >=n 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY» 0.0 0.0
31 Afasu
- 2RE3TA0Y»AC SRESTST3A0»1 " NS T»E3 Tx3AY»A 0.0 0.0
- o=030=6C3T=Y, ST - & 1 =13Y SF 0.0 0.0
13¢30a0Y»AC &=h-"3hal
!ZéZUéﬁAUéﬁuuoaﬁE °i 25020gU°sE 0.0 0.0
0®eg” °6a0Qd
31 Afasu
bSRAIV =TT 15Een 0.0 0.0
31 Afasu
IR - W CT 1363 R0AEYYoh 0.0 0.0
- TaUAIY3E 136=3a0Ala0Y Y» i 0.0 0.0
TT3AC 1563 ANaT YR 0.0 0.0
- 283Nai3-[A313Y ISEé»i 0.0 0.0
Tan1ai0asUY»AC ™ RAc= - SlastAlasYY»AC 1SEéx»f 0.0 0.0
a?UL!3Y? -A3CY 3k 1=3é63(ajAladY Y»AC O»éup»nadu 0.0 0.0
31 Afasu
- P33 T3Y 13¢3aiAa5YY»i 0.0 0.0
- DBUST30-53CY 1=3¢3a5Ala0Y Y»h 0.0 0.0

20lae=T 03-07-01
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10 11
- DO ISTT313Y 1363(aAla0YY»ii 0.0 0.0
- T363T3A213Y 1363aAlaYY»h 0.0 0.0
- U»AT3[36400531T3Y 13Eé»fi 0.0 0.0
- AYIN3YAGA pYailAC 3 1=3é63(a0Ala0Y Y»ii 0.0 0.0
2EUSEY= -0 =T 1563 1R0Ra0YT»1C O»6Upmiiail 0.0 0.0
31 Atadu
TO3eVE - 313 1363 AAaYYoh 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3vaol (13¢3la0AlasyY Vi 0.0 0.0
YiaoA»h)
31 Atadu
TB>YUnC - T3ea00Y»C AYASGCT Yana-al -~ A=Na=Yail 0.0 0.0
DIV 3YA0C  63NUS TanaiUY»AC AYASGCT Yana-ail 0.0 0.0
asNa=vail
Oléthoft (Z&F=YuY-h) 0.0 0.0
31 Atadu
“NASEVIBT3CY VidoAsn ~ N2 - 2061 0.0 0.0
TTNSYeAAN 13V ViAo 00 0.0
- T»Y6303(CY " NSYASICY &YY1C YIAiA»fi 0.0 0.0
TPIT&T YASTII3KY 3L Vidshon 0.0 0.0
é:‘;;u‘)fEZE‘2 12U Uaz2étues ©i I°eué=2Aap21U°s 0.0 0.0
31 Atadu
€46C3E3T3Y 0-YAARBY 1A3U3T3Y 3w 3N3[raAl3ip 0.0 0.0
Ya3&uV»f (lase»Co)
31 Atadu
“2EVASETYon HaienCo 0.0 0.0
2UE 12Eé°8 0.0 0.0
31 Atadu
DSAIoN, BN N S1CH [x>Ton - W AlMT, ANaT ‘ 0.0 0.0
IS63T3USY W3fpsi USTSAS1Y»i¢ 120UC6 TCh=éT4
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 0.0 0.0
aa lilﬁEUZUéZTZU 2TTEIUCHE T1a1 12Eé°5 61,000.0 61,000.0
31 Atadu
DEPU=120 PE=ad00°0 61,000.0 61,000.0
31 Atadu
Q?Z?U?UOB o1 é28g2i1a0a000°d 61,000.0 61,000.0
31 Atadu
- I3[ T3Y 63A0=14Ma0UY»A 61,000.0 61,000.0

20lae=T 03-07-01
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§D=BE3YC D2YA= 8y W AAIRY 2017 ATST2YC 8» =13V aic»C U=6CY! b
Of»YUC 7-At NATT3TAT plaic» W 3ICY TSEE»AC -afi1=3é6Y3T3Y 136313h-03Y 04 u=3AYC 01
EUUC 01 126G TA=-fxAC - TaT N2 =T =1 (=W T=6a00Y»AC T»AT=YaUY Aew
[SE6»AC WY 1»63-Cr3T3Y 1363130 U3 NaLT 2 TV»AC

D‘? »iI3IN1
20i466=3T N 04-01-01

20la6e=T 04-01-01

S ATa0l ASH 1A= - fofiG

T4RT31CA CRE=VasAIY,
AT3I3Y I36313/03Y
NSYASA» T 3T3Y
T3ASTU3CY T263 13003y
U3AlCYY»AC a3Na=3YaiU

TaRT=21Ch CRE=YasARY,
T3T3Y T36313AU3Y
NSBYAS&»T3T3Y
TSAST03CY 1363 T13A0U3Y
U3AUCYY»fic &=N&=3Yail
(Y2E=A=31a3AI0YY»iC

T SV13AT»AC
__ B=TU=Y
1=6=asAlaoY V»h

V> AT3[B08603a0A10Y Y1
a3(a=vail

AVI3(»YA SRESTST3H»AC U=384T)
13eC — — — —
PALTSIC 3V =YAUA - 2U3RA = ATasl Aer =1 ATal Aer = A0 Ae T =1 ATail Aer
(=437 - I3 3/a0Y»AC - =1 =7/a0Y»fiC - =1 =7/40Y»AC - =1 =74a0Y»MiC
1f=0V»far) 2 2 2 b
=% > b= > 5 > U5
S £ i:¢3 £ | fies £ i ¢3
s | TgEes | s 1858 | 5 | 385% 5 18275
3 2S00 3 AP BN 3 AP BN 3 2SR
) =0T > 0] = Voo 0] el == 0] =V oac o
o ?'f"’o:-ag o e o Pl =] o el
% 2Ly =z = R % = 3 % = 3
87w = RGN g7 g7
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé&°s 3,667,763.1| 312,512.7 312,512.7 771,402.5 771,402.5| 14,1234 14,123.4 156,616.5 156,616.5
=l Atasl
AUA20LT 12E€°8 3,667,763.1| 312,512.7 312,512.7 771,402.5 771,402.5| 14,123.4 14,123.4 156,616.5 156,616.5
= Atasl
2pE2T2Ugk 12802Tda0AUa0U 1,169,756.2 282,440.3 282,440.3 727,784.7 727,784.7 0.0 0.0 0.0 0.0
=l Atasl
_ASUAT Tx3AT140 SRESTST3A0»A " NS T»E2 1x30Y»f 1,169,756.2 282,440.3 282,440.3 727,784.7 727,784.7 0.0 0.0 0.0 0.0
= Atasl
- 2RE3TA0Y»AC SRESTST3A0»1 " NS T»E3 Tx3AY»A 1,083,918.6( 267,645.0 267,645.0 665,175.2 665,175.2 0.0 0.0 0.0 0.0
- 303036003 13Y, 13733V 7 T 3I3Y 3 85,837.6 14,795.3 14,795.3 62,609.5 62,609.5 0.0 0.0 0.0 0.0
1=26310Y»AC &=3A-=1Aal
12&20a0AlatUUCBE 21 2482UgU°sE 101,096.9 29,898.0 29,898.0 43,027.7 43,027.7 0.0 0.0 0.0 0.0
0°eg” °3a00
= Atasl
P3RAYSI3T3Y ISEé»fi 46,250.9 8,943.9 8,943.9 30,398.9 30,398.9 0.0 0.0 0.0 0.0
=l Atasl
- WY»fi-»>WCT 13¢3aiAlasYY»i 32,128.1 3,766.4 3,766.4 23,685.6 23,685.6 0.0 0.0 0.0 0.0
- TaU&0Y3E 1=3é63(a0Ala0Y Y»ii 556.4 130.5 130.5 358.9 358.9 0.0 0.0 0.0 0.0
- T3AC 1=3é3aAla0Y Y»ii 12,971.0 4,847.0 4,847.0 6,078.4 6,078.4 0.0 0.0 0.0 0.0
- 233Nai 3-A=13Y I3Eé»h 595.4 200.0 200.0 276.0 276.0 0.0 0.0 0.0 0.0
Tan1a60800Y»1C ~ RAC= - SA0ARBYY»AC 1SEéxh 14,551.4 7117.2 7117.2 1,934.2 1,934.2 0.0 0.0 0.0 0.0
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20la6e=T 04-01-01

1 2 3 4 6 7 8 9
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0YY»AC O»éup»asl 17,640.5 3,309.8 3,309.8 1,830.7 1,830.7 0.0 0.0 0.0 0.0
31 Afasu
- D3U=T130-43CY 1363(a0AlacYY»h 760.7 200.0 200.0 560.7 560.7 0.0 0.0 0.0 0.0
- DO IBTTSI3Y 1363(a0AlasYY»h 677.8 577.8 577.8 100.0 100.0 0.0 0.0 0.0 0.0
- U»Ail3[3064004=2T3Y I13Eé»h 500.0 500.0 500.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 13é3a0AlasyY»h 15,702.0 2,032.0 2,032.0 1,170.0 1,170.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a0Ala0YY»AC Onéup»iiasl 125.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CU3I3Y 13é63(aAla0Y Y»ii 125.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA:?'C')C-I- Yana-ail -~ a3NAa3Yail (13é3atAladYY»h - 5,550.6 2,826.0 2,826.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana-aiu 5,550.6 2,826.0 2,826.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 16,978.5 7,701.1 7,701.1 6,663.9 6,663.9 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»n ~~ N3 - 466 2,927.9 804.1 804.1 1,661.7 1,661.7 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»i 10,610.7 4,745.0 4,745.0 3,894.0 3,894.0 0.0 0.0 0.0 0.0
- 2640¢3&3N3T13Y 7 EBpan=3Tan YiaiA»n 89.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 1,350.5 152.0 152.0 1,108.2 1,108.2 0.0 0.0 0.0 0.0
- D3Il YA3 W 313(CY 3 YiaoA»i 2,000.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZUoé 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
ééﬁ[{éQ1Q3Y'»ﬁ AW 313 I3W3T»A&4a0AIAIYY»ACY 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
_-_éé@pé_glgﬁ(»ﬁ 44 yCY3YE3T3Y &»T313Y 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. 6%@290369006 1,076,559.5 0.0 0.0 0.0 0.0| 14,1234 14,1234 0.0 0.0
31 Afasu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI3I1C 3 1,076,559.5 0.0 0.0 0.0 0.0| 14,1234 14,123.4 0.0 0.0
USTSA1=TY»ACY
31 Afasu
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a» 313y " NSU3lYo=SgY 14,1234 0.0 0.0 0.0 0.0| 14,1234 14,123.4 0.0 0.0
3¢ WASCY T3S T»RAA0AIYY»ACY
- 2[f AYAS4CT 1i3U3RYAANY»h 1,062,436.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 159,098.2 174.4 174.4 590.1 590.1 0.0 0.0/ 156,616.5 156,616.5
31 Afasu
?3ﬁ-l-»ﬁ, é?ﬁj|'31(;ﬁ I'X?ﬁ_Y_»ﬁ . 'I;éﬁUN)ﬁ_,_éﬁéYU" . 817.7 174.4 174.4 590.1 590.1 0.0 0.0 0.0 0.0
1=e=T30U3Y 1=2p»fi UST3AT=1Y»AC 1a0UCo 1Ch=éTaiy
»Y UCUIBY6 YI31U3Upn
2 ISEé»f 158,280.5 0.0 0.0 0.0 0.0 0.0 0.0 156,616.5 156,616.5
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< 850’) < 8;“530') < 8;“530') < 8;“5:0')
1 1 1 13
10 11 12 13 14 15 16 17
AU b~2®?UA 12Eé°s 1,161,252.3 1,161,252.3| 152,600.0 152,600.0( 15,000.0 15,000.0| 13,900.0 13,900.0
3r ATédU
A‘L"JA:Z(‘)A? 1 12Eé°o5 1,161,252.3 1,161,252.3| 152,600.0 152,600.0( 15,000.0 15,000.0| 13,900.0 13,900.0
3r ATédU
ZPEZ'I‘?UﬂE 12802T18a0AU0asU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3r ATédU
. ﬁ3~Ué|' ‘|'><3ﬁ 140 SRE3T31300»1 " NBT»E3 1x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3r ATédU
- 2RE3TA0Y»AC SRESTST3A0»1 " NS T»E3 Tx3AY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 63020260312, BT =137 & w2137 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
126=2(40Y»AC &3 -"=Thal
j 2&20a0AlacuUCSLE ©1 2a62UgU°dk 0.0 0.0 0.0 0.0 13,304.8 13,304.8 0.0 0.0
0°es” ©5200
3r ATédU
D?ﬁ?ﬁY?_I"»’;I'?’Y' I3Eé»i 0.0 0.0 0.0 0.0 35.4 35.4 0.0 0.0
3r ATédU
~W»fi-» W CT 1=6=1a0Masy Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&Y3t 12¢3(a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“1=3C 1=6=aiNabY Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233Nai 3-A313Y I3Eé»h 0.0 0.0 0.0 0.0 35.4 35.4 0.0 0.0
Tan1a60800Y»1C ~ RAC= - SA0ARBYY»AC 1SEéxh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20la6e=T 04-01-01

10 11 12 13 14 15 16 17
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0YY»AC O»éup»asl 0.0 0.0 0.0 0.0] 12,500.0 12,500.0 0.0 0.0
31 Afasu
- D3U=T130-43CY 1363(a0AlacYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTTSI3Y 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[3064004=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 13é3a0AlasyY»h 0.0 0.0 0.0 0.0] 12,500.0 12,500.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 125.0 125.0 0.0 0.0
31 Afasu
- @3EY3-CU3I3Y 13é63(aAla0Y Y»ii 0.0 0.0 0.0 0.0 125.0 125.0 0.0 0.0
AYA:?'C')C-I- Yana-ail -~ a3NAa3Yail (13é3atAladYY»h - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0 0.0 0.0 644.4 644.4 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»n ~~ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»i 0.0 0.0 0.0 0.0 555.0 555.0 0.0 0.0
- 2640¢3&3N3T13Y 7 EBpan=3Tan YiaiA»n 0.0 0.0 0.0 0.0 89.4 894 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3Il YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZUoé 1,161,252.3 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
ééﬁ[{éQ1Q3Y'»ﬁ AW 313 I3W3T»A&4a0AIAIYY»ACY 1,161,252.3 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
_-_éé@pé_glgﬁ(»ﬁ 44 yCY3YE3T3Y &»T313Y 1,161,252.3 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. 6%@290369006 0.0 0.0 152,600.0 152,600.0 0.0 0.0 13,900.0 13,900.0
31 Afasu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI3I1C 3 0.0 0.0| 152,600.0 152,600.0 0.0 0.0 13,900.0 13,900.0
USTSA1=TY»ACY
31 Afasu
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a» 313y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY T3S T»RAA0AIYY»ACY
- 2[f AYAS4CT 1i3U3RYAANY»h 0.0 0.0| 152,600.0 152,600.0 0.0 0.0 13,900.0 13,900.0
2UE ~‘| ZEéOB 0.0 0.0 0.0 0.0 1,695.2 1,695.2 0.0 0.0
31 Afasu
?3ﬁ-l-»ﬁ, é?ﬁj|'31(;ﬁ I'X?ﬁ_Y_»ﬁ . 'I;éﬁUN)ﬁ_,_éﬁéYU" . 0.0 0.0 0.0 0.0 31.2 312 0.0 0.0
1=e=T30U3Y 1=2p»fi UST3AT=1Y»AC 1a0UCo 1Ch=éTaiy
»Y UCUIBY6 YI31U3Upn
2 ISEé»f 0.0 0.0 0.0 0.0/ 1,664.0 1,664.0 0.0 0.0
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< cLFu < il < G < SO Fu
8=>0 2 Y /=>0 8=>0
18 19 20 21 22 23 24 25
AU >~2®?UA 12E68°58 475,000.0 475,000.0 15,000.0 15,000.0| 21,032.4 21,032.4| 27,360.0 27,360.0
31 ATadU
A‘L"JA:Z(‘)/E 1 12Eé°0 475,000.0 475,000.0 15,000.0 15,000.0| 21,032.4 21,032.4| 27,360.0 27,360.0
=1 ATadU
ZPEZ'I‘?UEE 12802T6asAlasv 0.0 0.0 15,000.0 15,000.0 0.0 0.0( 27,360.0 27,360.0
31 ATadU
. ﬁ3~Uél' ‘|'><3ﬁ 140 BRE3T31310»A ~ NBT»E2Tx3AY»0 0.0 0.0 15,000.0 15,000.0 0.0 0.0( 27,360.0 27,360.0
=1 ATadU
- ZBE3'I'é0Y»ﬁQ BIEST3T3A0»A ~ NSBT»E3 Tx3iAY»ii 0.0 0.0 15,000.0 15,000.0 0.0 0.0( 27,360.0 27,360.0
- g=0=0P0C= 13T, B wSI5Y - B STy SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363040Y»C A3h- 3 Tfi&U
?ZéZUéﬁAUéﬁ)UUc’aﬁE o7 2582U0gU°dE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°ep” 93200
31 ATadU
D?ﬁ?ﬁY?_|-3_|-3Y’ 13Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATadU
I -»> 1 CT 1363 R0N&0Y Yo R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TAUASY3E 126340AIadY Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT3AC 1563 ANaT Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233Nai3-/313Y I=Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NanTA0a0Y»NC ~ RACS - SRONGIYY»NC TSEe»R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20la6e=T 04-01-01

18 19 20 21 22 23 24 25
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0YY»AC O»éup»asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- D3U=T130-43CY 1363(a0AlacYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTTSI3Y 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[3064004=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 13é3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CU3I3Y 13é63(aAla0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA:?'C')C-I- Yana-ail -~ a3NAa3Yail (13é3atAladYY»h - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»n ~~ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N3T13Y 7 EBpan=3Tan YiaiA»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3Il YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZUoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
ééﬁ[{éQ1Q3Y'»ﬁ AW 313 I3W3T»A&4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
_-_éé@pé_glgﬁ(»ﬁ 44 yCY3YE3T3Y &»T313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
bé%QZPUééDUOB 475,000.0 475,000.0 0.0 0.0| 21,0324 21,032.4 0.0 0.0
31 Afasu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI3I1C 3 475,000.0 475,000.0 0.0 0.0| 21,032.4 21,032.4 0.0 0.0
USTSA1=TY»ACY
31 Afasu
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a» 313y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY T3S T»RAA0AIYY»ACY
- 2[f AYAS4CT 1i3U3RYAANY»h 475,000.0 475,000.0 0.0 0.0| 21,0324 21,032.4 0.0 0.0
2UE ~‘| ZEéOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
?3ﬁ-l-»ﬁ, é?ﬁj|'31(;ﬁ I'X?ﬁ_Y_»ﬁ . 'I;éﬁUN)ﬁ_,_éﬁéYU" . 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1=2p»fi UST3AT=1Y»AC 1a0UCo 1Ch=éTaiy
»Y UCUIBY6 YI31U3Upn
2 ISEé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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%3h-36U3Y
Y»A1AAUY»AC

YSE3h3AaAI3Y basT=(C

T=vaysip=i=sy T»A=NETa040AI=Y
praie e LR e
asNa3vaiu
Pa1i31C 3Vi3YaiUA _?Ul Al'é()L;J Aé'l' _?Ul AI’éﬁL;J Aé'l'
\— 13713na0Y»AC \-— 13713/a0Y»AC
g 3
2 v UE 2 v uE
‘= —— g ‘- —— g
s | B85 | = | LESE
3 AR &N ) AR &N
0 SLEE 0 SLEw
< =TS < =S
< @ => (;')_ < @ => (;‘)_
26 27 28 29
AU >~2®?UA 12Eé°5 399,903.7 399,903.7| 132,059.6 132,059.6
31 Atadu
A‘UA:Z(‘)/E 1 12Eé°0 399,903.7 399,903.7| 132,059.6 132,059.6
31 Atadu
ZPEZ'I‘?UﬂE 12802T8a0AUa0U 0.0 0.0 117,171.2 117,171.2
31 Atadu
. ﬁ3~Uél' ‘|'><3r~‘| 140 BREST3T13M0»A " NBT»E2B 1x3AY»A 0.0 0.0 117,171.2 117,171.2
31 Atadu
- 28E3'I'é0Y>>ﬁQ SREST3T3A0»A " NS T»E3B Tx3AY»f 0.0 0.0 108,738.4 108,738.4
- 63020260312, BT =137 & w2137 3F 0.0 00| 84328 8,432.8
126=2(40Y»AC &3 -"=Thal
? 2&20a0AUAUUCHE 21 2a62UgU°dE 0.0 0.0 14,866.4 14,866.4
0°ep” ©3200
31 Atadu
b?ﬁi’iﬁY?'l'3_I'3Y' 13Eé»i 0.0 0.0 6,872.7 6,872.7
31 Atadu
~W»fi-» W CT 1=6=1a0Masy Y»h 0.0 0.0 46761 4,676.1
- TAU&Y3t 1363acAla0Y Y» i 0.0 0.0 67.0 67.0
“1=3C 1=6=aiNabY Vi 0.0 0.0] 2,0456 2,045.6
- 283NaAT13-A313Y ISBEé»i 0.0 0.0 84.0 84.0
Tan1a60800Y»1C ~ RAC= - SA0ARBYY»AC 1SEéxh 0.0 0.0/ 5,500.0 5,500.0
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26 27 28 29
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0YY»AC O»éup»asl 0.0 0.0 0.0 0.0
31 Afasu
- DBUST=30-43(CY 13¢3a0Ala6YY»h 0.0 0.0 0.0 0.0
- DO IBTTST3Y 1363A0AlAiYY»i 0.0 0.0 0.0 0.0
- U»AlT3[3064065313Y I13Eé»h 0.0 0.0 0.0 0.0
- AYIN=Va6H pYadlAc 3E 1=363a0AlaiyY»i 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CW313Y 13¢3aiAlasYY»i 0.0 0.0 0.0 0.0
AYA:?'(')(;-I- Yana-ail -~ a3NAa3Yail (13é3atAladYY»h - 0.0 0.0 524.6 524.6
YlaoA»fi)
31 Afasu
- D»U»Y3Y»AC " 63AUS TanaiUY»AC AYASACT Yana- ail 0.0 0.0 524.6 524.6
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 1,969.1 1,969.1
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 0.0 0.0 462.1 462.1
- TABYEAANT3(CY YIaiA»h 0.0 0.0 1,416.7 1,416.7
- 2640¢3A3N3T3Y 7 (Buafi=3Twan YiaiA»h 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY &YY1C YIAiA»fi 0.0 0.0 90.3 90.3
- B3TAT YA3ST3I3(CY 3[ YiaA»i 0.0 0.0 0.0 0.0
eao” é/E?/EZUoé 0.0 0.0 0.0 0.0
31 Afasu
ééﬁ[{éQ1Q3Y'»ﬁ AW 313 I3W3T»A&4a0AIAIYY»ACY 0.0 0.0 0.0 0.0
31 Afasu
_-_éél@pé_(zlgfw»ﬁ 44 yCY3YE3T3Y &»T313Y 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. 6%@290369006 399,903.7 399,903.7 0.0 0.0
31 Afasu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI3I1C 3 399,903.7 399,903.7 0.0 0.0
USTSA1=TY»ACY
31 Afasu
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a» 313y " NSU3lYo=SgY 0.0 0.0 0.0 0.0
3¢ WASCY T3S T»RAA0AIYY»ACY
- 2[E AYAZOCT 13 U3RYAANY»h 399,903.7 399,903.7 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 22.0 22.0
31 Afasu
?3ﬁ-l-»ﬁ, é?ﬁj|'31(;ﬁ I'X?ﬁ_Y‘_»ﬁ . 'I;éﬁUk)ﬁ_,_éﬁéYU" . 0.0 0.0 22.0 22.0
1=e=T30U3Y 1=2p»fi UST3AT=1Y»AC 1a0UCo 1Ch=éTaiy
»Y UCUIBY6 YI31U3Upn
2 ISEé»f 0.0 0.0 0.0 0.0
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&1V 1363 130S3Y =Yisarr=isy - AN LI ~ &G
(SVisa STy | wSAsSiusiey 1363 73Usy A AHOSHTUSY AN ASYARSY
TSRS UBCY 126373703y USAUCYY»AC A=NA&=VaiU ea’gj' 6 g’;au'; d UCca6=64a5UY»f
USAUCYY»AC &a3Na=VaiU (Y3ESASAAIAIRTY»AC G ouY>n
AVI3(»YA SRESTST3WxAC U=84r)
135¢
PALTZIC 3YT3V45UA - &5U=RA 3 ATaoU Aew 3 ATaoU Aew 3 ATaoU Aew 3 Ataol Aewr
== - T2 U=a0Y»AG - T=T=34a0Y»AC - T=T3/40Y»AC w | 1= r=Ra0Y»AC
1F30Y»AAT) b b b b
T \i T \i >- T \i >- T \i >-
\>_ \>_ D A \
A <20 ol - A <R A <8 A <8
= i< 2> g = B = i = Big
< o gsen 3 < @ 13 < D 13 < @ 13
kN .2 it z<D’E o :m— ’% RN .2 i R .2 it R .2 it
i A 8l 7 82 | 7 | BER
3 R =t B R s 74 s 4
< S BE = < 2 < 2% < 2
8> 0 8> 8> 8>
1 2 3 4 5 6 7 8 9
AU_20°UA 12E6°5 12,180,470.9| 929,584.7 920584.7|  494,862.6 494.862.6| 47,076.7 47,076.7| 84,7475 84,747.5
3 A4l
AUAZ0ET 12E6°5 9,123,748.5| 929,584.7 929,584.7|  494,862.6 494.862.6| 47,076.7 47,076.7| 84,7475 84,7475
3 A4l
2pE=7120 0k 1280210a0A0a00 1,329,803.3| 874,634.3 874,634.3|  455,169.0 455,169.0 0.0 0.0 0.0 0.0
3 A4l
_ASUAT Tx2NTa0 SRES TS 12005A N2 102 [x31T»A 1,329,803.3| 874,634.3 874,634.3|  455,169.0 455,169.0 0.0 0.0 0.0 0.0
3 ATasl
“2RESTA0Y»NC SRES NS 12001~ N2 T i ISV i 1,216,214.8| 801,333.7 801,333.7|  414,881.1 414,881.1 0.0 0.0 0.0 0.0
3030300313, 131313 -~ &1 S13Y 3¢ 113,588.5| 73,300.6 73,300.6 40,287.9 40,287.9 0.0 0.0 0.0 0.0
1=62040Y»AC A=A =140
1262020A02000°8E ©1 2a820sU°8k 634,942.7| 54,1106 54,110.6 39,351.1 39,351.1 0.0 0.0| 84,7475 84,7475
0°ep” ©5200
=1 Afas0
PSRAN S 12137 1SEé»n 38,6612 22,527.1 22,5271 16,134.1 16,134.1 0.0 0.0 0.0 0.0
3 A4l
“UY»h-»> WGl 126=1a0Aa0Y YA 23,777.2| 12,879.0 12,879.0 10,898.2 10,898.2 0.0 0.0 0.0 0.0
- TaUa=E 1=2631a0ka0Y Yo i 179.8 0.0 0.0 179.8 179.8 0.0 0.0 0.0 0.0
“T=AC 126=aNaY V> 12,976.2| 8,328.1 8,328.1 24,6481 24,6481 0.0 0.0 0.0 0.0
T233Na1 = A= 13Y 12E6xA 840.0 600.0 600.0 240.0 240.0 0.0 0.0 0.0 0.0
~9TANC ~ ESAUS TANAUY>AC T30 1 StadAla0Y 888.0 720.0 720.0 168.0 168.0 0.0 0.0 0.0 0.0
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1 2 3 4 6 7 8 9
an1460a00Y»MAC ** RAc= - SlAGAlAYY»AC 1S Eéxi 13,5484 6,363.4 6,363.4 7,185.0 7,185.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 8,013.2 4,166.1 4,166.1 3,847.1 3,847.1 0.0 0.0 0.0 0.0
31 Afasu
- DBUST=30-43(CY 13¢3a0Ala6YY»h 2,610.0 470.0 470.0 2,140.0 2,140.0 0.0 0.0 0.0 0.0
- DO ISTTS13Y 1363(aAla0YY»ii 4,508.1 3,301.0 3,301.0 1,207.1 1,207.1 0.0 0.0 0.0 0.0
- U»AlT3[3064065313Y I13Eé»h 300.0 300.0 300.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YAGA pYailAC 3 1=3é63(a0Ala0Y Y»ii 595.1 95.1 95.1 500.0 500.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 57,033.0 0.0 0.0 220.0 220.0 0.0 0.0| 56,813.0 56,813.0
31 Afasu
- @36Y2.Cw S13Y 13¢3(aiAla0YY»h 57,033.0 0.0 0.0 220.0 220.0 0.0 0.0| 56,813.0 56,813.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 6,215.5 5,036.9 5,036.9 1,178.6 1,178.6 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»AC " 63AUS TanaiUY»AC AYASACT Yana- ail 6,215.5 5,036.9 5,036.9 1,178.6 1,178.6 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 511,471.4| 16,017.1 16,017.1 10,786.3 10,786.3 0.0 0.0| 27,934.5 27,934.5
31 Afasu
- A=6»YIST3(CY YiaiA»h ™ N=- 406w 3,886.2 2,156.0 2,156.0 1,730.2 1,730.2 0.0 0.0 0.0 0.0
- TASYEAAN W 3(CY YiaiA»h 19,989.5( 13,548.1 13,548.1 6,441.4 6,441.4 0.0 0.0 0.0 0.0
- 2640¢3A3N3T3Y 7 (Buafi=3Twan YiaiA»h 456,733.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY &YY1C YIAiA»fi 477.7 313.0 313.0 164.7 164.7 0.0 0.0 0.0 0.0
- B3TAT YAST3I3(CY 3[ YiaA»i 30,384.5 0.0 0.0 2,450.0 2,450.0 0.0 0.0 27,934.5 27,934.5
eao” é/E?/EZUoé 3,395,763.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
ééﬁHéQ193Y»ﬁ 44 &> 313Y IBW3T»AA4&AIAIYY»ACY 3,395,763.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
_-_ééqué_g]-CQ’Y'»ﬁ 44 & T3I3Y adyCy3VesI3y 1,902,750.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
- ééf]pé(;lQE‘Y»ﬁ 44 &» 313V yCY3Ve3 I3y 1,493,013.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&69006 1,703,918.1 0.0 0.0 0.0 0.0| 47,076.7 47,076.7 0.0 0.0
31 Afasu
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YN3TI31C 3 1,703,918.1 0.0 0.0 0.0 0.0 47,076.7 47,076.7 0.0 0.0
USTSAT=TY»CY
31 Afasu
- AYA3OQ| 11ﬁ3U:‘3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 1,136,306.6 0.0 0.0 0.0 0.0 47,076.7 47,076.7 0.0 0.0
3¢ WASCY T3S T»RAA0AIYY»ACY
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a»T313Y " NSU3lYo=SgY 360,361.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY T3 T»RAA0AIYY»ACY
- 2[E AYAZOCT 1A3U3RYAANY»h 207,250.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 2,059,320.7 839.8 839.8 342.5 342.5 0.0 0.0 0.0 0.0
31 Afasu
P3fil»A, A3AW31CA 1x3AY»i ~ WailA»i, afayu 1,182.3 839.8 839.8 342.5 342.5 0.0 0.0 0.0 0.0

T263 T3R0S T3fpsA USTSAISTV»AC TA0006 TCR=6T43U
»Y UCUIBY6 YT=3wU=30p
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1 7
2E1=Ee»h 2,058,138.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a u£U2082T20 ZT1E1U°3E T1a1 126695 3,056,722.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai4iU
DEDUZ120 Dk2a0U°8 3,056,722.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
poUg°8 ©1 PEUa6AUa 005 2,728,121.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
~P>YU»AC  BCYABAAIYY»1C BCY=n=nasAiaby 2,728,121.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 44,0505 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- TA=Y6AAN T =0V 6=A0=1anA00Y »h 7,460.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E D>V 3Y» - 63A0S1aRa00Y > 36,590.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E PEQUZ120 0E=a00°5 284,550.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES 131371 3137 [SEén 284,550.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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PATT=1C =Y i=YaslA

Sh AT AST 1A= - fofiC

pad»fAC 3-AAuCUC3T3Y
N»3%amasAl=yY =
u»ARCAGAIRBY
p3AoA=6U3Y
UCca6=36éaiUY»h

Mas03 1Y T »8313Y
T»Y12YCY»AC &30 12614

Tias0=T=3Y
Eani =S iST3Y
T363(a0Al40 YY1

2y38Y=2paiA=e=3YCw3ic3(C -
_ pESeSNCTSACS
13é3(A0AIAGYY»AC U3T1ai6aiu

21 Afal A6
T=2120a0Y»AC

2 Afal A6
T=212/40Y»AC

2 Afal AST
T=7=2ha0Y»AC

21 Afal AST
T=T2R80V»AC

\— \— \— \—

C = C — C — C =

0 U 0 U~ 0 U~ 0 U~

[l <L @ [l <L @ [l <L @ [l <L @

z 82| 3 g | 82 2 82

> Aac > A ac > A ac > A ac

3 8cd 3 atd 3 atd 3 850

o - o - o - o -

< 2% < Y < Y < Y

20 > 2G> 2G> 2G>

10 11 12 13 14 15 16 17
AU b~2®?UA 12Eé°5 66,128.6 66,128.6| 1,050,045.5 1,050,045.5| 360,361.5 360,361.5 129,594.3 129,594.3
31 Atadu
AQA:ZGE 1 12Eé°0 66,128.6 66,128.6| 1,050,045.5 1,050,045.5| 360,361.5 360,361.5 129,594.3 129,594.3
31 Atadu
ZPEZ'I‘%UZE 12802T8a0AUa0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
. ﬁ3~Uél' ‘|'><3ﬁ 140 BREST3T13M0»A " NBT»E2B 1x3AY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- ZBE3'I'é0Y»ﬁC SRE3T 3 T30~ NS T»E3 Tx3AY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
11330?3[:1:’36@3]-3Y, 13Y3I3Y 7 A1 33Y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1262310V»AC A3 - 3T
jZéZUéﬁAUéC)UUOBIE o7 2a462UgU°sE 0.0 0.0 456,733.5 456,733.5 0.0 0.0 0.0 0.0
0°ep” ©5aiD
31 Atadu
D?ﬁ?ﬁY?_|-3_|-3Y’ 13Eé»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UY»f - »'I'Q-I- 13é3(a5AladYY»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TAU&Y3t 1363acAla0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3é’1(; 13é3(a5AladYY»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 283NaAT13-A313Y ISBEé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- ﬂéﬁUUC T e3hAu= I'éﬁéfJUY'»ﬁC 13A0313ta0AlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17
an1460a00Y»MAC ** RAc= - SlAGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- D3U=T13n-43CY 1363(a0AlacYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[3064004=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYAIN3YaA pYAdlAC 3k 13é63acAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @BEY2-CH313Y 1=3é3aAlasyYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0| 456,733.5 456,733.5 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»n ~~ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiasA»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N3T13Y 7 EBpan=3Tan YiaiA»n 0.0 0.0| 456,733.5 456,733.5 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3Il YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
ééﬁHéQ193Y»ﬁ 44 &> 313Y IBW3T»AA4&AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
_—_éé@ué_g]-CQ’Y'»ﬁ 44 & T3I3Y adyCy3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
- éé@pé(;]-QE‘Y»ﬁ 44 &» 313V yCY3Ve3 I3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. ‘62~®2PUQBDU°6 66,128.6 66,128.6 593,312.0 593,312.0( 360,361.5 360,361.5 129,594.3 129,594.3
31 Afasu
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YN3TI31C 3 66,128.6 66,128.6 593,312.0 593,312.0| 360,361.5 360,361.5 129,594.3 129,594.3
USTSAT=TY»CY
31 Afasu
- AYA3OQ| 11ﬁ3U:‘3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 66,128.6 66,128.6 593,312.0 593,312.0 0.0 0.0 129,594.3 129,594.3
3¢ WASCY T3S T»RAA0AIYY»ACY
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0| 360,361.5 360,361.5 0.0 0.0
3¢ WASCY T3 T»RAA0AIYY»ACY
- 2[f AYAS4CT 13 U3RYAANY» 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
P3fil»A, A3AW31CA 1x3AY»i ~ WailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

T263 T3R0S T3fpsA USTSAISTV»AC TA0006 TCR=6T43U
»Y UCUIBY6 YT=3wU=30p
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10 11 12 13 14 15 16 17
2E1=Ee»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a u£U2082T20 ZT1E1U°3E T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai4iU
DEDUZ120 Dk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
poUg°8 ©1 PEUa6AUa 005 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
~P>YU»AC  BCYABAAIYY»1C BCY=n=nasAiaby 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628021a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- TA=Y6AAN T =0V 6=A0=1anA00Y »h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E D>V 3Y» - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E PEQUZ120 0E=a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES 131371 3137 [SEén 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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S ATa00 AS W 1A= -fiofiG

NaE0= T YT »EST3Y T»Y13YCY»AC
NCT=Y145Ala6YY»AC EBpai=an

46Y»640 NajuuC ~* VIasAC, pase»Ac
TSA=YWCYC, -[40UR=T=2paske»Ac
padlE»fic A=RT a=YaiAl=Y UCcasy»iC
E=UAR= AR —4R0SUVY AGAIAGYY»HAC

Tlasd=wYw»eashl=y
atar ey wAsU=1irad
T3AI»AC Tala8=1AasluY»fic
8abpecI=1anl=y Ii=-Ci

_3YC3T3Y A3 -=1anaAi=Y
3c=T6aAR0p CR2T2Y=26140
§M450=T=Y T=1a0&6A1a5YY»fAC

e w»0T4ail! 1a=U3rYanN=IcY
A=-CA

P3U3RE3ANZ3ICY u3Y1C
=c3T645A120p CR3T2Y26140
P30U3{YUY»AC
(803 WY I »e3T3Y
E»BA0REBY»AC T2ESTSAUSY
UR640Y 2 TAARY »ATRARL

- - < '~3 . ~
CRET=Y=6400 1A=-cn
PALTZIC 3YT3V45UA 3 ATaoU Aew 3 ATaoU Aew 3 ATaoU Aer 3 ATaoU Aew
\— T3 3na0Y»AC \— T30 3na0Y»ic \— 37 3na0Y»iC \— T3 3ha0Y»AC
zg i zg i ZS > ZS i
> > > >
A 28 of o A =8 A = A =3
\— =) S > o \— k=) \— P \— S
< \8 T ES [U] G < \8 = < N -m < \8 =
> AT AT > A3 > = > A8
3 QETos NS 3 =1 5 an 3 =1
T SLTE =0 7 8o T ) T 82
d Pl IR '3 d = d w d =
5 fhEcar | % i 5 iy : £
gL®H ge 3 gL
18 19 20 21 22 23 24 25
AU _2@°UA 12Eé°s 270,195.0 270,195.0] 1,163,013.7 1,163,013.7 57,029.8 57,029.8 1,373,532.8 1,373,532.8
31 AT45U
AUAZ20LT 12Eé°5 270,195.0 270,195.0] 1,163,013.7 1,163,013.7 57,029.8 57,029.8 1,201,703.2 1,201,703.2
31 AT45U
2pE2T2Ugk 12802Tda0AUasU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT45U
_ASBUAT 1x3i140 SRE3 13 T30»f " NS T»E3 Tx3AY»0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT45U
- 2RE=TA0Y»AC SRE3TW3T30»0 " NS T»E3 1x3AY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- g=0=0P0C= 13T, B wSI5Y - B STy SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363040Y»C A3h- 3 Tfi&U
12&820a0AUacuUCBE ©1 2462UgU°dA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0ceg” °daid
31 AT45U
P3AAYST313Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT45U
I -»> 1 CT 1363 R0N&0Y Yo R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TAU&Y3t 1363acAla0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT3AC 1563 ANaT Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 283NaAT13-A313Y ISBEé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“9&00C B3RS 1aRA0UY»AC T30S 1 SEA0AEDY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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18 19 20 21 22 23 24 25
an1460a00Y»MAC ** RAc= - SlAGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- D3U=T13n-43CY 1363(a0AlacYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[3064004=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYAIN3YaA pYAdlAC 3k 13é63acAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @BEY2-CH313Y 1=3é3aAlasyYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»n ~~ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiasA»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N3T13Y 7 EBpan=3Tan YiaiA»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3Il YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZUOB 0.0 0.0| 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0
31 Afasu
ééﬁHéQ193Y»ﬁ 44 &> 313Y IBW3T»AA4&AIAIYY»ACY 0.0 0.0| 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0
31 Afasu
_—_éé@ué_g]-CQ’Y'»ﬁ 44 & T3I3Y adyCy3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
- éé@pé(;]-QE‘Y»ﬁ 44 &» 313V yCY3Ve3 I3y 0.0 0.0| 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. ‘62~®2PUQBDU°6 270,195.0 270,195.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YN3TI31C 3 270,195.0 270,195.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSAT=TY»CY
31 Afasu
- AYA3OQ| 11ﬁ3U:‘3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 270,195.0 270,195.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY T3S T»RAA0AIYY»ACY
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY T3 T»RAA0AIYY»ACY
- 2[f AYAS4CT 13 U3RYAANY» 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 57,029.8 57,029.8| 1,201,703.2 1,201,703.2
31 Afasu
P3fil»A, A3AW31CA 1x3AY»i ~ WailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

T263 T3R0S T3fpsA USTSAISTV»AC TA0006 TCR=6T43U
»Y UCUIBY6 YT=3wU=30p
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18 19 20 21 22 23 24 25

2F 1=E6»0 0.0 0.0 0.0 0.0 57,029.8 57,029.8| 1,201,703.2 1,201,703.2
2a k02082120 ZTTA1UCSE T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 171,829.6 171,829.6
= A7 400

DEDUZ120 Dk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 171,829.6 171,829.6
=1 A7 40U

poUg®5 ©1 PEUAsAUA0U°S 0.0 0.0 0.0 0.0 0.0 0.0 127,779.1 127,779.1
= A7 40U

~ P»YU»AC ~ RCVAOAADYY»AC RCY SH=nathlasy 0.0 0.0 0.0 0.0 0.0 0.0 127,779.1 127,779.1
7°g°020°8 ©1 628021a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 44,050.5 44,050.5
=1 A7 40U

S INSVEAAn N =20y 6=N0= 1anasly»1 0.0 0.0 0.0 0.0 0.0 0.0 7,460.5 7,460.5
—2EU»ir V3ol - E3A0S T ARA0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 36,590.0 36,590.0
20E PEQUZ120 0E=a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 40U

CUSE=- 1= r /AT 2137 12BN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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UCe3%-=(CY NCUY31A=UC
3c=T6aAR0p CR2T2Y=26140
§OVA=T=6456 T2 TUY»AC
-[450=T3Y yCY=Ye31anl3y
3¢=T640A146Y1 TH=-CA

uaceT %=i-=603Y

UCe3%-3(CY NCUY31A=UC
3¢=T6aA=0p CR2T2Y=26140
§OVAST=6456 T2 TUV»C
-1480=3T3Y yCY=3ve3ianl3y
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U»Aary»far U»0fC ™ OT3Y
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A T3T3Y 3¢31640Ala0Y
- (4503 T YT »e3T3Y
Nada - = -anfadyY»fcy
USTanEC - Y»Aal
AZASAT3YAIAAC
O»éup»fl=yY N=30=h

PALT=IC 3V T=VaiUA =i Afal Aew = ATl Aer =1 ATao0 Ae 3 A&l AT

- I3 3Ra0V»fC - 1SS0V | - I3 3Ra0v»ic - 13w 3Radv»ic
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3 2 F> 0 8>

26 27 28 29 30 3l 32 33
AU_2g°UA 12E6°5 229,076.6 229,076.6| 3,127,2835 3,127,283.5| 30,000.0 30,000.0| 2,110,000.0 2,110,000.0
31 AfasU
AUAZOET 12E&°5 229,076.6 229,076.6]  242,390.7 242,390.7| 30,000.0 30,000.0| 2,110,000.0 2,110,000.0
31 AfasU
2pE2T2Ugk 1200210a0A0a5U0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AfasU
_NSUaT 1x3N1a0 SRES TS T20050 NS 1702 [x =AY »h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AfasU
“2RESTAOV-IC SREST 13000 N2 1253 XAV 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3030300313, 131313 -~ &1 S13Y 3¢ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1363040Y»fiC &= -3 fiasl
1282026A0a50U°6K ©1 2a02UgU°0k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°ep” ©5200
31 AfasU
PSRAYSTST3Y 1SEe»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AfasU
“IN»R-> 1T 12€3la0AaY Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Talavy >t 1263 laAlaY Vol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T33C 1363a0AaY Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-2850ai =-n=>1>Y 1SEéxn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- q1AB10C T 3RS TANA0UY»AC 120> 1SFA0A&0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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26 27 28 29 30 31 32 33
an1460a00Y»MAC ** RAc= - SlAGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0Y Y»AC O»éup»asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- D3U=T13n-43CY 1363(a0AlacYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[3064004=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYAIN3YaA pYAdlAC 3k 13é63acAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 13é63(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @BEY2-CH313Y 1=3é3aAlasyYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- D»U»Y3Y»C * 6303 TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiaiA»n ~~ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiasA»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N3T13Y 7 EBpan=3Tan YiaiA»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3Il YA3 W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0| 1,902,750.0 1,902,750.0
31 Afasu
ééﬁHéQ193Y»ﬁ 44 &> 313Y IBW3T»AA4&AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0| 1,902,750.0 1,902,750.0
31 Afasu
_—_éé@ué_g]-CQ’Y'»ﬁ 44 & T3I3Y adyCy3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 1,902,750.0 1,902,750.0
I3%U3T»A&40AIA6Y Y»ACY
- éé@pé(;]-QE‘Y»ﬁ 44 &» 313V yCY3Ve3 I3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. ‘62~®2PUQBDU°6 0.0 0.0 0.0 0.0] 30,000.0 30,000.0 207,250.0 207,250.0
31 Afasu
AYA36QT 1r~}3U3’BYéﬁN“(»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0 30,000.0 30,000.0 207,250.0 207,250.0
USTSAT=TY»CY
31 Afasu
- AYA3OQ| 11ﬁ3U:‘3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 0.0 0.0 0.0 0.0 30,000.0 30,000.0 0.0 0.0
3¢ WASCY T3S T»RAA0AIYY»ACY
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY T3 T»RAA0AIYY»ACY
- 2[f AYAS4CT 13 U3RYAANY» 0.0 0.0 0.0 0.0 0.0 0.0 207,250.0 207,250.0
2UE ~‘| ZEéoé 229,076.6 229,076.6 242,390.7 242,390.7 0.0 0.0 0.0 0.0
31 Afasu
P3fil»A, A3AW31CA 1x3AY»i ~ WailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

T263 T3R0S T3fpsA USTSAISTV»AC TA0006 TCR=6T43U
»Y UCUIBY6 YT=3wU=30p
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26 27 28 29 30 31 32 33

2F 1=E6»0 229,076.6 229,076.6|  242,390.7 242,390.7 0.0 0.0 0.0 0.0
2a k02082120 ZTTA1UCSE T1a1 126695 0.0 0.0| 2,884,892.8 2,884,892.8 0.0 0.0 0.0 0.0
= A7 400
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- B3TAT YA3ST3I3(CY 3[ YiaA»i 200.0 200.0 200.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 931,668.4 325.0 325.0 151,307.2 151,307.2 32,315.3 32,315.3
31 Afasu
P2AT»f, é?ﬁj|'31(;ﬁ fX?ﬁY>>ﬁ . 'I'él’ﬁUA»ﬁ, aﬁaYu ) 325.0 325.0 325.0 0.0 0.0 0.0 0.0
I=e3T=AUSY T =i USTSA1=TY»AC 1a0UC6 1CA=¢eT4asU
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 931,343.4 0.0 0.0 151,307.2 151,307.2 32,315.3 32,315.3
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 5,169,198.2 0.0 0.0 964,284.0 964,284.0 1,443,525.4 1,443,525.4
31 Afasu
D/E@pz |‘2l"J PExAOUCS 5,169,198.2 0.0 0.0 964,284.0 964,284.0 1,443,525.4 1,443,525.4
31 Afasu
D?U~ﬂ°§ 1 bEUaAUaUUCS 1,261,068.8 0.0 0.0 241,473.2 241,473.2 326,402.1 326,402.1
31 Afasu
- b»YU»AC " RCYASAIASYY»AC TS ACT 3t 1 »A3Yana-ail 1,261,068.8 0.0 0.0 241,473.2 241,473.2 326,402.1 326,402.1
@?Z?U?UOB °i é28g2i1a6a0gU°s 3,908,129.4 0.0 0.0 722,810.8 722,810.8 1,117,123.3 1,117,123.3
31 Afasu
- 2E U»t»Y3Y»A " 63A02TafalY»A 3,908,129.4 0.0 0.0 722,810.8 722,810.8 1,117,123.3 1,117,123.3
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_ABUAT 1x31AT140 SRES T3 130>~ NS T»E3 1x3Y»fi 0.0 0.0 0.0 0.0 0.0 0.0
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- U»Ail3[3064004=2T3Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
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AU _2@°UA 12Eé°s 38,008,619.4| 4,670,000.0 4,655,000.0| 15,000.0| 7,449,527.0 7,449,527.0| 345,000.0 345,000.0| 999,795.0| 127,815.0
31 Arasl
AUAZ20LT 12Eé°5 16,332,529.2 0.0 0.0 0.0] 7,449,527.0 7,449,527.0 0.0 0.0 999,795.0( 127,815.0
31 Arasl
12&820a0AlasuUCBE ©1 2462UgU°dA 8,475,847.0 0.0 0.0 0.0] 7,449,527.0 7,449,527.0 0.0 0.0 999,795.0( 127,815.0
0ceg” °dad
31 Arasl
AVES36CT Vana-al ~ A3NA=YaiU (126=/a0AE0Y YA 8,475,847.0 0.0 0.0 0.0| 7,449,527.0 7,449,527.0 0.0 0.0 999,795.0| 127,815.0
YlaoA» )
31 Arasl
“P»>YUAC ~ T26a0l0Y»AC AYAS6CT Yana- &l ~ Aa=Na=YanU 8,449,322.0 0.0 0.0 0.0| 7,449,527.0 7,449,527.0 0.0 0.0 999,795.0| 127,815.0
~ DUV 3Y»AC B3RS 14na0UY»AC AYAS6CT Yana- &l 26,525.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
. 02@2pbUasbUues 3,612,755.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
AVAS6CT LASUSEYANNY »i &» T S13Y NS 1 121G SE 3,612,756.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3R13TY»ACY
31 Arasl
—AYESG6CT 6a0p1»Y0C =Y NSUSNAY»ACY 3,284,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~AVES6CT Ii=USRYANNY»n 2o =1 - \=U=N U=k & 234,665.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TA3CY T3W3T»AAaiAAsYY»ACY
—2F AYA=26CT 1A2U=RYARNY »A 94,089.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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= A7 40U

S 1SME= 12Y 62n0= 1 anaUy»h 24,8948 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20k pEGUZT20 OE=a00°58 570,688.7| 120,000.0 120,000.0 0.0 0.0 0.0] 15,000.0 15,000.0 0.0 0.0
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aa u£U=20é2T120 2TT£E1UCSE T 1ai 12Eé°d 40,000.0 20,000.0 20,000.0 0.0 0.0| 20,000.0 20,000.0
31 Arasl
PEBU=2T2U gfzaoU°d 40,000.0 20,000.0 20,000.0 0.0 0.0| 20,000.0 20,000.0
31 Arasl
ZQE P/EQUZTZU PFeaoU°d 40,000.0 20,000.0 20,000.0 0.0 0.0| 20,000.0 20,000.0
31 Atadu
- UZE=- 13N> 131 313Y I3Eé»i 40,000.0 20,000.0 20,000.0 0.0 0.0| 20,000.0 20,000.0
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255 2 u g sil
1 2 3 4 5 6 7 8 9
AU)ZQOUA 12Eé°5 6,217,171.5( -31,517.9 -31,517.9| 281,280.0 281,280.0| 25,963.0 25,963.0 574,948.9 574,948.9
3 ATasl
AUAZ20LT 12Eé°d 4,355,880.7 0.0 0.0 281,280.0 281,280.0| 25,963.0 25,963.0 574,948.9 574,948.9
3 A4l
2pE2T2Ugk 12802Tda0AlasU 526,486.6 0.0 0.0 0.0 0.0 0.0 0.0 526,486.6 526,486.6
3 A4l
. A3UAT Tx3AT40 3RE3T3T3A0»A ~ NST»E3 Tx3AY»A 526,486.6 0.0 0.0 0.0 0.0 0.0 0.0 526,486.6 526,486.6
3 ATasl
- 2RE31A0Y»AC SRES TS T3A0»f " NS I»ES Tx3AY»f 481,500.0 0.0 0.0 0.0 0.0 0.0 0.0] 481,500.0 481,500.0
- 203036C313Y, 1B3T3I3Y " T 3I3Y 3( 44,986.6 0.0 0.0 0.0 0.0 0.0 0.0 44,986.6 44,986.6
126310V»AC A3 - 3T
jZéZUéﬁAUéf)UUOB/E o1 2a62UgU°sE 47,549.9 0.0 0.0 0.0 0.0 0.0 0.0 47,549.9 47,549.9
OPeg” Coadd
3 A4l
P3AAYST313Y I1SEé»h 24,709.9 0.0 0.0 0.0 0.0 0.0 0.0 24,709.9 24,709.9
3 A4l
- WY»f-» 0 Cl 13¢3(a0AlasYY»h 15,108.7 0.0 0.0 0.0 0.0 0.0 0.0 15,108.7 15,108.7
- TAU&Y3t 1363a0Ala0Y Y» i 322.5 0.0 0.0 0.0 0.0 0.0 0.0 322.5 3225
“T3AC 1263R0A0Y YA 6,348.7 0.0 0.0 0.0 0.0 0.0 0.0 6,348.7 6,348.7
- 283NaT3-A=13Y I3Eé»i 160.0 0.0 0.0 0.0 0.0 0.0 0.0 160.0 160.0
~YIA0ILC ~ 6302 1aNA0UY»AC 121021 SEa0AasY 2,770.0 0.0 0.0 0.0 0.0 0.0 0.0 2,770.0 2,770.0
ManTa60a00V»NC ~ RAG= - SIADAIABYY»AC 1= Eéx»h 4,701.5 0.0 0.0 0.0 0.0 0.0 0.0 47015 4,701.5
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1 4 5 6 7 8
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0YY»AC O»éup»asl 8,227.0 0.0 0.0 0.0 0.0 0.0 0.0 8,227.0 8,227.0
31 Afasu
- D3U=T130-43CY 1363(a0AlacYY»h 1,025.0 0.0 0.0 0.0 0.0 0.0 0.0 1,025.0 1,025.0
- DO IBTTSI3Y 1363(a0AlasYY»h 5,012.0 0.0 0.0 0.0 0.0 0.0 0.0 5,012.0 5,012.0
- AYIN3YaA pYAdlAC 3k 13é3a0AlasyY»h 2,190.0 0.0 0.0 0.0 0.0 0.0 0.0 2,190.0 2,190.0
2UE U~3eY3 -CU313Y 1363(a6Ala0YY»AC Onéup»iiasl 1,500.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500.0 1,500.0
31 Afasu
- @3EY3-CU3I3Y 13é63(aAla0Y Y»ii 1,500.0 0.0 0.0 0.0 0.0 0.0 0.0 1,500.0 1,500.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyy»i 1,589.7 0.0 0.0 0.0 0.0 0.0 0.0 1,589.7 1,589.7
YlaoA»fi)
31 Afasu
- P»U»YBY»C * 6303 TanasUY»Ac AYAS6CT Yana-aiu 1,589.7 0.0 0.0 0.0 0.0 0.0 0.0 1,589.7 1,589.7
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 6,821.8 0.0 0.0 0.0 0.0 0.0 0.0 6,821.8 6,821.8
31 Afasu
- TASE»YIST3ICY YiasA»n ~~ N3 - 466 1,690.5 0.0 0.0 0.0 0.0 0.0 0.0 1,690.5 1,690.5
- TASYEAANT3(CY YiaiA»i 4,444.0 0.0 0.0 0.0 0.0 0.0 0.0 4,444.0 4,444.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 687.3 0.0 0.0 0.0 0.0 0.0 0.0 687.3 687.3
. 6%@290369006 281,280.0 0.0 0.0 281,280.0 281,280.0 0.0 0.0 0.0 0.0
31 Afasu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI3I1C 3 281,280.0 0.0 0.0 281,280.0 281,280.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afasu
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ A»T313Y " N3U3IYO=3(CY 4 281,280.0 0.0 0.0 281,280.0 281,280.0 0.0 0.0 0.0 0.0
3¢ WASCY 13U T»RAA0AIEGYY»ACY
2UE ~‘| ZEéOB 3,500,564.2 0.0 0.0 0.0 0.0| 25,963.0 25,963.0 912.4 912.4
31 Afasu
?3ﬁ-l-»ﬁ, é?ﬁj|'31(;ﬁ I'X?ﬁ_Y_»ﬁ . 'I;éﬁUN)ﬁ_,_éﬁéYU" . 912.4 0.0 0.0 0.0 0.0 0.0 0.0 912.4 912.4
1=e=T30U3Y 1 =3p»fi UST3A=1Y»AC 1a0UC6 1Ch=éTaiy
»Y UCUIBY6 YI3T1U3Upn
2 ISEé»f 3,499,651.8 0.0 0.0 0.0 0.0| 25,963.0 25,963.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 1,892,808.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
D{EQL"JZfZU PExAOUCS 1,892,808.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
Dc"['{ﬂc’(j 1 bEUaAUaUUCS 1,202,602.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- b»YOU»fC * BCYASAIAIYY»AC BCYSASAatAlasY 1,202,602.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@?Z?U?Uoé °i é28g2i1a6aigues 464,403.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- T3EBT3Y 6303 1anaUY»A 100,753.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»O»Y3Y»h ~ 63A03 TafaiuY»h 363,650.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pE@U2T2U @E2a0U°d 225,802.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 Afadu
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20lase=T 04-09-01

1 2 3 4 6 8
~USES- 151 1 5% 313 1SEewh 225,802.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa uEU=2062T20 2T1£1U°BE UT20200K0 DA0T2°0 -31,517.9| -31,517.9 -31,517.9 0.0 0.0 0.0 0.0 0.0 0.0
3 Afasl
& YOV =Ve=T=Y STTCIV»MC 01 =RaiUCo Uas 1 tmiG ~31,517.9| -31,517.9 31,517.9 0.0 0.0 0.0 0.0 0.0 0.0
EW 364U
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10 11 12 13 14 15 16 17
AU _2@°UA 12Eé°3s 1,773,887.7 1,773,887.7| 3,037,904.8 3,037,904.8| 171,089.4 171,089.4( 383,615.6 383,615.6
SENYEN
AUAZ20LT 12Eé°d 347,954.2 347,954.2| 3,037,904.8 3,037,904.8 67,864.7 67,864.7 19,965.1 19,965.1
3 Afasu
2pE2T2Ugk 12802Tda0AlasU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Afasu
_ASUAT 1x31140 SRE3T2T3A0»A NS 1»E3 Tx3Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Afasu
- 2RE31A0Y»AC SRES TS T3A0»f " NS I»ES Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 203036C313Y, 1B3T3I3Y " T 3I3Y 3( 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[36340V»AC &3A- 3 1fiail
12620a0A02000°6K ©1 2a62UgU°dk 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
O°Peg” @oadd
3 Afasu
P3AAYST313Y I1SEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Afasu
- WY»f-» 0 Cl 13¢3(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TAU&Y3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T=A0 1263 R0NaY Voh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 283NaT3-A=13Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“91A00C ~ ESAUS TanaUV»AC T3M0= T Staoklany 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Nan1400800Y»NC ~ BAc= - SROARYY»AC TSEe»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20la6e=T 04-09-01

10 11 12 13 14 15 16 17
a3UQ3Y3 -A3(CY 3E 1=3é63a0Ala0YY»AC O»éup»asl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- D3U=T130-43CY 1363(a0AlacYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTTSI3Y 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 13é3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE U~3eY3 -CU313Y 1363(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- @3EY3-CU3I3Y 13é63(aAla0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~3OCI Yafia-ail - A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afasu
- P»U»YBY»C * 6303 TanasUY»Ac AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Y'l]Y»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
- TASE»YIST3ICY YiasA»n ~~ N3 - 466 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3(CY YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
bé%QZPUééDUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afasu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI3I1C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afasu
- AYA3OQ| ‘1_ﬁ_3U:‘3B_Y_élﬁNY»ﬁ A»T313Y " N3U3IYO=3(CY 4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASCY 13U T»RAA0AIEGYY»ACY
2UE ~‘| ZEéOB 347,954.2 347,954.2| 3,037,904.8 3,037,904.8 67,864.7 67,864.7 19,965.1 19,965.1
31 Afasu
?3ﬁ-l-»ﬁ, é?ﬁj|'31(;ﬁ I'X?ﬁ_Y_»ﬁ . 'I;éﬁUN)ﬁ_,_éﬁéYU" . 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =3p»fi UST3A=1Y»AC 1a0UC6 1Ch=éTaiy
»Y UCUIBY6 YI3T1U3Upn
2 ISEé»f 347,954.2 347,954.2| 3,037,904.8 3,037,904.8 67,864.7 67,864.7 19,965.1 19,965.1
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 1,425,933.5 1,425,933.5 0.0 0.0| 103,224.7 103,224.7| 363,650.5 363,650.5
31 Afasu
D{EQL"JZfZU PExAOUCS 1,425,933.5 1,425,933.5 0.0 0.0 103,224.7 103,224.7| 363,650.5 363,650.5
31 Afasu
Dc"['{ﬂc’(j 1 bEUaAUaUUCS 1,147,731.6 1,147,731.6 0.0 0.0 54,871.0 54,871.0 0.0 0.0
31 Afasu
- b»YOU»fC * BCYASAIAIYY»AC BCYSASAatAlasY 1,147,731.6 1,147,731.6 0.0 0.0 54,871.0 54,871.0 0.0 0.0
@?Z?U?Uoé °i é28g2i1a6aigues 84,177.4 84,177.4 0.0 0.0 16,575.9 16,5759 363,650.5 363,650.5
31 Afasu
- T3EBT3Y 6303 1anaUY»A 84,177.4 84,177.4 0.0 0.0 16,575.9 16,575.9 0.0 0.0
- 2E U»O»Y3Y»h ~ 63A03 TafaiuY»h 0.0 0.0 0.0 0.0 0.0 0.0 363,650.5 363,650.5
20k pE@U2T2U @E2a0U°d 194,024.5 194,024.5 0.0 0.0 31,777.8 31,777.8 0.0 0.0

=1 Afadu
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=1 Ai4o0
a8 yCY=SYe=T3Y STHCTV»AC 01 =nasUco Uad 1 imic 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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d SH D M d vn 0 M d ) 0 M
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< | Brug < 2l "0 < 2L~
Zi :L\>_ \>_ \>_
1 2 3 7 5 6 7
AU_2goUA 12E6°5 4,985537.0| 34,8763 348763 77,0390 77,039.0] 305537.0 305,537.0
31 Arasl
AUAZGAT 12E6°5 438,148.3| 34,8763 34,8763 0.0 0.0 0.0 0.0
31 Arasl
eab ek _k=U°5 34,876.3| 34,8763 34,8763 0.0 0.0 0.0 0.0
31 Arasl
BAONECICSY N B> T 213V 13702 1o RAAAAGY Y>ACY 34,8763 34,8763 34,8763 0.0 0.0 0.0 0.0
31 Arasl
- BADIECICSY oM & YOTSVEST=Y B H =157 34,876.3| 34,8763 34,8763 0.0 0.0 0.0 0.0
TSR0=THRAATAIAY Y»ACY
2(f 12E6°5 403,272.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
2 =Eé»n 403,272.0 0.0 0.0 0.0 0.0 0.0 0.0
aa uEU=062120 2TTE1U3E T 1a1 126695 4,547,388.7 0.0 00 77,0390 77,039.0] 305537.0 305,537.0
31 Arasl
DEGUZT20 BE2a0U°8 4,547,388.7 0.0 00 77,0390 77,039.0] 305537.0 305,537.0
31 Arasl
poUg©d ©1 PEUAOAUZUUCS 4,241,851.7 0.0 00 77,0390 77,039.0 0.0 0.0
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j 2@20a0AUa0UUCHE @1 2a52UgU°dk 0.0 0.0 0.0 0.0 3,000.0 3,000.0( 9,000.0 9,000.0( 6,000.0 6,000.0
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=1 ATasU
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=1 ATaiU
- éé@péC1C3Y»~ﬁ aﬁ y@Y3Ye3I3Y a»T313Y 85,594.8| 85,594.8 85,594.8 0.0 0.0
T3WU3T»AAa0AIa6YY»AcY
. 02p2pUasbues 298,024.2 0.0 0.0| 298,024.2 298,024.2
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AYA36QT 1r~j3U3jBYéﬁN“{»ﬁ AT3I3YN3TI3IC 3 298,024.2 0.0 0.0| 298,024.2 298,024.2
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AUAZ20LT 12Eé°d 827,152.5| 257,840.5 257,840.5| 8,000.0 8,000.0 92,000.0 92,000.0| 12,012.0 12,012.0
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3¢ WASCY T3S T»RAA0AIYY»ACY
- 2[f AYA=26CT 1A=U3RYARANY»h 547,349.4| 87,711.4 87,711.4( 2,338.0 2,338.0 0.0 0.0 0.0 0.0
20t 12Eé°d 12,012.0 0.0 0.0 0.0 0.0 0.0 0.0 12,012.0 12,012.0
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UTCAST Ta0AR0YY»n 42 12631 33 13Y (NBe3n31313Y) 12,0120 0.0 0.0 0.0 0.0 0.0 0.0| 12,0120 12,012.0
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31 Afasu
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- 2[E AYAZOCT 13 U3RYAANY»h 457,300.0 457,300.0
=0f 12E6°5 00 00
31 Afasu
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1=%0=1 >?ﬁ§lé(~)AUé(~)YY» ficy
31 Afasu
_-_U TCA=T Ta0AIaGYY»1 3 R3NAdIA iN»r3&Y1a0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
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20 12E6°8 295,603.1| 295,693.1| 200,000.0] 20,000.0| 75,693.1
3 A4l
UTCA=T 1a0AE0YY»1 aa 12621 =M= 137 (N2e=a=1212Y) 295,603.1| 295,693.1| 200,000.0] 20,000.0| 75,693.1
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(Y2ES/=2R4a0ARYY»AC

AV130»YA SRESTIT3W»AC US64ar)
A emie o emAn e =2 ATao0 Aew
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=1 Afaiu
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